e
BNY MELLON

INFORMATIONAL NOTICE

INFORMATIONAL NOTICE CONCERNING THE ALLOCABLE SHARES OF THE
SETTLEMENT TRUSTS (OR LOAN GROUPS THEREIN, AS APPLICABLE), AS
CALCULATED BY NATIONAL ECONOMIC RESEARCH ASSOCIATES, INC.
(“NERA” OR THE “EXPERT”) PURSUANT TO SUBPARAGRAPH 3(c) OF THE
SETTLEMENT AGREEMENT, DATED JUNE 28, 2011, BETWEEN THE BANK OF
NEW YORK MELLON, AS TRUSTEE OR INDENTURE TRUSTEE FOR THE FIVE
HUNDRED AND THIRTY (530) COUNTRYWIDE MORTGAGE-BACKED
SECURITIZATION TRUSTS LISTED IN EXHIBIT A THERETO (THE
“SETTLEMENT TRUSTS”), ON THE ONE HAND, AND BANK OF AMERICA
CORPORATION, COUNTRYWIDE HOME LOANS, INC.,, COUNTRYWIDE
FINANCIAL CORPORATION, AND BANK OF AMERICA, N.A. (AS SUCCESSOR BY
MERGER TO BAC HOME LOANS SERVICING, LP) ON THE OTHER (THE
“SETTLEMENT AGREEMENT")

THIS INFORMATIONAL NOTICE (THE “NOTICE”) CONTAINS IMPORTANT
INFORMATION THAT MAY BE OF INTEREST TO THE BENEFICIAL OWNERS OF
THE CERTIFICATES OR NOTES (COLLECTIVELY, THE “SUBJECT
SECURITIES”) ISSUED BY THE SETTLEMENT TRUSTS AND OTHER PERSONS
POTENTIALLY INTERESTED IN THE SETTLEMENT TRUSTS

Dated: January 11, 2016
Ladies and Gentlemen:

This Notice is given by The Bank of New York Mellon (the “Trustee”), as trustee or
indenture trustee under the Pooling and Servicing Agreements and Indentures and related Sales
and Servicing Agreements (collectively, the “Governing Agreements”) governing the Settlement
Trusts. The purpose of this Notice is to inform the beneficial owners of the Subject Securities
and other persons potentially interested in the Settlement Trusts of the Allocable Shares of the
Settlement Trusts (or Loan Groups therein, as applicable), as calculated by the Expert pursuant
to Subparagraph 3(c) of the Settlement Agreement.

The Trustee hereby gives notice that, pursuant to Subparagraph 3(c) of the Settlement
Agreement, the Expert has calculated the Net Loss Percentage and Allocable Share of each
Settlement Trust (or Loan Group therein, as applicable), and, if applicable, the portion of each
such Allocable Share that relates to principal-only certificates or notes and the portion of the
Allocable Share that relates to all other certificates or notes. The foregoing Net Loss
Percentages, Allocable Shares and PO / non-PO portions thereof (if applicable) are listed in the

1 Capitalized terms used but not defined in this Notice shall have the meanings ascribed to them in the Settlement

Agreement.



allocation report attached as Exhibit A hereto. The allocation report was prepared by the Expert
and delivered to the Trustee on January 11, 2016.

This Notice is not intended to be and should not be construed as investment, accounting,
financial, legal or tax advice by or on behalf of the Trustee, or its directors, officers, affiliates,
agents, attorneys or employees. Each person receiving this Notice is urged to carefully review
the Notice and should seek the advice of its own advisors in respect of the matters set forth
herein.

If you have any questions regarding this Notice, please contact the Trustee by email at
Questions@cwrmbssettlement.com or by telephone at (866) 294-7876 or (614) 569-0289.

THE BANK OF NEW YORK MELLON, as
Trustee for the Settlement Trusts



EXHIBIT A

EXPERT ALLOCATION REPORT

[Attached]

719178472



Faten Sabry
Senior Vice President

N E RA NERA Economic Consulting

1166 Avenue of the Americas
ECONOMIC CONSULTING New York, New York 10036

Tel: +1 212 345 3285 Fax: +1 212 345 4650
Faten.Sabry@nera.com
Www.nera.com

January 11, 2016

The Bank of New York Mellon
101 Barclay Street
New York, NY 10286

Subject: Allocation of Settlement Payment to Covered Loan Groups pursuant to Settlement
Agreement dated June 28, 2011

Dear Ladies and Gentlemen,

Pursuant to sub-paragraph 3(c) of the Settlement Agreement by and among 1) The Bank of New
York Mellon; and 2) Bank of America Corporation, BAC Home Loans Servicing, LP, Countrywide
Financial Corporation and Countrywide Home Loans, Inc. dated June 28, 2011, please find
NERA'’s calculations for the allocation of the Settlement Payment among the Covered Trusts (or
Loan Group therein, as applicable).

NERA conducted this analysis based on its proposed method for computing actual and expected

future losses as outlined in Exhibit E to the Verified Petition in this matter, submitted June 29,
2011.

Sincerely,

5

Saleg

Faten Sabry, Ph.D.,
Senior Vice President

Page 1 of 69



69 Jo 7 o3ed

20£'€G6'8 20£'€56'8 0 L628€S0T0 L628ES0T0 000000000 ¢ dnoio
rAXKAL M) Z10'zri'L 0 60£G5/80°0 60£G5/80°0 000000000 Z dnoio
9€7'8G9'E 9£1'859'S 0 68905100 68905100 000000000 T dnoio L-7002 IMD €T
9TZ'€LETT 9TZ'€LE'CT 0 ¥2/9551T°0 ¥2/955YT°0 000000000 Z dnoio
¥£0'690'9T ¥£0'690°9T 0 9%/¥068T°0 9%/¥068T°0 00000000°0 T dnoio 9-%002 TMD ZT
805'29¢'e 805'29¢'€ 0 268G56€0°0 268G56€0°0 000000000 ¥ dnoio
89%'209°'c 89%°209'S 0 080172100 080t¥210°0 000000000 ¢ dnoio
¥£5'898"', ¥£5'898'/ 0 660.5260°0 660.5260°0 000000000 Z dnoio
126'2.6'8 126'216'8 0 ¥8£9550T°0 ¥8£9550T°0 000000000 T dnoio G-%002 TMD 1T
98£'802'C 98£'802'2 0 Z0T86520°0 Z0T86520°0 000000000 ¢ dnoio
0ST'6G¢2'C 0G1'652'C 0 £28.5920°0 £28.5920°0 00000000°0 Z dnoio
682'900'S 682'900'G 0 25.68850°0 251688500 000000000 T dnoio #-¥00Z TMD ‘0T
26€'G6E'S ZEE'G6E'E 0 80566£0°0 80566£0°0 000000000 ¢ dnoio
0£2'T.G'T 0€2'TLS'C 0 9/6¥20€0°0 9/6t¥20€0°0 000000000 Z dnoio
265065y 2£5'06S'Y 0 929007500 929007500 000000000 T dnoio €002 TMD ‘6
SP1'620'Y SYT'620'7 0 0LT07.¥0°0 0LT0V.¥0°0 000000000 ¢ dnoio
09S'vi'e 09S'vi'e 0 £666/820°0 £666/820°0 000000000 Z dnoio
162'112'L 162'T12'2 0 6.8€8780°0 6.8€8780°0 000000000 T dnoio Z-7002 1D '8
£2£'c€1'9 £2£'c€L'9 0 9G5126.0°0 9G5126.0°0 00000000°0 ¢ dnoio
67.'€99'6 67.'€99'6 0 9TT69ETT 0 9TT69ETT 0 000000000 Z dnoio
YTL'STS'S YTL'€TS'E 0 18.E€TH0°0 T8.E€TH0°0 000000000 T dnoio ST-700Z IMD L
¥56'928'9 ¥G66'928'9 0 0T.LTE080°0 0T.ZTE080°0 000000000 [e101 ¥T-v00Z 1M 9
vE6'2yL'9T ¥£6'CL'9T 0 0.5.696T°0 0.5.696T°0 000000000 Z dnoio
6ET'LLE'Y 6ET'LL6'Y 0 85558500 85558500 000000000 T dnoio £T-v00Z TMD g
262'069'L 2£2'059'L 0 £1200060°0 £1200060°0 000000000 ¢ dnoio
1S0'LTL'ET TSO'LTL'ET 0 L0L2ETIT0 L0LLETIT0 000000000 Z dnoio
£GE'rY9'e £5E'YP9'e 0 G/¥/82v0°0 G/¥.182v0°0 000000000 T dnoio ZT-7002 IMD 8%
290'99/'/L 290'99/'L 0 Y¥S9ET60°0 Y7S9ET60°0 000000000 [e101 TT-¥00Z 1MD '€
262'1£9'9 262°1£9'9 0 6.5808.0°0 6.5808.0°0 00000000°0 ¢ dnoio
0£9'899'7T 0€9'899'7T 0 ZT2LS2LT0 ZT2LS2LT0 000000000 Z dnoio
£T6'/86'Y €16'/86'7 0 ££789850°0 ££T89850°0 000000000 T dnoio 0T-700Z IMD Z
8T2'269'C 812'269'C 0 GTEL9TE00 GTEL9TE00 000000000 ¢ dnoio
1€8'2TL'C LE8'TTL'C 0 €LST6TE00 €LST6TE00 00000000°0 Z dnoio
orT'¥IT'8 OrT'vIT'S $ 0 $  %./¥09%560°0 %/¥09¥560°0 %00000000°0 1 dnoio T-700Z TMD T
(9)xu0111g 583 = (G)xuoIg 5°'8% = (7)xuol1g 58 =
(6) (8) ) (9) () () (€ @ (1)
S91eIIRD SEIR] AN El) S91eIlINIRD S91eIly1NI8D S91eIlNIRD S91eI1NIRD dnoio 1SNJ| paJanod 'ON
v 1B8Y10 Ajuo v B3Y10 Ajuo ueo
1\% [eduud v [ediound

sadeys 8|qedo| |y

abe1uadtad sso 18N

SISNI] Padano)d OgS 404
dnoJo ueo] pue Isna] patsno) Aq sedeys a|gqedo||y pue sebeiusdlad sso 18N



69 Jo ¢ o3ed

269'TTY'S Z69'TTY'S 0 96999£90°0 96999£90°0 000000000 ¢ dnoio
9/G'86L°CT 9/G'86.'CT 0 8¥T/G0ST0 8%T/S0GT0 000000000 Z dnoio
£0£'2Ge's £0£'25€'S 0 988E76£0°0 988E76£0°0 000000000 T dnoio 2T-S002 IMD "0¢
989'969'ZT 989'969'ZT 0 6T2068YT0 6T2068YT0 000000000 ¢ dnoio
GZT'/26'61 GZT'/26'6T 0 LL9EWYET0 LL9EWYET0 00000000°0 Z dnoio
8%6',06'9T 876'206'9T 0 ¥0.T686T°0 ¥0.T686T°0 000000000 T dnoio TT-500Z IMD 62
0LT'6GE'S 0LT'6GE'E 0 G96TS6E0°0 G96TS6E0°0 000000000 ¢ dnoio
G08'929'6 G08'929'6 0 £G9GZETT0 £G9GZETT0 000000000 Z dnoio
G28'68T'S GZ8'G8T'S 0 0,600T90°0 06007900 000000000 T dnoio 0T-S002Z IMD 82
GZ8'eve's GZ8'ere's 0 GE/Z660T°0 GE/Z660T°0 000000000 ¥ dnoio
965'68T'CT 965'68T'ST 0 TLTLTSSTO TLTLTSSTO 00000000°0 ¢ dnoio
806'T9E VT 806'T9E' VT 0 29£9689T°0 29£9689T°0 000000000 Z dnoio
12£'86'9 T2£'G86'9 0 ¥2081280°0 ¥2081280°0 000000000 T dnoio T-G00Z TMD 12
£SY'T€9'T eSY'TE9'T 0 LSE6T6T00 LSE6TETO0 000000000 [e101 ¥AS-v00Z 1M ‘97
20V'SLT'T 20V'ELT'T 0 €.¥08£T0°0 €.708£T0°0 000000000 [e101 £ds-700Z IMD K14
GZ1'750'C GZT'750'C 0 880€T¥20°0 880€T¥20°0 000000000 [e101 Zds-v00Z 1IMD vZ
LST'9LT LST'9LT 0 £172,0200°0 £472,0200°0 000000000 Z dnoio
808'66.'T 808'66.'T 0 12vLTT20°0 12vLTT20°0 000000000 T dnoio 20237002 TMD €7
98/'19¢2 98/'192 0 ¥86.0£00°0 ¥86.0£00°0 00000000°0 Z dnoio
19€'T9L'T L9€'T9L'T 0 961220200 961220200 000000000 T dnoio 10237002 TMD 22
9T.'96%'S 9T.L'96%'S 0 G2/99%90°0 G2/99%90°0 000000000 [e101 §09-7002 TMD 12
650'606 650606 0 187690700 187690700 000000000 Z dnoio
v6T'2v0'y Y6120y 0 £25G5.10°0 £25G5.10°0 000000000 T dnoio ¥29-v002 IMD 02
16'97T T6S'9YT 0 ¥222.100°0 ¥222.100°0 000000000 Z dnoio
600'0vS'T 600°0%S'T 0 9//TT8T0°0 9//TT8T0°0 000000000 T dnoio £29-7002 TMD ‘6T
980'0Z6 980026 0 G5¥280T0°0 G5¥280T0°0 000000000 [e101 209-700Z TMD ‘81
0TT'922'vT 0T1'922'¥T 0 0099€.9T°0 0099€.9T°0 000000000 [e101 2av-700Z IMD T
G85'Y9.L'Y G85'v9.L'Y 0 ¥6£50950°0 ¥6£50950°0 000000000 Z dnoio
£8Y'¥8'9 £8Y'v8Y'9 0 £08829.0°0 £08829.0°0 00000000°0 T dnoio 19V-700Z MO ‘9T
G9/'59T'E G9/'S9T'E 0 62¥Y2LE0°0 62¥Y2LE0°0 000000000 ¢ dnoio
9/6'TEV'S 9/6'TEY'S 0 09506£90°0 09506£90°0 000000000 Z dnoio
965'0€T'C 965'0ET'C 0 ¥8590520°0 ¥8590520°0 000000000 T dnoio 6-7002 TMD ‘ST
282'52.L'C 282'62.L'C 0 ¥12902€0°0 ¥12902€0°0 00000000°0 Z dnoio
26G'TSL'T Z6G'TSL'C 0 L9T/EZE0°0 L9T/EZE0°0 000000000 T dnoio 8-7002 1M T
(9)xu0111g 583 = (G)xuoIg 5°'8% = (7)xuol1g 58 =
(6) (8) ) (9) () () (€ @ (1)
S91eIIRD SEIR] AN El) S91eIlINIRD S91eIly1NI8D S91eIlNIRD S91eI1NIRD dnoio 1SNJ| paJanod 'ON
v 1B8Y10 Ajuo v B3Y10 Ajuo ueo
1\% [eduud v [ediound

sadeys 8|qedo| |y

abe1uadtad sso 18N

SISNI] Padano)d OgS 404
dnoJo ueo] pue Isna] patsno) Aq sedeys a|gqedo||y pue sebeiusdlad sso 18N



69 Jo  o3ed

v12'CLT L v12'2LT'L 0 696.£¥80°0 696.E¥80°0 000000000 Z dnoio
G70'62€'L S70'62€'L 0 90¥22980°0 90¥22980°0 000000000 T dnoio 8-G00Z 1M KA
L¥0'189'CT 1%0'189°CT 0 6.88T6VT°0 6.88T6VT°0 000000000 ¢ dnoio
G0G'868'8T G05'868'8T 0 GESEETZT0 GESEETZT0 000000000 Z dnoio
G68'895'ST G68'895'ET 0 90¥£96GT0 90v£96GT0 00000000°0 T dnoio £-5002 TMD T
696'6.6'ST 696'6.6'8T 0 GLE62£22°0 GLE62£22°0 000000000 Z dnoio
818'/82'9T 818'/82'9T 0 6ETZT6T 0 6ETZT6T0 000000000 T dnoio 9-G002 TMD K014
G90'800'G G90'800°S 0 T¥816850°0 18168500 000000000 Z dnoio
¥98'98.'9 ¥98'98/'9 0 95¥86.0°0 95¥86.0°0 000000000 T dnoio G-G00Z TMD "6E
0£Y'S02'LT 0£Y'S0Z'LT 0 789T%202°0 789T¥202°0 000000000 ¢ dnoio
9/£'G£9'9Z 9/£'G£9'92 0 LE/GEETE0 LE/GEETE0 00000000°0 Z dnoio
T¥.'290'0T T¥.'290°01 0 TOVYY8IT 0 TO0VYY8IT 0 000000000 T dnoio #-600Z TMD '8¢
G96'6/E'ST G96'6.E'ST 0 LL0v608T°0 LL0v608T°0 000000000 ¢ dnoio
609'066'€T 609'066'€T 0 0vS6579T°0 0¥S6579T°0 000000000 Z dnoio
£h7'566'8 Shv'66'8 0 18285070 18285070 000000000 T dnoio £-G002 TMD L€
LyY'TrT's Ly'TrT's 0 677£6.560°0 677£6.560°0 000000000 Z dnoio
0£6'2T2'L 0£6'2T2'L 0 008G8780°0 008587800 000000000 T dnoio 2-5002 IMD ‘9¢
181'252'0 181'252'0 0 808065GE°0 808065GE°0 000000000  dnoio
ZLT'0EE LT ZLT'0EE' LT 0 LEY88E02°0 LEY88E02°0 00000000°0 ¢ dnoio
Tv2'928'S Tv2'928'S 0 TOYYS890°0 TOYYS890°0 000000000 Z dnoio
€5T'122'€C €5T'122'€C 0 €006TELZ0 €006TELZ0 000000000 T dnoio LT-S00Z IMD 'GE
G85'€6.'ST G8G'€6.'8T 0 00T0TTZZ0 00T0TTZZ0 000000000  dnoio
G8Y'668'LT G8Y'668'LT 0 812850120 812850120 000000000 ¢ dnoio
YOT'SYT'ST YOT'SYT'ST 0 /8YST8LT0 /8¥ST8LT0 000000000 Z dnoio
¥26'520'8 ¥26'620'8 0 £9227760°0 £9227760°0 000000000 T dnoio 9T-5002 IMD vE
¥82'STE'S ¥82'GTE'S 0 9/2€5290°0 9/2€5290°0 000000000 Z dnoio
8G/'6.9'Y 85.'6.9'Y 0 /65605500 /65505500 000000000 T dnoio GT-S00Z TMD "€¢
009'9T/'8Z 009'9T/'8Z 0 9EZY8LEE0 9EZY8LEE0 000000000 ¢ dnoio
S0T'0V0'ST GOT'0%0'ST 0 T¥2y69.LT°0 TVZy69.LT°0 00000000°0 Z dnoio
Z65'0PT'ST Z6E'0YT'ST 0 922218.T°0 922218.T°0 000000000 T dnoio ¥T-500Z TMD 4>
vi7.'221'92 vi1'221'9e 0 0%92EL0E0 0%92EL0E0 000000000 ¢ dnoio
L6E'9Y6'€Z L6E'9Y6'€Z 0 1€22.182°0 1€22.182°0 000000000 Z dnoio
960'8.Y'L 960'8.Y'L 0 09.6.80°0 09.6.80°0 00000000°0 T dnoio £T-G00Z IMD ‘T8
998'c20'C 998'c20'2 0 6TOT8EZ0°0 6TOT8EZ0°0 000000000 ¥ dnoio
(9)xu0111g 583 = (G)xuoIg 5°'8% = (7)xuol1g 58 =
(6) (8) ) (9) () () (€ @ (1)
S91eIIRD SEIR] AN El) S91eIlINIRD S91eIly1NI8D S91eIlNIRD S91eI1NIRD dnoio 1SNJ| paJanod 'ON
v 1B8Y10 Ajuo v B3Y10 Ajuo ueo
1\% [eduud v [ediound

sadeys 8|qedo| |y

abe1uadtad sso 18N

SISNI] Padano)d OgS 404
dnoJo ueo] pue Isna] patsno) Aq sedeys a|gqedo||y pue sebeiusdlad sso 18N



69 J0 G d3eq

sadeys 8|qedo| |y

abe1uadtad sso 18N

SISNI] Padano)d OgS 404
dnoJo ueo] pue Isna] patsno) Aq sedeys a|gqedo||y pue sebeiusdlad sso 18N

269'G26'€Z 269'G26'€C 0 €18./¥182°0 €18.¥182°0 000000000 T dnoio TT-9002 IMD 29
¥26'60v'ZT ¥26'607'CT 0 0T6665YT°0 0T666SYT°0 000000000 ¢ dnoio
9//'6€£'9 9//'6€€'9 0 09585+.0°0 09585%.0°0 000000000 Z dnoio
G29'99/'S G29'99/'S 0 ¥928190°0 ¥928190°0 000000000 T dnoio 0T-900Z IMD 19
T#8'096'TT T#8'096'TT 0 LISTLOVT0 LISTLOVT0 00000000°0 Z dnoio
8€6'ZT0'TT 8E6'ZT0'TT 0 86£9562T°0 86£9562T°0 000000000 T dnoio T-9002 TMD "09
928'vir'e 928'vi's 0 1£125010°0 1£125010°0 000000000 [e101 £dS-5002 IMD '6G
191'8ST'C 191'8ST'C 0 92/6€520°0 92/6€520°0 000000000 [e101 2ds-500Z 1MD ‘85
9EY'802'C 9eY'802'2 0 097865200 097865200 000000000 [e101 1AS-S002 TIMD LG
19G'695'T¢E 19G'69G'TE 0 L990YT.LE0 1990¥TLE0 000000000 [e101 €INI-500Z TMD ‘99
£590VY'ST £59'0bY'ST 0 26S2T8GT0 26S2T8GT0 00000000°0 [e101 ZINI-S002 TMD GG
0TT'60T'ET OTT'60T'ET 0 £8¥Z2¥ST 0 €8Y2ZrST 0 000000000 [e101 TINI-G00Z TMD S
£G6'210'S £56'270'S 0 G882£650°0 G8827£650°0 000000000 ¢ dnoio
778'662'8 Z78'662'8 0 0259600 0259600 000000000 Z dnoio
259'988'9 259'988'9 0 £76T0T80°0 £76T0T80°0 000000000 T dnoio G29-G00Z TMD "€G
G20'8rz's G20'8ve'e 0 902T28€0°0 902T28€0°0 000000000 Z dnoio
620'T6T'L 620'T6T'L 0 ¥£009¥80°0 ¥£009¥80°0 000000000 T dnoio ¥29-5002 IMD 4
270'959'C 270'959'C 0 GG/Y2TE00 GG/Y2TE00 000000000 Z dnoio
STY'¥8S'9 eTY'v85'9 0 69£9%7.L0°0 69£9%7.L0°0 00000000°0 T dnoio £29-5002 TMD ‘16
680'69'C 680'629'C 0 698TSTE00 698TSTE00 000000000 Z dnoio
189'€85'S 189'€85'S 0 €0T9TZH0°0 €0T9TZH0°0 000000000 T dnoio 209-5002 TMD "0G
65€'906 65£'906 0 G0£990T0°0 S0£990T0°0 000000000 Z dnoio
¥95'€T0'S ¥95'€T0'E 0 69£G7SE0°0 69£G7SE0°0 000000000 T dnoio 129-G002 TMD 61
6SY'T.8'ST 6SY'T.8'ST 0 G0£Z/98T°0 G0£Z/98T°0 000000000 Z dnoio
196'99€0T 196'99€'0T 0 27961210 27961210 000000000 T dnoio GaVv-5002 TMD "8Y
€12'870'TE €12'870'TE 0 08£.259€°0 08£.259€°0 000000000 Z dnoio
8GT'TGS /T 8GT'TGS'LT 0 12¥8%902°0 12¥8%902°0 000000000 T dnoio ¥9V-5002 TMD LY
0Z€'169'9 0Z£'169'9 0 T¥1228L0°0 11228070 000000000 Z dnoio
vey'sye'oT yey'sye'oT 0 0YeS02T0 0¥eS02T 0 00000000°0 T dnoio £9Vv-5002 IMD ‘Of
9/1'789'6 9/1'789'6 0 TOSE6ETT O TOSE6ETTO 000000000 Z dnoio
250'S0€0T 250'S0€'0T 0 165£212T°0 165£212T°0 000000000 T dnoio 2av-5002 IMD ‘G
6T8'TY.'ST 6T8'TY.'ST 0 66167022°0 661670220 000000000 [e101 19V-G00Z MO N2
000'LE6'ET 000°'LE6°ET 0 T.¥96£9T°0 T.¥96£9T°0 00000000°0 Z dnoio
689'c29'ST 689'€29'ST 0 TT808£8T0 TT808£8T0 000000000 T dnoio 6-G002 1M R
(9)xu0111g 583 = (G)xuoIg 5°'8% = (7)xuol1g 58 =
(6) (8) ) (9) () () (€ @ (1)
S91eIIRD SEIR] AN El) S91eIlINIRD S91eIly1NI8D S91eIlNIRD S91eI1NIRD dnoio 1SNJ| paJanod 'ON
v 1B8Y10 Ajuo v B3Y10 Ajuo ueo
1\% [eduud v [ediound



69 Jo 9 o3ed

67566028 G75'€60'2E 0 ZTITLSLLEO ZTITLSLLE0 00000000°0 Z dnoio
8ST'T06'9Z 8ST'T06'92 0 TZY8Y9TE 0 TZY8Y9TE 0 00000000°0 T dnoio 92-900Z IMD '8l
622'T.5'8Y 622'TLS'8Y 0 2292Z¥TLS0 2292¥TLS0 000000000 Z dnoio
002'€6¥'62 002'€6%'62 0 788.69%€0 788.69%€0 000000000 T dnoio G2-900Z IMD ‘1L
¥0.'2T0'EY ¥0.'2T0'Sh 0 T8T£0905 0 T8T£0905°0 00000000°0 Z dnoio
2650792 2650792 0 0S0£90TE0 0S0£90TE"0 000000000 T dnoio ¥2-900Z IMD "9/
9£/'8%5'25 9€/'8%5'2S 0 270228190 270228190 000000000 Z dnoio
€0Y'v9v'9Z £0v'v9Y'9Z 0 Z6SVETTE 0 Z6SVETTE0 000000000 T dnoio £2-900Z IMD "Gl
8T2'€06't7Y 8TC'S06'vY 0 9T£.28250 9T£.2825°0 000000000 Z dnoio
¥01'802'5E ¥0T'802'GE 0 662T2YTY 0 662T2YTY 0 000000000 T dnoio 22-900Z IMD vl
80v'22E'SE 80¥'22€'SE 0 ¥1/GSSTY 0 ¥1/GSSTY0 00000000°0 Z dnoio
788'96¢'8T 788'96€'8T 0 06£€79T2°0 06£€79T2°0 000000000 T dnoio 12-900Z IMD "€l
220'292'2¢ 220'292'2¢ 0 02£GS6.£°0 02£GS6.£°0 000000000 Z dnoio
TET'8SL'YT TET'8SL YT 0 L0SZ9ELT0 L0SZ9ELT0 000000000 T dnoio 02-900Z IMD 'zl
eEY'66S'LT £EY'665'LT 0 9T250.02°0 9T250.02°0 000000000 Z dnoio
851'052'0T 851'052°0T 0 29£6502T°0 29£6502T°0 000000000 T dnoio 2-9002 1M TL
LET'098'08 LET'098'0¢ 0 ¥7090£9€°0 ¥7090£9€°0 000000000 Z dnoio
218'8v9'L1 2.8'8Y9°L1 0 6.£€9/02°0 6.£€9/02°0 000000000 T dnoio 6T-900Z IMD ‘0L
66.269'GS 66.'269'GG 0 16025590 1%602559°0 00000000°0 Z dnoio
8Sv'6.1'12 8SY'6.1'12 0 v1/82€2€°0 ¥1/82€2€0 000000000 T dnoio 87-900Z IMD 69
LE€'612' L€ 1€£'612' L€ 0 £70858EY°0 £70858EY°0 000000000 Z dnoio
¥0T'06L'TT Y0T'06L'TT 0 TTL0L8ET O TTL0L8ET 0 000000000 T dnoio LT-900Z IMD "89
8T¥'992'vT 8T¥'992'vT 0 120¥8L9T°0 120¥8L9T°0 000000000 Z dnoio
v/¥'69T'8 v.¥'69T'8 0 9YTTT960°0 9%TTT960°0 000000000 T dnoio 97-900Z IMD 19
8££'€/0'CE 8££'€/0'cE 0 60860680 60860680 000000000 [e101 GT-9002 IMD 99
270'850'Sy 270'850'SYy 0 T9¥600€S°0 T9¥600€S°0 000000000 Z dnoio
908'€69'7Z 908'€69'Z 0 9€5TS062°0 9€5TS062°0 000000000 T dnoio ¥T-9002 TMD 'G9
8£/'956'0€ 8£/'956'0S 0 T696T¥9E°0 T696T¥9E°0 000000000 ¢ dnoio
050'605'T2 050'60S'TZ 0 ¥9/¥0£G2°0 ¥9/¥0£G2°0 00000000°0 Z dnoio
8Z¢£'166'CT 82€'166'CT 0 GT6E8ZGT0 GT6E8ZGT0 000000000 T dnoio £7-900Z IMD 79
862'L2€'CE 862'L2£'2¢E 0 GTTZE08E0 GTTZE08E0 000000000 Z dnoio
80Y'vTL'62 80V'vT.'62 0 8ZT856VE°0 8ZT856VE°0 000000000 T dnoio Z1-900Z IMD €9
825'12.'62 825'12.'62 0 ¥059961€°0 ¥059961€°0 00000000°0 ¢ dnoio
2€0'/2T'€2 2€0'121'€T 0 £12802.2°0 €12802.2°0 000000000 Z dnoio
(9)xu0111g 583 = (G)xuoIg 5°'8% = (7)xuol1g 58 =
(6) (8) ) (9) () () (€ @ (1)
S91eIIRD SEIR] AN El) S91eIlINIRD S91eIly1NI8D S91eIlNIRD S91eI1NIRD dnoio 1SNJ| paJanod 'ON
v 1B8Y10 Ajuo v B3Y10 Ajuo ueo
1\% [eduud v [ediound

sadeys 8|qedo| |y

abe1uadtad sso 18N

SISNI] Padano)d OgS 404
dnoJo ueo] pue Isna] patsno) Aq sedeys a|gqedo||y pue sebeiusdlad sso 18N



69 J0 [ 93eq

sadeys 8|qedo| |y

abe1uadtad sso 18N

SISNI] Padano)d OgS 404
dnoJo ueo] pue Isna] patsno) Aq sedeys a|gqedo||y pue sebeiusdlad sso 18N

£92'¢8T'cT £92'¢8T'ET 0 12/605GT°0 12/60SGT°0 000000000 [e101 ¥AS-9002 TMD ‘16
¥ST1'606'8 ¥ST'606'8 0 85ET8Y0T 0 85£T8Y0T 0 000000000 [e101 €dS-900Z IMD 96
1£8'€11'C 1€8'€L1'2 0 8£££92€0°0 8£££92€0°0 000000000 Z dnoio
959'62.'8 959'62.'8 0 £870/20T°0 £870/20T°0 000000000 T dnoio 2ds-900Z IMD "G6
G68'TTY'9 G68'TTH'9 0 90vE¥SL0°0 90vEYSL0°0 00000000°0 [e101 7AS-9002 IMD 'v6
GEV'OZT'Y GEY'OZT'Y 0 629v5810°0 629Y5810°0 000000000 [e101 THO-900Z TMO €6
129'992'02 129'992'02 0 1607820 1607820 000000000 [e101 TINI-9002 TMD ‘26
G98'SYE'TT G98'SYE'TT 0 78.2T1G2°0 78/2T1G2°0 000000000 Z dnoio
LTLTTY'9T LTL'TTY'9T 0 £06L0£6T°0 £06L0S6T°0 000000000 T dnoio G29-9002 TMD ‘16
TET'CES' VT TET'EES VT 0 T08.60.T°0 T08.60.T°0 000000000 Z dnoio
870'05¢'6 870'05¢'6 0 0T¥Z880T0 0T¥Z880T0 00000000°0 T dnoio ¥29-9002 IMD 06
TT9'856'GT 119'856'ST 0 9€8Y//8T°0 9€8Y//8T°0 000000000 Z dnoio
T02'28€'L T02'28€'L 0 27689800 27689800 000000000 T dnoio £29-9002 TMD 68
TEY'ES8'TT TEV'ES8'TT 0 €TZSY6ET 0 €TZSY6ET 0 000000000 Z dnoio
8.7 VTY'6 8.7'VTY'6 0 1G8G/0TT0 1G8G/0TT0 000000000 T dnoio 209-9002 TMD 88
806'06£'0T 806'06£'0T 0 865122210 865122210 000000000 Z dnoio
969'2hY'y 969'2h'y 0 102922500 102922500 000000000 T dnoio 729-9002 TMD /8
672'106'9T 672'106'9T 0 228€886T°0 228€886T°0 000000000 [e101 109V-9002 1MD ‘98
ST ANAS eSY'6YT'CT 0 v.IYE62YT 0 v.IvE62YT 0 00000000°0 ¢ dnoio
LSY'L19'S LSY'119'S 0 19£62990°0 19£62990°0 000000000 Z dnoio
29.'750'9 29.'150'9 0 02.6TTL0°0 02.6TTL0°0 000000000 T dnoio 6-9002 TMD ‘68
GS0'T6E VL GS0'T6E' VL 0 888815/8°0 888815/8°0 000000000 Z dnoio
0T0'622'ST 0T0'622'ST 0 Z8Y9T6LT°0 Z8Y9T6LT°0 000000000 T dnoio 8-9002 TMD 'v8
8T5'788'0E 815'788'0S 0 LZIYEEIE0 LZIYEEIE0 000000000 Z dnoio
185'GoV' /T T85'GOP' /T 0 £7//%502°0 £7/1%502°0 000000000 T dnoio £-9002 IMD €8
962'092'0% 962'092'0F 0 ¥S0G9ELY°0 ¥S0G9ELY°0 000000000 Z dnoio
GZY'89T've GZ¥'89T've 0 TYYEEY82 0 TPYEEr8e 0 000000000 T dnoio 9-9002 TMD 'Z8
1SY'687'9T TSY'681'9T 0 YSE66E6T0 YSE66E6T°0 000000000 Z dnoio
96.'€09'0T 96.'€09'0T 0 ¥50G.¥2T°0 ¥50G.¥2T°0 00000000°0 T dnoio G-9002 TMD ‘18
ZEL'Y'OT ZEL'ITY'9T 0 96067£6T°0 96067£6T°0 000000000 Z dnoio
G86'7GE'9 G86'YSE'9 0 £G79.7.0°0 £G¥9/7.0°0 000000000 T dnoio #-9002 TMD 08
¥28'vSt'e ¥Z8'vSi's 0 66779010°0 66779010°0 000000000 ¢ dnoio
8£6'672'GC 8£6'6T2'GC 0 GTS02962°0 GTS02962°0 00000000°0 Z dnoio
96G'76.'8T 96G'76.'8T 0 682111220 682111220 000000000 T dnoio €-9002 TMD 6L
(9)xu0111g 583 = (G)xuoIg 5°'8% = (7)xuol1g 58 =
(6) (8) ) (9) () () (€ @ (1)
S91eIIRD SEIR] AN El) S91eIlINIRD S91eIly1NI8D S91eIlNIRD S91eI1NIRD dnoio 1SNJ| paJanod 'ON
v 1B8Y10 Ajuo v B3Y10 Ajuo ueo
1\% [eduud v [ediound



69 Jo g o3ed

2.6'0v7'02 2L6'07'02 0 2028707720 202870120 000000000 [e101 TAS-2002 IMD ‘9TT
156'299'8T 156'299'8T 0 027956120 027956120 000000000 Z dnoio
T9£'985'CT 19£'985'CT 0 ¥87.08YT°0 ¥87L08YT°0 000000000 T dnoio £29-,002 TMD ‘GTT
2,0'6T1'61 2L0'6TH'61 0 196578220 196G¥822°0 000000000 Z dnoio
GZY¥'66S'9T GZ¥'665'9T 0 9€/8256T°0 9€/8256T°0 00000000°0 T dnoio 209-,00Z TMD YTT
GTTL2.'9T GTT'L2L'9T 0 856829610 856829610 000000000 Z dnoio
065'T.2'L 06S'T.2'L 0 21855800 21855800 000000000 T dnoio 129-,002 TMD "€TT
GZi'€86'TE GZY'€86'TE 0 6G5.29.€°0 655.29.€°0 000000000 Z dnoio
9£9'68Y'/2 9£9'68Y'/C 0 877.07£2€°0 877.07£2€°0 000000000 T dnoio 6-2002 TMD AR
L£2'81G'SE 1£2'81G'SE 0 677958170 677958170 000000000 Z dnoio
GT0'9%0'L2 ST0'9%0'L2 0 T#88T8TE0 T88T8TE0 00000000°0 T dnoio 8-2002 TMD TTT
197'292'2€ 191'192'1€ 0 9Z/E¥8EY0 9Z/E¥8EY0 000000000 Z dnoio
218'9/'ST 2.8'69.'ST 0 780875810 80875810 000000000 T dnoio L-2002 TMD ‘0TT
006'€TE'9E 006'€TE'9E 0 GETTCLTY 0 GETTCLTY 0 000000000 Z dnoio
T28'€9'LT 128'€9€'LT 0 ¥2082¥02°0 20827020 000000000 T dnoio 9-/002 TMD 60T
vET' VS O XA 0 £26.69.7°0 £26.69.7°0 000000000 Z dnoio
65.'16€'L2 65.'16€'L2 0 665G6222€°0 665G6222€°0 000000000 T dnoio G-/002 TMD "80T
v TLY'6E v TLY'6E 0 95957910 95957910 000000000 [e101 ¥-/00Z IMD 10T
999'0G5'/2 999'0G5'/2 0 VA TARZAN0) VA TARZAN0) 00000000°0 Z dnoio
11£'258'ST 11£'288'ST 0 658679870 G586798T°0 000000000 T dnoio €-200Z 1M "90T
162'82'8Y 162'G82'8Y 0 §2290895°0 §2290895°0 000000000 Z dnoio
060'LLE'2E 060°'LLE'CE 0 ¥690608€°0 76906080 000000000 T dnoio 2-100Z 1D "G0T
G/T1'/00'S2 G/T'/00'SZ 0 502027620 502027620 000000000 Z dnoio
122'L€2'ET T2 LET'ET 0 TOZELSST 0 TOZELSST 0 000000000 T dnoio £1-2002 1IMD Y01
L0T'S0Y'8¢E L0T'S0Y'8E 0 67281570 67281570 000000000 Z dnoio
L00'871'vE L00'871'vE 0 89025070 890.250%°0 000000000 T dnoio ZT-,00Z IMD "€0T
v.¥'v80'S2 ¥.¥'780'G2 0 9TTTS620 9TTTS62°0 000000000 Z dnoio
9T/'999'CT 9T/'999'CT 0 6T0Z06VT0 6T0Z06VT0 000000000 T dnoio TT-200Z IMD 20T
¥55'92.'62 ¥65'92.'62 0 9TYZL6VE0 9TYZL6VE0 00000000°0 Z dnoio
889'8/6'/1 889'8/6'/T 0 86£TSTTZ0 86£TSTTC0 000000000 T dnoio 0T-200Z IMD ‘10T
£89'G90'€. £89'G90'c. 0 129656580 129656580 000000000 Z dnoio
6E0'TST'VE 6€0'TST'VE 0 2691070 269LLT07°0 000000000 T dnoio T-2002 TMD "00T
9€5'166'GE 9£G5'T66'GE 0 ¥8627£2y 0 ¥8627£2y 0 00000000°0 [e101 25dS-900Z IMD 66
625'8€5'6T 625'8€S'6T 0 505986220 505986220 000000000 [e101 1SdS-900Z IMD 86
(9)xu0111g 583 = (G)xuoIg 5°'8% = (7)xuol1g 58 =
(6) (8) ) (9) () () (€ @ (1)
S91eIIRD SEIR] AN El) S91eIlINIRD S91eIly1NI8D S91eIlNIRD S91eI1NIRD dnoio 1SNJ| paJanod 'ON
v 1B8Y10 Ajuo v B3Y10 Ajuo ueo
1\% [eduud v [ediound

sadeys 8|qedo| |y

abe1uadtad sso 18N

S1SnJ] P=dan0D QS 104

dnoJo ueo] pue Isna] patsno) Aq sedeys a|gqedo||y pue sebeiusdlad sso 18N



69 Jo 6 93ed

669766 669766 0 ¥£20LTT0°0 ¥£20LTT0°0 000000000 Tdnoio  g282-7002 LTVMD "eeT
2€5'500'C 2€5'500'C 0 67765£20°0 67765£20°0 000000000 101 92/2-700Z LTVYMD Z€T
£75'8EE'T ¥£5'88E'T 6 LG/Y1ST0°0 9Y//5T0°0 1T000000°0 [e101 1192-7002 LIVMO “TET
£EG'EYS'T 00S'€¥S'T e TZ6GT8TO00 788GT8T0°0 6£000000°0 101  9252-700Z LTVYMD ‘0€T
¥16'7S ¥16'7S 0 ¥09¥9000°0 ¥099000°0 00000000°0 Z dnoio
881'GL9'S 18T'G19'S 0 169929900 169929900 000000000 Tdnoio  govZ-¥00Z LIVMD 62T
000'€20'T 000'€20°'T 0 0£5£02T0°0 0£5€02T0°0 000000000 Z dnoio
05£'G96'Z 0G£'596'C 0 1%988¥€0°0 1%988¥€0°0 000000000 Tdnoio  g0zZ-700Z LTVMD 82T
¥G/'1€8 ¥G/'T€8 0 ¥£582600°0 ¥£582600°0 000000000 [e101 1102-7002 LIVMO 12T
ZeT'0L2'T ZET'0L2'T 0 €L2v6YT0°0 €L2v6YT0°0 000000000 g dnoio
£79'02Y £79'02Y 0 v.8v6¥00°0 v.8v6¥00°0 00000000°0  dnoio
6T9'GS 679'SS 0 ¥E£¥G9000°0 ¥E£¥G9000°0 000000000 ¢ dnoio
orY'TPS'T Oby'TYS'T 0 6SYETSTO0 6SYETSTO0 000000000 Z dnoio
868'GTZ 868'GTC 0 166£5200°0 166€£5200°0 000000000 Tdnoio  g28T-00Z LTVMD 92T
v.2'0T. ¥12'0T. 0 9T9GE800°0 9T9GE800°0 000000000 ¢ dnoio
/S0'076'E 1S0‘0v6'E 0 T9£GEIV00 T9£GEIV00 000000000 Z dnoio
872'09'T 872'029'T 0 86696T0°0 866796T0°0 000000000 Tdnoi  g2/T-7002 LTVMD "G2T
€6v'L0T'T €61'20T'T 0 £€620£T0°0 £€620£T0°0 000000000 g dnoio
G/6'29¢ G/6'29¢ 0 0£0.2¥00°0 0£0.2¥00°0 00000000°0  dnoio
082'€2¢ 082'c2¢ 0 £8929200°0 £8929200°0 000000000 ¢ dnoio
0€€',0T 0€€'20T 0 042921000 042921000 000000000 Z dnoio
962'9TS 962'9TS 0 L0¥20900°0 L0¥20900°0 000000000 Tdnoi  g929T-700Z LTVMD veT
899'G/9 899'G/9 0 £06v6.00°0 £06v6.00°0 000000000 Z dnoio
18S'TLY 18G'TLY 0 608755000 608755000 000000000 T dnoio ST-700Z LTVMD gYA)
8/¥'9.0'T 8/¥'9/0'T 0 S¥99210°0 S¥99210°0 000000000 [e101 ZL¥T-7002 LIVMD 22t
LL¥'60S L11'60S 0 G8£66500°0 G8£66500°0 000000000 101  9OET-700Z LTVYMD ‘121
986'08¢ 986'08¢ 0 612877000 6T287700°0 000000000 ¢ dnoio
90L'LL 90L'LL 0 8T¥T6000°0 8T¥T6000°0 000000000 Z dnoio
161'¥G¢C L6L'v5C 0 19.66200°0 19.66200°0 00000000°0 Tdnoi  g2ZT-¥00Z LTVMD 02T
£66'06€'T £66'06€'T 0 Z9%9€9T0°0 Z9¥9€9T0°0 000000000 101 920T-700Z LTVYMD ‘6TT
G/¥'0T0'S G/¥'0T0'S 0 9/9¥6850°0 9/9¥6850°0 000000000 Z dnoio
ZT.'006'9 ZT.'006'9 0 ¥8¥8TT80°0 ¥8¥8TT80°0 000000000 T dnoio Zv3S-200Z IMD ‘81T
TLT'60S'S T.1'60S'G 0 LLET8Y90°0 LLET8Y90°0 00000000°0 Z dnoio
£99'/€9'S €99'/€9'G 0 G%52£990°0 G752£990°0 000000000 1 dnoio Tv3S-200Z TIMD LTT
(9)xu0111g 583 = (G)xuoIg 5°'8% = (7)xuol1g 58 =
(6) (8) ) (9) () () (€ @ (1)
S91eIIRD SEIR] AN El) S91eIlINIRD S91eIly1NI8D S91eIlNIRD S91eI1NIRD dnoio 1SNJ| paJanod 'ON
v 1B8Y10 Ajuo v B3Y10 Ajuo ueo
1\% [eduud v [ediound

sadeys 8|qedo| |y

abe1uadtad sso 18N

SISNI] Padano)d OgS 404
dnoJo ueo] pue Isna] patsno) Aq sedeys a|gqedo||y pue sebeiusdlad sso 18N



6930 01 93ed

TOL'LLO'Y TOL'LLO'Y 0 962.6.10°0 962.6.10°0 000000000 [e101 g08-7002 LTVMD YT
6SY'€T9 89Z'€T9 16T 91722000 16¥72200°0 §2200000°0 [e101 T1/-700Z LTIVMD “OpT
TOT'LE6'T TOT'LE6'T 0 £1062220°0 £1062220°0 000000000 [e101 g929-7002 LTIVYMD "GhT
FAT*1 4 FAT*1 4 0 ZES¥5000°0 ZES¥5000°0 000000000 ¢ dnoio
66v'6T 66v'6T 0 076220000 076220000 00000000°0 Z dnoio
9/1'202 9/1'202 0 9€/€%200°0 9€/€%200°0 000000000 1 dnoio 9067002 LTVMD R44"
£18'69¢ £18'692 0 82¥.LTE00°0 82¥.LTE00°0 000000000 ¢ dnoio
8£/'8Z¢ 8£.'8Z¢ 0 1G/98£00°0 1G/98£00°0 000000000 Z dnoio
z€8'L0Y z€8'L0Y 0 2086.700°0 2086.700°0 000000000 T dnoio go-v002 LIVMD "epT
9/1'6Y€ 9/1'6¥€ 0 8YTTIY00°0 8¥TTIY00°0 000000000 [e101 T1€-700Z LTIVMD yad)
950'T/9'T 626'029'T 12T 8776G96T0°0 66.G96T0°0 677000000 Z dnoio
L¥1'859'€ 6£0'859'€ 80T £0.€0£10°0 G/SE0EV0°0 /21000000 Tdnoio  929¢-7002 LTVMD YT
TT0'v0S'T 0TO'¥0S'T T ¥2¥69.70°0 ¥2¥69.70°0 100000000 [e101 2158-7002 LIVMD "0pT
EST'OVT'T 8TT'OVT'T GE GTY8YET00 v/€8YET00 T#000000°0 [e101 T1yE-v002 LIVMD "6ET
818'9T2'T 8T8'9TC'T 0 0SSTEYTO0 0SSTEYTO0 000000000  dnoio
ZSEVBT'C ZSE'V6T'C 0 16518520°0 165185200 000000000 ¢ dnoio
L10'VSY L10'VSY 0 602¥£500°0 602¥£500°0 000000000 Z dnoio
996'66. 996'66. 0 9€TT¥600°0 9€TT¥600°0 000000000 T dnoio £€-v002 LIVMD "8€T
906'G2. £68'G2/ €G 10058000 S76£5800°0 290000000 Z dnoio
0v2'26G'T 88T'76G'T zs €22€1810°0 291€/8T0°0 190000000 Tdnoio  gozZe-¥00Z LTVMD "IET
YT2'1ET YT2'TET 0 0LEYST00°0 0LEYST00°0 000000000 ¢ dnoio
YT0'E8Y'T T80'8.Y'T £€6'y 22LYYLT00 6T68ELT00 ¥0850000°0 Z dnoio
¥20'79r'e G/8'S9Y'C 67T 258868200 119868200 G/T00000°0 Tdnoio  g20£-700Z LTVMOD "9eT
L1£'68 L1£'68 0 67TS0T00°0 67TS0T00°0 000000000 ¥ dnoio
£75'€89 £75'c89 0 89708000 89708000 000000000 ¢ dnoio
999'098 999998 0 L096T0TO0 L096T0TO00 000000000 Z dnoio
LOL'TLT'T LOL'TLT'T 0 6.¥8.£T0°0 6.¥8.£T0°0 000000000 T dnoio g02-¥002 LIVYMD "GET
162'G8€'C ¥82'G8€'C L §2290820°0 972908200 800000000 [@I01L  9262-¥002 LTVYMD YET
1G2'TT 1S2'TT 0 ¥¥72£T000°0 ¥¥72£T000°0 00000000°0 / dnoio
£28'6VE £28'6v¢ 0 /SSTTY00°0 /SSTTY00°0 000000000 9 dnoio
v8Y'ZTE 1IN AARS 0T 62995000 LT929£00°0 270000000 G dnoio
€52'8TT £52'8TT 0 TZT6ET00°0 TZI6ET00°0 000000000 ¥ dnoio
2.2'280'C 212280 0 80606£20°0 80606£20°0 00000000°0 ¢ dnoio
L9E'0v6 195076 0 GTE90TTO0 GTE90TTO0 000000000 Z dnoio
(9)xu0111g 583 = (G)xuoIg 5°'8% = (7)xuol1g 58 =
(6) (8) ) (9) () () (€ @ (1)
S91eIIRD SEIR] AN El) S91eIlINIRD S91eIly1NI8D S91eIlNIRD S91eI1NIRD dnoio 1SNJ| paJanod 'ON
v 1B8Y10 Ajuo v B3Y10 Ajuo ueo
1\% [eduud v [ediound

sadeys 8|qedo| |y

abe1uadtad sso 18N

S1SnJ] P=dan0D QS 104

dnoJo ueo] pue Isna] patsno) Aq sedeys a|gqedo||y pue sebeiusdlad sso 18N



6930 11 93ed

169'6T6 T69'6T6 0 066T80T0°0 066T80T0°0 000000000 ¢ dnoio
¥SC'E9T'T ¥S2'€9T'T 0 ¥E£S89£T0°0 ¥E£S89£T0°0 000000000 Z dnoio
GTO'6T9'T GTO'6T9'T 0 ¥2/¥06T0°0 ¥2/v06T0°0 000000000 T dnoio L0-7002 LTVMD "8GT
0 0 0 000000000 000000000 000000000 ¢ dnoio
196'09 79609 0 6T.T.000°0 6T.T.000°0 00000000°0 Z dnoio
6TT'6C 6TT'62 0 LSZ¥E000°0 LSZ¥E000°0 000000000 1 dnoio 90-¥002 LIVMD IST
969'290'C 969'290'C 0 20292¥20°0 20,92¥20°0 000000000 Z dnoio
82.'€T6 82.L'CT6 0 G/67.0T0°0 G/67.0T0°0 000000000 1 dnoio S0-¥002 LIVMD ‘96T
LTS'STC LTS€TC 0 967152000 96TT5200°0 000000000 Z dnoio
GES'EZ9 GEG'€Z9 0 T/S€EL00°0 T/GEEL00°0 000000000 1 dnoio y0-v002 LTVMD "G6T
880°29 88029 0 826820000 826820000 00000000°0 G dnoio
£05'cE €05'cE 0 ST¥6£000°0 ST¥6£000°0 000000000 ¥ dnoio
289'98 289'98 0 6.6T0T00°0 6.6T0T00°0 000000000 ¢ dnoio
10106 L0L'06 0 ¥T/90T00°0 ¥T/90T00°0 000000000 Z dnoio
£00°29 £00'29 0 128820000 128820000 000000000 T dnoio £0-7002 LTVMD "YST
6.1'TC 6.1'TC 0 LT62000°0 LT62000°0 000000000 / dnoio
1€1'72 LEL'Y2 0 201620000 201620000 000000000 9 dnoi9
G/¥'9T G/¥'9T 0 £8£6T000°0 £8£6T000°0 000000000 g dnoio
v.E'6TT v.E'6TT 0 0v¥0¥T00°0 0v¥0¥T00°0 00000000°0  dnoio
YIv'veT YIv'veT 0 69£9%T00°0 69£9%T00°0 000000000 ¢ dnoio
¥9¢'82¢ ¥9€£'82¢ 0 0TE98£00°0 0TE98£00°0 000000000 Z dnoio
22L'19T 22l 19T 0 0Z€L6T00°0 0226T00°0 000000000 1 dnoio 20-v002 LIVMD €61
0v.'8T9'S 0v2'819'E 0 TVELS2H0°0 TVELS2H0°0 000000000 Z dnoio
€TS'GLL'T €16'6L.'T 0 6£888020°0 6£888020°0 000000000 T dnoio €T0-¥002 LTVYMD 25T
£9/'225 £9/'225 0 GTOGT900°0 GTOGT900°0 000000000 [e101 ZT0-v002 LIVMD “TGT
G6Y'0S G605 1 907650000 90¥65000°0 100000000 ¢ dnoio
/%025 1%0'2G 0 2£219000°0 2£219000°0 000000000 Z dnoio
£65'L0€ €65'20€ 0 ¥/8T9€00°0 ¥/8T9€00°0 000000000 1 dnoio TI0-7002 LTVMD ‘08T
¥6.'2¢ ¥6.1'2¢ 0 T858£000°0 T858£000°0 00000000°0 G dnoio
865'90€ 66%'90€ 66 ¥0,09£00°0 /8509£00°0 /TT00000°0 ¥ dnoio
98y o8y 0 20.50000°0 20.50000°0 000000000 ¢ dnoio
G0L'LYT GOLLYT 0 TL/E.T00°0 T.2.€1.T00°0 000000000 Z dnoio
0LL'TTY 0LL'TTY 0 9EYY8Y00°0 9EvY8Y00°0 00000000°0 T dnoio 0T(-¥00Z LIVMD BT
808'79¢ 808'79¢ 0 981627000 981627000 000000000 [e101 T16-700Z LTVMOD "8pT
(9)xu0111g 583 = (G)xuoIg 5°'8% = (7)xuol1g 58 =
(6) (8) ) (9) () () (€ @ (1)
S91eIIRD SEIR] AN El) S91eIlINIRD S91eIly1NI8D S91eIlNIRD S91eI1NIRD dnoio 1SNJ| paJanod 'ON
v 1B8Y10 Ajuo v B3Y10 Ajuo ueo
1\% [eduud v [ediound

sadeys 8|qedo| |y

abe1uadtad sso 18N

SISNI] Padano)d OgS 404
dnoJo ueo] pue Isna] patsno) Aq sedeys a|gqedo||y pue sebeiusdlad sso 18N



6930 71 98ed

LST'T00'S £08°000'S 0S¢ €1/0£5€0°0 29£0£5€0°0 TT#00000°0 ¢ dnoio
0£L'2TT'C 6£8'60T'C 168'C §95G8¥20°0 £9128¥20°0 TO¥€0000°0 Z dnoio
G80'T96'C €11'096'C A% 0£9€8¥£0°0 29288¥£0°0 £9£00000°0 Tdnoio  g202-5002 LTVMD TLT
€8Y'8EL €8Y'8E. 0 £0889800°0 £0889800°0 000000000 ¢ dnoio
¥iy'509 ¥iy'509 0 1822T.00°0 1822T.00°0 00000000°0 Z dnoio
G90'92¢ G90'9Z¢ 0 909€8£00°0 909€8£00°0 000000000 T dnoio 2-5002 LIVMO "0LT
£86'050'T £86'050'T 0 0S¥9£210°0 0S¥9£210°0 000000000  dnoio
¥SS'9VT'C eIV'IrT'C 18 85£G62520°0 292525200 S6000000°0 ¢ dnoio
8G2'VSL'T ¥26'TvL'T vee'eT ££8£9020°0 22£6%020°0 TTSYT000°0 Z dnoio
199'29Y'2 ¥GE'/19Y'C cTe 8€TE€0620°0 0.120620°0 89£00000°0 T dnoio g01-6002 LTVYMD 69T
GG6'€9T'C 0T9'T9T'C vre'e 628G67520°0 TL0€%520°0 85/20000°0 @10l g26T-G00Z LTVMD "89T
82£'95/'c €8Y'7G.'C v78'e 6026T¥0°0 9897 TY70°0 £25¥0000°0 101 9981-500Z LTVYMD /9T
188269t 188'169'7 0 926925500 926925500 000000000  dnoio
7er's9T'y zey'saT'y 0 £#T8T0S0°0 £#T8T0S0°0 000000000 ¢ dnoio
GTS'GGL'C GTS'GG.'C 0 £8/T¥20°0 £8/T¥20°0 000000000 Z dnoio
89¢'0G'E 89£'0S¥'S 0 152650700 152650700 000000000 T dnoio /T-G00Z LIVMD 9971
£71'998'L £71'998'L 0 982152600 982152600 000000000 [e101 9T-5002 LTVMD "G9T
822'669'C 822'669'C 0 295G.TE0°0 295G/TE0°0 000000000 v dnoio
2€0'6T0°S Z€0'6TO'E 0 £08TSSE0°0 £08TSSE0°0 00000000°0 ¢ dnoio
G6T'9/E'S G6T'9.LE'8 0 L¥EYS860°0 L¥EYS860°0 000000000 Z dnoio
6TT'869 611869 0 9TETZ800°0 9TETZ800°0 000000000 T dnoio ¥T-5002 LTVMD Y91
GTC'TY'E T0ES'VEY'S ¥16'9 88870700 ¥SE07010°0 ¥E£T80000°0 101 9IEI-500Z LTVYMD €91
9hY'S0E'C G6E'S0E'C 16 1£660.20°0 11860.20°0 090000000 ¢ dnoio
£62'1.22'S 1S9'612'E L€9°L 9T896.€0°0 1€8/8/€0°0 G8680000°0 Z dnoio
v8Y'Le8 092°'2€8 v2e 6125686000 2T0G8600°0 £9200000°0 Tdnoio  gITT-5002 LTVMD 29T
£971'89 8ST'89 g Z6T08000°0 987080000 900000000 Z dnoio
922'1€2'S 180'222'S 6ET'6 £8£¥ST90°0 2€9¢7T90°0 162070000 Tdnoio  g20T-5002 LTVMD "T9T
121'950'C 121'950'C 0 99681200 99681200 000000000 ¢ dnoio
68T'GL0'T 681'G/0'T 0 626¥9210°0 626¥9210°0 00000000°0 Z dnoio
£9£'06T'T €9£'96T'T 0 987.0¥T0°0 987.0¥T0°0 000000000 T dnoio 60-¥002 LTVMD ‘09T
9 9 0 800000000 800000000 000000000  dnoio
£98'0TT €98'0TT 0 /Z¥0ET00°0 LZ¥0ET00°0 000000000 ¢ dnoio
6£.'T0€E £9%'00€ 9/2'1 186¥5£00°0 98¥£5£00°0 T0ST0000°0 Z dnoio
¥6<'78¢E 6T2'18¢ GIT'S 822257000 £6¥87700°0 GE/£0000°0 1 dnoio 80-¥002 LTVMD "6ST
(9)xu0111g 583 = (G)xuoIg 5°'8% = (7)xuol1g 58 =
(6) (8) ) (9) () () (€ @ (1)
S91eIIRD SEIR] AN El) S91eIlINIRD S91eIly1NI8D S91eIlNIRD S91eI1NIRD dnoio 1SNJ| paJanod 'ON
v 1B8Y10 Ajuo v B3Y10 Ajuo ueo
1\% [eduud v [ediound

sadeys 8|qedo| |y

abe1uadtad sso 18N

SISNI] Padano)d OgS 404
dnoJo ueo] pue Isna] patsno) Aq sedeys a|gqedo||y pue sebeiusdlad sso 18N



69 J0 €1 d8ed

G9T'2.8'S 220'1.8'S YrT'T 0£¥80690°0 ¥80.0690°0 S7€T0000°0 T dnoio g0£-6002 LTVMD ‘06T
0T9'SYZ'TE 0T9'SYZ'TE 0 TS65L9€°0 TS65L9€°0 000000000 [e101 8£-G00Z LTVMD 68T
by LYS'E OPT'vPS's T0€'S 99¥ELTH0'0 £8569T10°0 £88£0000°0 [e101 T1/€-5002 LIVMO 88T
98/'728'T 98.'728'T 0 L12E¥T20°0 L12E¥120°0 000000000 ¥ dnoio
212'629'c 212'629'S 0 299692100 299692100 00000000°0 ¢ dnoio
999'9€0'9 999'9€0'9 0 096T0TL0°0 096T0TL0°0 000000000 Z dnoio
8%72'016'C 872'076'C 0 STT6SYE0°0 STT6S7E0°0 000000000 T dnoio 9€-5002 LTVMD /8T
858'/29'C 671'029'C 60.'L L6ST60€0°0 825280€0°0 690600000 Z dnoio
069'T80'S ££9'c/0'S 150'8 657826G0°0 086896500 67600000 Tdnoio  g2GE-5002 LTVMD ‘98T
62£'886'C 221'986'C 109'T T89GTSE0°0 06.ETSE0°0 068700000 101 9O%E-500Z LTVYMD "G8T
800'00S'9 89Y'v6Y'9 0vS's 690.%9.0°0 1G50%920°0 875900000 [@I0l  gOEE-G00Z LIVMD "¥8T
6.2'L18'E G6T'9T8'E €80'T 916067700 279687700 ¥/210000°0 [e101 T12€-G002 LTVMD €8T
9T/'099'G 9T.'099'G 0 999659900 999659900 000000000 Z dnoio
6TY'ZEY'0T 6TY'ZEY'0T 0 YEVELZTTO YEVELZTT O 000000000 T dnoio T€-500Z LTVMD "Z8T
089'2G9 £25'259 LST 658292000 ¥1919100°0 G8T00000°0 Z dnoio
IR A LTAS 0£T'.S2'E 68z'T 6ZYEEBE00 LTBTEBE00 ZTST0000°0 Tdnoio  920£-5002 LTVMD ‘181
658'00L'C eEY'169'C GZr's 187L.T€0°0 TSYELTE00 0£00000°0 [@101  9962-G002 LTVMD 08T
G85'88T 128'18T 6S. G98T2200°0 £1602200°0 268000000  dnoio
288'c98'T TG8'€98'T 1€ 20826120°0 99/26120°0 /£000000°0 ¢ dnoio
9Z¢'08G'T 9Z1'08S'T 0 GZ€658T0°0 GZ£658T0°0 000000000 Z dnoio
€T5'90€'S GG/'V0E'S 1SL'T GT0068E0°0 L¥6/88€0°0 890200000 Tdnoio  g282-5002 LTVMD "6LT
1¥9'720'C 1¥9'120'C 0 80¥8.£20°0 80¥8.£20°0 000000000 ¢ dnoio
LET'02¥'0T LET'02¥'0T 0 86852210 86852210 000000000 Z dnoio
€0.'L6G'ET €0L'16G'ET 0 162266ST°0 162266ST°0 000000000 T dnoio 12-500Z LTVMD "8LT
£GE'YaS'e THT'€G5'S 1121 Z6ST8TY0°0 99T08T+0°0 GZ¥T0000°0 [@I01  9992-G00Z LTVMD LT
9/£'882'C G18'782'C 1959 102269200 88789200 6T..0000°0 [e101 1162-G002 LTVMD ‘9.1
£65'28¢'L £55'28¢'L 0 9G6£G68980°0 95£G68980°0 000000000  dnoio
€LS'TLL'E €IGTLLE 0 YYTLEPY0'0 YYTLEPY00 000000000 ¢ dnoio
899'/9¢'S 899°29¢'S 0 £96T96£0°0 £96T96£0°0 00000000°0 Z dnoio
€19'167'Y €19'/6Y'Y 0 08£T6250°0 08£T6250°0 000000000 T dnoio ¥2-5002 LTVMD ‘GLT
TEE'0V9'E 879'2€9'S €TL'L 20128200 899€/210°0 ¥2,060000°0 [@I0l  g2£2-G00Z LIVMD "YLT
¥16'v90'C G2E'190'C 685'c 0TE62720°0 88062200 22200000 [e101 1122-G002 LIVMD "€LT
Tr'ves'y 6EE'T28'Y €L0'S 6..G6/9G0°0 ¥9722950°0 GT9£0000°0 [@10l  gOT2-G00Z LTVMD LT
LL6'TET ZL6'TET g /92G8ST00°0 T92GST00°0 900000000 ¥ dnoio
(9)xu0111g 583 = (G)xuoIg 5°'8% = (7)xuol1g 58 =
(6) (8) ) (9) () () (€ @ (1)
S91eIIRD SEIR] AN El) S91eIlINIRD S91eIly1NI8D S91eIlNIRD S91eI1NIRD dnoio 1SNJ| paJanod 'ON
v 1B8Y10 Ajuo v B3Y10 Ajuo ueo
1\% [eduud v [ediound

sadeys 8|qedo| |y

abe1uadtad sso 18N

S1SnJ] P=dan0D QS 104

dnoJo ueo] pue Isna] patsno) Aq sedeys a|gqedo||y pue sebeiusdlad sso 18N



69 J0 1 95ed

L¥9'1%5'C 2L0'TYS'C G/S'9 1£2.6620°0 L6¥68620°0 G£//,0000°0 Z dnoio
7/G6999'S 16.'7€9'S 08.'T€ 55999900 991629900 88€/£000°0 Tdnoio  gopyS-500Z LTVMD "902
Ghy'ees'y Ghy'ees'y 0 0.T86050°0 0.T86050°0 000000000 Z dnoio
G/T'8EC G/T'8EC 0 902082000 902082000 000000000 T dnoio 21£G6-5002 L IVMO "502
¥09'006' TTT'G68'Y £6Y'S 9T¥G9/G0°0 ¥5685.50°0 29¥90000°0 [@I0l  9925-G00Z L1VMD g4
2952056 29¢'20¢'6 0 LE86760T°0 LE86¥60T°0 000000000 ¥ dnoio
Z€0'0v8'ST Z€0'0v8'ST 0 2££G£98T°0 2£€G£98T°0 000000000 ¢ dnoio
LTL'256'0T LT1'2S6'0T 0 6775588210 6775588210 000000000 Z dnoio
£00'885'8 100'885'8 0 LESE0TOT0 LESE0TOT0 000000000 T dnoio 15-5002 LTVMD €02
66T'96 66T'96 0 G/TETTO00 G/TETTO00 000000000 ¥ dnoio
879'102'T ¥£2'102'T 447 €0.ETYTO0 9TZETYTO0 /87000000 ¢ dnoio
Z0T'628 Z0T'628 0 ¥T¥G/600°0 ¥T¥G/600°0 000000000 Z dnoio
96/099'S ¥G9'8v9'c 20T'CT 2L190E10°0 v£526210°0 8€2¥T000°0 Tdnoio  g20§-5002 LTVMD 202
020'2G.'Y Z9v'0G.L'y 855'9 y6v96550°0 61/88550°0 GT//0000°0 101  926v-500Z LTVYMD 102
T ZANKARS 9TL'€2T'S 8GY'S 0.6T£090°0 106.2090°0 89000000 [e101 T18-5002 LIVMO "002
968'992'9 899'G%72'9 82¢2'1¢C 8T82.E.0°0 Y¥8.¥EL0°0 ¥16%2000°0 101  92/¥-500Z LTVYMD 66T
968'286'8 TIY'v76'8 G8Y'8¢ £TT8950T°0 9€82250T°0 9/257000°0 [@101L  g29¥-G00Z LIVMD ‘86T
67L0VY'ET 67L'07Y'ET 0 9%9218ST 0 9%9ZT8ST0 000000000 ¢ dnoio
LTT'299°CT LT1'299'CT 0 609968110 609968110 00000000°0 Z dnoio
626'0L7'8 626'0L7'8 0 66.59660°0 66.59660°0 000000000 T dnoio Gp-G00Z LTVMD 16T
2e1'028'S ZeT1'028'S 0 €L2v6Y00 €L2v6Y00 000000000 Z dnoio
120'9%0°0T 120'9%0'0T 0 8788T8TT0 8788T81T0 000000000 1 dnoio ¥¥-600Z LTVMD ‘96T
YT v AN 14 0 682Y£500°0 682Y£500°0 000000000 G dnoio
2OV'YTLT 20V vTL'T 0 ¥7697T020°0 ¥7697020°0 000000000 ¥ dnoio
G8¢'06Y G8E'06Y 0 ¥2692500°0 ¥2692500°0 000000000 ¢ dnoio
67029 6T0'7L9 0 £9626.00°0 £9626.00°0 000000000 Z dnoio
670'7ES'C 670'vES'C 0 ¥£218620°0 ¥£218620°0 000000000 T dnoio £7-5002 LTVMD "G6T
v¥0'0TH'S 122'08€'S 228'6¢ 1S/¥9£90°0 21962£90°0 G80GE000°0 101  92Zy-500Z LTVYMD Y61
0T2'686'L 0T2'686'L 0 T,066£60°0 T,066£60°0 00000000°0 Z dnoio
£€0'9P'S €E0'9vY's 0 160.0790°0 160.0790°0 000000000 T dnoio T¥-500Z LTVMD €61
862'808'S ¥T7'008'S ¥88'L 1GE08710°0 9.0T.¥10°0 §/260000°0 @101 g20¥-G00Z LTVMD 26T
26G°2TT'T 0£0'80T'T 295'Y ZE€680£T0°0 G9SE0ETO0 /9£50000°0 Z dnoio
G89'710'C 089'710'C S 215507200 905507200 900000000 T dnoio #-G00Z LIVMD 16T
98/'€ST 98.'€ST 0 ¥2608T00°0 ¥2608T00°0 000000000 Z dnoio
(9)xu0111g 583 = (G)xuoIg 5°'8% = (7)xuol1g 58 =
(6) (8) ) (9) () () (€ @ (1)
S91eIIRD SEIR] AN El) S91eIlINIRD S91eIly1NI8D S91eIlNIRD S91eI1NIRD dnoio 1SNJ| paJanod 'ON
v 1B8Y10 Ajuo v B3Y10 Ajuo ueo
1\% [eduud v [ediound

sadeys 8|qedo| |y

abe1uadtad sso 18N

S1SnJ] P=dan0D QS 104

dnoJo ueo] pue Isna] patsno) Aq sedeys a|gqedo||y pue sebeiusdlad sso 18N



6930 G d8eg

2L1'98T'CT 2L1'98T'CT 0 6LELEEYTO 6LELEEYTO 000000000 [e101 69-G00Z LTVMD "02¢
v.I¥'6v9'C 885'679'C 988'c 820LTTE0°0 LSYZTTE00 2.5¥0000°0 [@I01  99/9-G00Z LIVMD ‘6TC
869'09T'TZ 869'09T'TZ 0 6E6Y68Y2°0 6E6Y68Y20 000000000 Z dnoio
L16'795'9 L16'795'9 0 205€2LL0°0 205€2LL0°0 00000000°0 T dnoio 99-5002 LTVMD "8T¢C
T.V'1S6'Y TYE'6Y6'y 1€T'8 6TEZESS00 ¥G/228G0°0 §9560000°0 Z dnoio
8€1'990'S 00£'T90'S 6E8'Y £9T09650°0 0.¥¥5650°0 269500000 Tdnoio  g9259-5002 LTVMD AR
YYT'TLT YYT'TLT 0 9%£T0200°0 9%£T0200°0 000000000 ¢ dnoio
€81°96T'2C T8T'96T'C € G77/£8520°0 27.£8520°0 £0000000°0 Z dnoio
G50'891"'2 LEV'6SY'L 679'8 876582800 80852800 0¥T0T000°0 Tdnoio  99%9-5002 LTVYMD ‘9T
670'9%8'C 670'9%8'C 0 26287££0°0 26287££0°0 00000000°0 G dnoio
GGG'G/8'T GGG'G/8'T 0 §£590220°0 §£590220°0 000000000 ¥ dnoio
v2r'soL'y ¥2r'soL'y 0 £6/GE£550°0 £6/GE550°0 000000000 ¢ dnoio
029'02Y'T 029'02¥'T 0 8TET/9T00 8TET/9T0°0 000000000 Z dnoio
090'0%¥'S 090'0t%'S 0 T.000790°0 T.000790°0 000000000 T dnoio £9-5002 LTVMD ‘GTC
60T'S£8'0Z 60T'S£8'0Z 0 £68TTSY20 €68TTSY20 000000000 Z dnoio
68Y'205'ST 68Y'20S'ST 0 2228€28T°0 2228€28T°0 000000000 T dnoio 29-5002 LTVMD vTe
¥6E'TVC L Y6 TrZ L 0 /826T580°0 /826T580°0 000000000 Z dnoio
802'LEE'L 802'L€€'L 0 0T0Z£980°0 0T0Z£980°0 00000000°0 T dnoio 19-5002 LTVMD €T
155'029'S 92.'919'S Gz8'e €T¥21990°0 £76.0990°0 00500000 [eol 1109-G002 LTVMD KA
£99'c£5'Gh £99'€£5'GY 0 9T0695€5°0 9T0695€5°0 000000000 Z dnoio
¥9G'22€'91 ¥95'22€'9T 0 0v8T9Z6T 0 0v8T9Z6T 0 000000000 T dnoio 65-500Z LTVMD "TT2
8£/'092'7C 8£.'092'7C 0 §7027582°0 S027582°0 000000000 [e101 85-5002 LTVMD ‘0Te
228'T9L'Y 188'Sy.'y Zv6'ST ¥¥120950°0 68££8550°0 G5/81000°0 ¢ dnoio
29206y G90'THY'Y 86T'6 £09G6£250°0 281122500 128070000 Z dnoio
GT9'GE9'C €2Y'629'C Z6T'9 ¥2/00T€0°0 6EYE60E0°0 G82.0000°0 Tdnoio  g92/5-500Z LTVMD 602
GT/'/18'8 GTL1/8'8 0 TLEVPYOT 0 TLEVPYOT 0 000000000 G dnoio
962'8G.'8 962'85.'8 0 8/8€0£0T0 8/8€0£0T0 000000000  dnoio
826'99T'/L 826'99T'L 0 T89TEY80°0 T89TEY80°0 00000000°0 ¢ dnoio
€/9'€59°01 €19'€59'0T 0 €€/€E52T0 £€/€E5ZT0 000000000 Z dnoio
889'G/2'0¢ 889'G/2'0¢ 0 LS¥8TIGE0 LS¥8TIGE0 000000000 T dnoio 95-5002 LTVMD "80¢
055'899'C 220'059'2 825'8T TL¥6ETE00 €/9/TTE0°0 16.12000°0 Z dnoio
Shy'9.9'c GTT'T.9'S 0£€'S 622G2EV0°0 6S68TEV0°0 042900000 Tdnoio  g92G5-5002 LTVMD 102
0/6'G68'Y 12,6887 672'9 G9665.50°0 £1925/50°0 25€.0000°0 ¢ dnoio
(9)xu0111g 583 = (G)xuoIg 5°'8% = (7)xuol1g 58 =
(6) (8) ) (9) () () (€ @ (1)
S91eIIRD SEIR] AN El) S91eIlINIRD S91eIly1NI8D S91eIlNIRD S91eI1NIRD dnoio 1SNJ| paJanod 'ON
v 1B8Y10 Ajuo v B3Y10 Ajuo ueo
1\% [eduud v [ediound

sadeys 8|qedo| |y

abe1uadtad sso 18N

S1SnJ] P=dan0D QS 104

dnoJo ueo] pue Isna] patsno) Aq sedeys a|gqedo||y pue sebeiusdlad sso 18N



6930 91 d8ed

G79'62€'9 9T€'G2E'9 0g€ 9g6T¥Y20°0 87STyY20°0 88€00000°0 Tdnoin  g90G8-5002 LTVMO L€
£Y1'8E'6 EYT'G8E'6 0 PYETYOTT O PYETYOTT O 00000000°0 v dnoio
855'892'€ 855'892'€ 0 £9€578€0°0 £9€578€0°0 000000000 ¢ dnoig
¥S1'802'2T ¥Sb'802°2T 0 18829€EYT0 18829€YT0 00000000°0 Z dnoio
y9L'8LT'T y9L'8LT'T 0 1898700 1898700 000000000 T dnoig ¥8-G00Z LIVMO  "982
GG8'€08'9 616'961'9 9/8'9 9£50080°0 97796600 060800000 101l 90£8-G00Z LTIVMO  'SEC
261'16G'0T 261'16G'0T 0 166.9¥21°0 166.9¥21°0 000000000 [e10L 28-G00Z LIVMO  '¥E2
1¥8'250'€€ 1¥8'250'€€ 0 £0/G888€°0 £0/5G888€°0 000000000 [e101 18-G002 LIVMD €2
90€'vLL'E L6T'VLL'E 01T 09€0%770°0 TE20¥770°0 627000000 g dnoig
GYe'el8'9 900'€.8'9 8e€ 88298080°0 06858080°0 86£00000°0 v dnoio
€S0'ETT'9 8TZ'0TT'9 GeE8'T 1Z8T6TL0°0 16881200 GEEE0000°0 ¢ dnoig
8Y5'9TE 2 1ZEVIE'T 1222 16€52/20°0 8€122.20°0 £1920000°0 Z dnoio
880'80T'9 129'10T'9 T9v 986581200 E¥¥S8TL0°0 Z¥500000°0 Tdnoio  9008-5002 LTVMO  'Z€Z
68'805'2 ¥75'80G'2 T6€E 179156200 822156200 Z1¥00000°0 Z dnoio
859'/9%'Z 885'/9v'C TL 821£0620°0 ¥70£0620°0 £8000000°0 T dnoig 90/-G00Z LIVMD  'T€Z
181'006'G 18'868'S €16'T Z0TZ¥690°0 1G86£690°0 152200000 101l  906/-G00Z LTIVMO  "0€Z
G69'8ST'6 €18'/TT'6 ze8'oy GE6YLL0T0 60692.0T°0 920870000 Z dnoig
095'€TE'8 922'102'8 v€E'90T 65908260°0 09555960°0 660527000 T dnoio T12/-G00Z LIVMO  '62¢
025'T62'€ 025'T62'€ 0 11€218€0°0 11€218€0°0 000000000 € dnoig
G9Z'9Zh'ZE G92'921'z€ 0 LYS8YT8E0 LYS8YT8E0 00000000°0 Z dnoio
6v2'6v2'2T 6v2'6v2'2T 0 2880TH¥T°0 Z880TY¥T°0 000000000 T dnoig 9/-G00Z LIVMO  '82¢
092'9T0'7 TT.'600'7 85’9 11062700 80€LTL¥0°0 ¥02,0000°0 101 90S/-S002 LTVMO 122
8GT'G/S'S G70'G6Y'S €T7'08 0T065590°0 65.79¥90°0 15276000°0 0L TLP/-S00Z LIVMO 92
vZ8'T18'C 129'T1S'C 16T 18085620°0 958v5620°0 2€200000°0 z dnoig
296'2€S'T G05'825'T 1Sv'y G8Y£08T00 T7286.T0°0 €¥250000°0 Tdnoin  g90€.-5002 LTVMO  'S2Z
057'080'6T 0S+'080'6T 0 88577220 88G./¥¥22°0 000000000 [e101 2.-600Z LIVMD %22
€€G' /170"y €€5 /70"y 0 0819700 0819700 000000000 [e10L T/-G00Z LIVMO €22
225'8€6'Y 906'L26'7 919'0T 9200T850°0 1€516/50°0 687210000 10l 920/-G00Z LIVMO 222
109'8TT L09'8TT 0 LES6ET000 LES6ET000 000000000 z dnoig
€99'0£T'S GET'LTT'S 82r'c ¥109€090°0 T702€090°0 €£€0¥0000°0 T dnoio 909-6002 LIVMD ‘122
(9)xuolg 5'8% = (S)xuoNNg 5'8% = (¥)=Uolg §'8% =
(6) (8) () (9 (s ) (€) (@ M
So]edl}la8) Sa]edljnaL)d So]edlla8) Sa]edlli8) So]edlIlu8)d Sa]edlli8)d Q:O\_mu 1SnJ] pPalsno)d ‘ON
v 13410 Ajuo v B3Y10 Ajuo ueo
n [ediound 1\ [ediound

sadeys 8|qedo| |y

abe1uadtad sso 18N

S1SnJ] P=dan0D QS 104

dnoJo ueo] pue Isna] patsno) Aq sedeys a|gqedo||y pue sebeiusdlad sso 18N



6930 L 93eg

G/E'9ZE'T 962'72€'T 8.0'C T#¥095T0°0 966.55T0°0 Si¥20000°0 Z dnoio
LIY'YIT'T G66'SLT'T 8y 8E/T8ETO0 TLTT8ET00 /95000000 1 dnoio £0-G00Z LTVMD "677¢
¥56'062 6.8'05¢ Gl 1%256200°0 25TG6200°0 880000000 Z dnoio
60LVPT'E 98Y'vvT'e €22 859669€0°0 G6£669€0°0 £9200000°0 T dnoio 20-5002 LTVMD "87¢
Z78'109'9 €0T'T09'9 8¢/ £1899/0°0 ¥0099.20°0 698000000 [e101 ¥T0-G002 LTVMD 1¥e
992'6.L'T Yv2'8LL'T 220'T §52€6020°0 250260200 £0270000°0 Z dnoio
L1608 L1608 0 2E7£8900°0 2E7£8900°0 000000000 T dnoio £T0-G00Z LIVMD ‘O%e
T68'95T'CT T68'95T'CT 0 GZZZ0EYT0 GZZZ0EYT0 000000000 Z dnoio
862'000'C 862°000'C 0 16285£20°0 162855200 000000000 T dnoio ZT0-6002 LIVMD ‘Gie
0 0 0 000000000 000000000 000000000 / dnoio
102 T 102 T 0 T.¥87000°0 T.¥87000°0 00000000°0 9 dnoio
1€6'TC TE6'TZ 0 108520000 108520000 000000000 g dnoio
v.¥'92 69t'92 9 9%TTE000°0 0rTTE000°0 £0000000°0  dnoio
788°1.9 00.'7.9 Z8T'c 80S.6.00°0 G9/€6.00°0 ¥%7/£0000°0 ¢ dnoio
£eT'eG8 TET'€G8 Z 98900700 ¥89€00T0°0 200000000 Z dnoio
¥T£'9/G'E 960'G.G'E 812'T 82202700 §6650270°0 €E¥T0000°0 T dnoio TI0-5002 LTVMD R44
90T'9%0'T 650°9%0'T Ly €T.0£2T0°0 8590£2T0°0 §5000000°0 Z dnoio
vE6'T8E'Y ZE6'T8E'Y Z 9TZSSTS00 ¥TZSSTS0°0 £0000000°0 1 dnoio 0T0-5002 LTVMD "eYT
€18'19 GEg'/9 L€ 058620000 908620000 70000000 / dnoio
SPT'9 GrT'9 0 0£2.0000°0 0£2.0000°0 000000000 9 dnoio
890'G09 Z70'509 9z ¥¥8TTL00°0 ¥T8TTL000 T£000000°0 G dnoio
61T 61T 0 07000000 07000000 000000000  dnoio
90T'v.T 90T'v.T 0 1€8¥0200°0 1€8¥0200°0 000000000 ¢ dnoio
TT9'GL TT9'GL 0 G5688000°0 G5688000°0 000000000 Z dnoio
/80'TEE'T G79'0EE'T A% G86G95T0°0 Y9¥G95T0°0 025000000 T dnoio 10-5002 LTVMD e
8/1'€eE'CT 8/1'€ee'eT 0 G/660SYT°0 G/660S7T°0 000000000 [e101 TINI-G00Z LTVMD WA
G96'806°LT G96'806'LT 0 0.£690T2°0 0.£690T2°0 000000000 Z dnoio
£8€'G9¢€'S £8€'G9€'S 0 9TZZTEI0°0 9TZZTE90°0 000000000 T dnoio THV-5002 LTVMD 024
0£0'10. £76'00L /8 T¥.¥2800°0 8£912800°0 £0T00000°0 ¢ dnoio
169'12¢ 969'12¢ T 028092000 878092000 200000000 Z dnoio
T9T'TVL'C G6Y'8EL'C 999'2 §68220°0 6G.122€0°0 9€£T£0000°0 T dnoio g906-6002 LTVYMD "6EC
TV8'ETH'ST GE9'90Y'ST 902'L TE6EETST 0 £S¥GZT8T 0 8/¥80000°0 101 9998-500Z LTVYMD "8€C
257'9TT TOY'9TT 25 £00LE£T00°0 Z769£T00°0 190000000 ¢ dnoio
20.'GGE'6 062'9v€'6 7’6 60.900TT°0 9€9G660T°0 €0TT000°0 Z dnoio
(9)xu0111g 583 = (G)xuoIg 5°'8% = (7)xuol1g 58 =
(6) (8) ) (9) () () (€ @ (1)
S91eIIRD SEIR] AN El) S91eIlINIRD S91eIly1NI8D S91eIlNIRD S91eI1NIRD dnoio 1SNJ| paJanod 'ON
v 1B8Y10 Ajuo v B3Y10 Ajuo ueo
1\% [eduud v [ediound

sadeys 8|qedo| |y abe1usdlad Sso 18N

SISNI] Padano)d OgS 404
dnoJo ueo] pue Isna] patsno) Aq sedeys a|gqedo||y pue sebeiusdlad sso 18N



69 J0 81 93ed

¥08'5vS'6 165'GvS'6 102 LGE0EZTT0 YTTOEZTIT 0 £7200000°0 [@101  9982-9002 LTVMD 2L
999'%8T'Y L€0'SLT'Y 629'6 9ETEC6V00 808TT6V0°0 82£TT000°0 101  99/2-900Z LTVYMD 1.2
69S'TLL'S 162'TLL'8 8TT 8G26TE0T 0 6TT6TE0T 0 6£T00000°0 [@101L  9992-9002 LTVMD 0.2
€6T'€8T'L 029'S.T'L 15, 978057800 G06TYY80°0 0T680000°0 101 9252-900Z LTVYMD 692
688'vT8'ST GTE'S6.L'CT V1§12 118252910 62722970 28£G62000°0 [@101  gO%2-9002 LTVMD "89¢
86T'L79'CT €ST'1¥9'CT G 1506/8YT°0 £006.8YT°0 £5000000°0 Z dnoio
909'629'8 GZ£'899'8 182'TT TOSTTZ0T 0 620861070 22810000 Tdnoio  g2£2-9002 LTVMD 192
TV L0V’ L¥8'v01'8 952 ZL0T6860°0 950888600 9T0£0000°0 101  92T2-900Z LTVYMD "99¢
125'G68'7T 0v9'v68' 7T 188 ZrTYeSLT 0 90TE2SLT 0 9€£0T0000°0 [@101  g202-9002 LTVMD 'G9¢
L6€'1TL'€T 69.'299'cZ 829'tS 0282061270 75688120 89290000 101  926T-900Z LTVYMD "v9Z
0TZ'9GE'6T 955'€GE'6T ¥59'C 210221220 06889.22°0 £2T£0000°0 B0l g98T-9002 L1VMD €92
eTT'ErT'0T 0v6'T0T'0T €12y Z6TEEHTIT O GE9Y88TIT 0 /55870000 [e101 T1/7-9002 LIVMD "29¢
6E6°07T'9 ZET'GET'9 108'S vE9Y22L0°0 208.T2L0°0 2£890000°0 [£101  g297-9002 LIVMD ‘192
956'TST'0T 0TT'0ST'0T 98'T 8.VEY6TIT 0 90ETY6TIT 0 Z.T20000°0 101 92ST-900Z LTVYMD "092
188'0/2'6 LT9'692'6 0.2'T 9269060T°0 2E¥G060T°0 S6¥70000°0 @101 gO¥T-9002 LIVMD "6G¢
€£0'668'8 ¥69'8/8'8 6£€'0C 1SY6970T°0 £25G770T 0 826£2000°0 [e101 T1E£T-9002 LTVMD "86Z
607 v2E ST T80'v2E'ST 8z¢ G//G/9GT0 68£G/9GT°0 98£00000°0 [@101  g92T1-9002 LTVMD AT
280'921'S 009'vZ¥'s Z87'T G29€8£90°0 78818£90°0 £7/70000°0 ¢ dnoio
vhy'cl8's z12'el8's A%4 £6695510°0 02,955+0°0 £1200000°0 Z dnoio
G6%'TS0°0T 700'050'0T vev'T 882528170 0£GEZ8TIT 0 85/T0000°0 Tdnoio  g92T1-9002 LTVYMD "96Z
292'9.€ G88'G/E L1E 199277000 LT22H700°0 ¥¥%00000°0 Z dnoio
Z6L'LSY'T 92¢'15t'T 99Y 670STLT0°0 T0SYTLT00 875000000 1 dnoio 60-G00Z LTVMD "G6Z
G9T'¥9 GST'79 0T 8860000 9/¥G62000°0 1T000000°0 Z dnoio
9%9'GT0'T Z62'ST0'T vSe L18¥6TT00 T9V¥6TT0°0 LT¥00000°0 T dnoio 80-G00Z LTVMD LT
8T 8T 0 120000000 120000000 000000000 Z dnoio
0T8'0TH'T Ly'0OTY'T €9¢ 9//65910°0 0S£6S9T0°0 /2¥00000°0 T dnoio /0-G00Z LTVMD "€6T
L€ L€ 0 £7000000°0 £7000000°0 000000000 ¢ dnoio
668'66 66866 0 82S.TT00°0 82S.TT00°0 000000000 Z dnoio
607169 892159 T ¥9£99/00°0 86799.00°0 997000000 T dnoio 90-5002 LTVMD AT4
¥62'GGT 8¥2'SST o 669281000 G%928T00°0 ¥5000000°0 Z dnoio
v2L'vLL'T TISVLL'T yTC 116.8020°0 659280200 152000000 T dnoio G0-5002 LTVMD "16¢
25.'86G'C 25.'865'C 0 GGE/50€0°0 GGE/50€0°0 000000000 Z dnoio
9TC'/28'C 9T2'128'C 0 9€T92£€0°0 9€T92£€0°0 00000000°0 T dnoio ¥0-5002 LTVMD "05¢
¥70'0TT ¥70'0TT 0 ¥9¥62100°0 Y9¥62100°0 000000000 ¢ dnoio
(9)xu0111g 583 = (G)xuoIg 5°'8% = (7)xuol1g 58 =
(6) (8) ) (9) () () (€ @ (1)
S91eIIRD SEIR] AN El) S91eIlINIRD S91eIly1NI8D S91eIlNIRD S91eI1NIRD dnoio 1SNJ| paJanod 'ON
v 1B8Y10 Ajuo v B3Y10 Ajuo ueo
1\% [eduud v [ediound

sadeys 8|qedo| |y

abe1uadtad sso 18N

S1SnJ] P=dan0D QS 104

dnoJo ueo] pue Isna] patsno) Aq sedeys a|gqedo||y pue sebeiusdlad sso 18N



69 J0 61 95ed

0.0'186'6 GE/'086'6 Gee 9EYZyLTIT 0 Zv0ZrLTIT0 ¥6£00000°0 T dnoio g92/-9002 LTVYMD 262
ZE5'66L'ST ¥TS'66L'CT 81 Yy/¥€29T0 €2.¥EZ9T0 120000000 Z dnoio
G8T'69T'2C £2£'9GT'22 298'CT G6£T8092°0 £9299092°0 ZETST000°0 T dnoio g929-9002 LTVMD ‘162
G2G'096'S 002'Lv6'S Gze'eT £8£210L0°0 90/96690°0 //9GT000°0 [e101 216-900Z LTVMD 062
297'108'2 909'86.'C 968'2 8£8G662£0°0 8.¥2620°0 09££0000°0 Z dnoio
1827709 G60‘€Y0'9 16T'T GZ60TTL00 ¥2S60TL0°0 Z0¥T0000°0 T dnoio g07-9002 LTVYMD "68¢
67.'9TC'L 9€9'8/T'L eTT'8¢ £6206¥80°0 SGYSHY80°0 8€8Y7000°0 [e101 9%-9002 LTVMD "88¢
0TZ'T8S'CT 789'€85'CT 825'/2 £ZYT08YT 0 8€069.4T°0 98£Z£000°0 Z dnoio
255'978'ST 255'9v8'ST 0 290062910 290062910 000000000 T dnoio T1Sv-9002 LIVMO 182
229'TSh'Y 229'TSh'Y 0 202.£250°0 202.£250°0 000000000 ¢ dnoio
£55'9Y 6759 v 89/15000°0 £9/45000°0 500000000 Z dnoio
6.T'709'cT 886'68G'ET T6T'vT 9T6¥009T°0 122886GT0 G699T000°0 Tdnoio  goEy-900Z LTVMD '98¢
L9T'60% 155807 119 €LET8Y00°0 §5908700°0 6T.00000°0 Z dnoio
L€2'11€'9 928'75¢'9 AN A 74 2€9205.0°0 ZT6EL7L0°0 6T.82000°0 T dnoio Z7-900Z LTVMD "G8¢
G0.'€£9'8 0G8'cT9'8 GG8'6T 00£.5T0T0 TV6EETOT 0 65££2000°0 Z dnoio
199'988'TT GZ6'SS8'TT 9g/'0¢ LOEY86ET 0 8YI8Y6ET 0 6ST9E000°0 Tdnoi  g92T#-9002 LTVMD "v8z
116'0T0°'L L16'0T0'L 0 802872800 802872800 000000000 Z dnoio
100'T¥8'9 1612289 0T8'8T ¥¥7287080°0 ¥1192080°0 0£T22000°0 T dnoio T10v-9002 LTIVMO €8¢
G£8'088'9 £22'618'9 T19'T 00TG6080°0 ¥02£6080°0 968700000 Z dnoio
/60'666'TT GZ6'796'TT ZLT'YE G8SOTTYT 0 78€9.07T°0 £0207000°0 Tdnoio  g26€-900Z LTVMD "78¢
vLT'TY8'9 ¥92'0v8'9 0TY T¥87080°0 8G6.7080°0 £8700000°0 Z dnoio
T78'€2E'6 EEY'8TE'S LOv'S ¥226960T°0 £982960T°0 T9£90000°0 T dnoio 219€-9002 L IVMO "18¢
09T'0V¥'TT T TAA AN G06'L2 ZT06SYET 0 28T92YET0 0£82£000°0 @10l g2S£-9002 LTVMD 08¢
165'956' 186°956'Y 0T9'6T £8¢T€850°0 £7280850°0 0,0€2000°0 [e101 ¥£-9002 LTVMD 6.2
€15'€92'L 90T'2G2'L L9%'9 08£G67580°0 2L11€580°0 80900000 Z dnoio
20€'759'y eTY'TS9'Y 688'Z 0595.%50°0 15227500 66££0000°0 Tdnoio  g2£e-900Z LTVMD 812
266'G98'8 958'cG8'8 9eT'eT 6.S0E¥0T°0 TOS9TYOT 0 L12¥T000°0 [@I01  g92£-9002 LTVMD 112
65V 6TV VT LEE'STY'VT AR 0,0¥969T°0 022656910 05800000 101  92TE-900Z LTVYMD 9.2
885'969'G 885'969'G 0 698T70L90°0 698T70L90°0 00000000°0 Z dnoio
Ge8'0ze'y 6TE'602'Y 9TS'TT 889696100 0v12S670°0 87GET000°0 1 dnoio T10£-9002 LIVMD ‘61T
ZTIS'TEE' 1T 0/8'99T'TC 29'79T 168660620 002206¥2°0 169€6T00°0 [e101 g902-9002 LTVYMD R K4
£9T1'€92'8 €91'€92'8 0 89£T2./60°0 89£T2/60°0 000000000 ¢ dnoio
6.8'€62'L 182°€62'L 865 ¥£0T8580°0 0££08580°0 ¥0,00000°0 Z dnoio
62E'786'T 0T2'/96'T 0ZT'LT G0SYEEZ00 Y9EYTEZ00 11020000 1 dnoio 1162-9002 LTVMD €12
(9)xu0111g 583 = (G)xuoIg 5°'8% = (7)xuol1g 58 =
(6) (8) ) (9) () () (€ @ (1)
S91eIIRD SEIR] AN El) S91eIlINIRD S91eIly1NI8D S91eIlNIRD S91eI1NIRD dnoio 1SNJ| paJanod 'ON
v 1B8Y10 Ajuo v B3Y10 Ajuo ueo
1\% [eduud v [ediound

sadeys 8|qedo| |y

abe1uadtad sso 18N

S1SnJ] P=dan0D QS 104

dnoJo ueo] pue Isna] patsno) Aq sedeys a|gqedo||y pue sebeiusdlad sso 18N



69 J0 0T 93ed

¥22'0L5'6 ¥22'0.5'6 0 180652110 180652110 000000000 Z dnoio
15£'828'C Gy1'828'C [4%4 6.7.2€€0°0 0€2.2€€0°0 672000000 T dnoio /0-900Z LTVMD "90¢
2£5'c€0'e ¥1€'620'E 8TC'Y 298895€0°0 668£95€0°0 £960000°0 [e101 90-9002 LTVMD "G0E
T0G'9TT T0G'9TT 0 090/£T00°0 090.£T00°0 000000000 ¥ dnoio
2v2's6T Zr2'S6T 0 169622000 169622000 00000000°0 ¢ dnoio
21G'9YS'E 6S2'9YS'E €Te LEYZLTYO0 690Z.T+0°0 89£00000°0 Z dnoio
£22'829'S LOE'Y09'S 9T6'€C 6E£712990°0 20££6590°0 L£182000°0 T dnoio G0-9002 LTVMD "Y0E
ZTE'v82'9 182129 1€8'9 80£€6£.0°0 1/298£.0°0 /£080000°0 Z dnoio
1£9'608'T 658'808'T 8L/ ¥8682120°0 690821200 ST600000°0 T dnoio ¥0-9002 LTVMD "€0¢
v11'822 826'/2¢ 98 971692000 0ST89200°0 966000000 ¥ dnoio
G28'cS GZ8'eS 0 ¥2££9000°0 ¥2££9000°0 00000000°0 ¢ dnoio
628'€T 628'€Z 0 ¥£082000°0 ¥£082000°0 000000000 Z dnoio
¥8.'v2S'C ¥92'€15'C 6TS'TT ¥££02620°0 281956200 2S5ET000°0 T dnoio £0-9002 LTVMD A
166'0TT'E 189'060'€ ¥0£'0Z 066659€0°0 £0T9E9€0°0 /88€2000°0 [e101 20-9002 LIVMD "T0E
290'8t'T 986V’ T 9/0'S 209€0.T0°0 ¥86669T0°0 8T9£0000°0 Z dnoio
9€2'vze' 01 889'STZ'0T 875'8 £168202T°0 9S¥8T0ZT 0 950070000 T dnoio 10-9002 LIVMD "00€
00%'0v2 00t 0vL 0 650T2800°0 650728000 000000000 ¢ dnoio
06.'8S.'C 06.'85.°C 0 GE9G7ZE0°0 GE9G7ZE0°0 000000000 Z dnoio
v76'122'C ¥v6'122'C 0 150¥1920°0 150¥1920°0 00000000°0 T dnoio €AH-900Z LTVMD 662
0£2'G29'S 0£2'GL9'S 0 1%292990°0 12929900 000000000  dnoio
T.¥'296'C T/¥'296'C 0 192G87£0°0 192G87£0°0 000000000 ¢ dnoio
L0L'28S'T L0L'28S'T 0 ¥T.928T0°0 ¥T.928T0°0 000000000 Z dnoio
T0£'9G9'S T0£'959'G 0 2L¥¥5990°0 2L¥¥5990°0 000000000 Tdnoi  £TAH-900Z LTVMD "86¢
LTLYYS LT LTLYYS LT 0 ¥¥80790Z°0 778079020 000000000 101  ZTAH-900Z LTVYMD 162
9G8'SHY'ET 9G8'ShY'ET 0 TOS9T8ST 0 TOS9T8ST 0 000000000 [@101  TTAH-900Z LTVMD "96¢
€GE'9VE'T £5E'9YE'T 0 GY6E8STO0 S6€85T0°0 000000000 ¥ dnoio
05£'8€8'C 0G£'8€8'C 0 GETHEEE00 GETHEEE00 000000000 ¢ dnoio
982'268'C 982'268'C 0 069207€0°0 0692Z07€0°0 000000000 Z dnoio
20T'S9g'S 20T'G9¢'S 0 G88TTE90°0 G88TTE90°0 00000000°0 Tdnoi9  OTAH-900Z LTVMD "G6¢
£92'620'6 G7T1'000'6 8TT'6C 299229010 S0¥8850T0 9G2¥£000°0 [e101 T16-9002 LTVYMD Y62
¥70'068 Gy 1'688 668 TTTL¥0T0°0 £509%0T0°0 850700000 Z dnoio
T9£'T0T'9 GEE'960'9 920's 2L08.TL0°0 6STZ.TL0°0 ZT650000°0 T dnoio T18-900Z L1VMD €62
GTT'2ET TSY'TET 99 0£¥GST00°0 879¥ST00°0 281000000 ¢ dnoio
116'226'T 058'226'T 19 L€189220°0 650892200 80000000 Z dnoio
(9)xu0111g 583 = (G)xuoIg 5°'8% = (7)xuol1g 58 =
(6) (8) ) (9) () () (€ @ (1)
S91eIIRD SEIR] AN El) S91eIlINIRD S91eIly1NI8D S91eIlNIRD S91eI1NIRD dnoio 1SNJ| paJanod 'ON
v 1B8Y10 Ajuo v B3Y10 Ajuo ueo
1\% [eduud v [ediound
saJeys a|qedo||v abejuadiad sso 19N

SISNI] Padano)d OgS 404
dnoJo ueo] pue Isna] patsno) Aq sedeys a|gqedo||y pue sebeiusdlad sso 18N



6930 1 98¢ed

¥0.'968'TC ¥0.'968'TC 0 62809.G2°0 62809.G2°0 000000000 Z dnoio
G/T'660'ST G/T'660'ST 0 9€/€9//T°0 9€/€9//T°0 000000000 T dnoio TD0-900Z LTVMD "GZe
TSy L0S'TE TSYL0S'TE 0 G622E89€°0 G622E89€°0 000000000 Z dnoio
¥798/G'9 ¥798/G'9 0 9%S6£2.0°0 9%56€..0°0 000000000 T dnoio 6V0-9002 LTVYMD R 743
25.'819'6 26.'819'6 0 19/98€TT0 19/98€TT0 00000000°0 Z dnoio
Zv0'88L'CT 270'88L'CT 0 9S/¥¥0ST'0 9G/¥¥0GT°0 000000000 T dnoio 8v0-900Z LTVYMD "€Z¢
G6Y7'002'S G67'002'S 0 682G9.£0°0 682G9.£0°0 000000000 ¢ dnoio
¥16'52S' VT vY6'S2S VT 0 9%£680.LT°0 9%£680LT°0 000000000 Z dnoio
Gi2's2y'9e Gi2's2y'9e 0 T.T980TE0 T.T980TE0 000000000 T dnoio LV0-9002 LTVMD 228
T8G'656 T85'6E6 0 06£S0TTO00 06£S0TTO00 000000000 Z dnoio
122'085'SE 122'085'SE 0 ZT9056€°0 ZT9056€°0 00000000°0 T dnoio 9vV0-900Z LTVMD "12¢
€/9'CT6'6 €19'CT6'6 0 yT€99TT 0 YTE99TT 0 000000000 Z dnoio
G28'292'ST G28'292'ST 0 ¥92956.1°0 ¥92956.1°0 000000000 T dnoio £V0-9002 LTVMD "02€
9829271 9829271 0 06962.9T°0 06962.9T°0 000000000 (101  2Zv0-900Z LTVYMD ‘6TE
0vE'v56'8y 0vE'vG6'8Y 0 TVEE65L50 TVEE65L50 000000000 @101 TZV0-9002 LTVMD "8TE
G8Z'6T9'€9 G8Z'6T9'€9 0 8TZ9¥8Y. 0 8TZ9¥8Y.°0 000000000 [e101 Zv0-900Z LIVMD ITE
L21T8T'TS L21T8T'TS 0 96812090 96812090 000000000 @101  6TVO-9002 LIVMD ‘9TE
¥719'995°/T ¥79'99G'LT 0 09999020 ¥0999902°0 000000000 101  8TVO-900Z LTVYMD ‘GTE
T98'2TY'S T98'2TY'S 0 0£TSTOV00 0£TSTOV00 00000000°0 Z dnoio
Gv/'261'09 GY/'261'09 0 9/802STL0 9/802STL0 000000000 Tdnoio  /TV0-9002 LTVMD Y1E
€61'826'TS €61'826'TS 0 9T80STT90 9T80STTO0 000000000 (101 9TVO-900Z LTVMD "€TE
190'8£0'6 190'8€0'6 0 0Z0€€90T°0 0Z0€£90T°0 000000000 g1 dnoio
£68'928't £68'928' 0 169829500 169829500 000000000 vT dnoio
v16'LL2'CT v16'212'2T 0 S09VYYYT 0 S09VYYYT 0 000000000 ¢ dnoio
168'7YL'CT L68'7Y.'CT 0 166E66VT°0 L66E66VT°0 000000000 Zzdnoio  $TV0-900Z LTVMD A%
9TY'8¥8'9E 9TH'8r8'9 0 8/0TSEEY 0 8/0TSEEY 0 000000000 101  ZTVO-900Z LTVYMD TTE
828,098V 828°209'8Y 0 089G8T.S0 089G8T.S0 000000000 @101 TTVO-900Z2 LTVMD ‘0TE
026'656'GS 0Z6'656'SS 0 002GE859°0 002GE859°0 000000000  dnoio
192'180'9T 192'180'9T 0 LETBT68T0 LETBT68T0 00000000°0 ¢ dnoio
0%£'080'0Z 0v£'080°'02 0 626£29€2°0 626£29€2°0 000000000 Z dnoio
889'0GE'/T 889'0GE'/T 0 G/S2TY020 G/SZTY02°0 000000000 Tdnoio  0TVO-900Z LTVMD "60€
889'72/9'GZ 889'//9'GZ 0 S706020€°0 S706020€°0 000000000 Z dnoio
¥11'0€8'9 v11'0€8'9 0 ¥029£080°0 ¥029£080°0 00000000°0 T dnoio TV0-9002 LTVMD "80€
ISP TYL'TT €TE9EL'TT 8ET'S TLVETBET 0 LZv/08ET0 70900000 [e101 8r-9002 LIVMD "L0€
(9)xu0111g 583 = (G)xuoIg 5°'8% = (7)xuol1g 58 =
(6) (8) ) (9) () () (€ @ (1)
S91eIIRD SEIR] AN El) S91eIlINIRD S91eIly1NI8D S91eIlNIRD S91eI1NIRD dnoio 1SNJ| paJanod 'ON
v 1B8Y10 Ajuo v B3Y10 Ajuo ueo
1\% [eduud v [ediound

sadeys 8|qedo| |y

abe1uadtad sso 18N

SISNI] Padano)d OgS 404
dnoJo ueo] pue Isna] patsno) Aq sedeys a|gqedo||y pue sebeiusdlad sso 18N



69 J0 7z 98¢ed

627'€.8'9 S0T'218'9 y2e'1e /8£98080°0 GES67080°0 2589£000°0 Z dnoio
00.'SSE'S 11Y'82€'S €22'le ¥2800£90°0 161892900 /202£000°0 Tdnoio  9281-2002 LTVMD Yre
6812€€'S €6T°L0S'S 966'7C £22026€0°0 9T8068£0°0 L0¥62000°0 Z dnoio
192522 G8z',02'L 9/6'9 GZYYES80°0 6ST6.780°0 992550000 Tdnoio  92/1-2002 LTVYMD "eYe
£26'8/8'C 90£'8/8'C LT9 89698££0°0 £7298£€0°0 92.00000°0 G dnoio
T1G'€SH'8 7€8'751'8 629 L0£SY660°0 60St7660°0 86.00000°0 ¥ dnoio
9TT'SG¢'Y G86'vSe'Y 1€T 670900500 98500500 ¥ST00000°0 ¢ dnoio
8/8'0r1'9 LEE'BEY'9 17582 ¥062.5.0°0 GTS7.5.0°0 686200000 Z dnoio
GLT'SO'L S TOY' L 2€9'1 87960800 869.0.80°0 6T6T0000°0 Tdnoi  g29T-/002 LTVMD e
T0.'788'6 ¥6£'8'6 102y 090629TT°0 1826.STT0 €1/6%000°0 101 92ST-200Z LTVYMD “TYe
9//'6G9'0T G88'/G9'0T 268'T £T60752T°0 8898£52T°0 622200000 [e101 Z1¥T-2002 LIVMD {043
TE0'C9E'Y 06T'862'Y Zv8'r9 8/6ZETS0°0 ¥69950G0°0 ¥829.000°0 [e101 €1-2002 LIVMD "6EE
ZVS'STE'TT €09'T.2'T2C 6E6'SY 80T.L0G2°0 ST¥G20G2°0 £69T15000°0 [e101 T127-2002 LIVMO "8¢¢
999'8%72'ZT T06'7ET'CT G9/'ETT G6TOTYYT 0 ¥S€9/2¥T0 T¥8EET00°0 [e101 T1TT-2002 LIVMD L€E
625'T02'ST G90'98T'ST Yov'ST TTCTESST O LTOSTSST 0 ¥6T8T000°0 [@101  g20T-2002 LIVMD ‘9ge
0.T'2£8'02 0.T°2£8'0C 0 8TEVISYT 0 8TEVISYT 0 000000000 [e101 620-900Z LTVMD ‘GEE
119'708'LG L19'v08'LG 0 205500890 205500890 000000000 Z dnoio
90E'¥IS'TT 90€¥TIS'TT 0 SYZIYSET0 SYZIYSET 0 000000000 T dnoio 800-900Z LTVMD "vee
680'290°LT 680'290°LT 0 9%0£2002°0 9%0£2002°0 00000000°0 Z dnoio
/T2'0S6'S LT2'056'S 0 952000.0°0 952000.0°0 000000000 T dnoio £20-900Z LTVMD "eee
162'187'22 165218722 0 0£587792°0 0£587792°0 000000000 Z dnoio
08Y'/8G'y 08Y'/8G'y 0 GE0.6ES0°0 GE0L6£S0°0 000000000 T dnoio 990-900Z LTVMD "zee
1€2'99€'6T L£2'99€'6T 0 808£8.22°0 808£8.22°0 000000000 Z dnoio
Zr'0L0°01 Zri'0L0'0T 0 6.G/¥81T°0 6.G/¥81T°0 000000000 T dnoio GD0-9002 LTVMD ‘T€€
122 TLEYT 12T TLEYT 0 92£L069T°0 92£L069T°0 000000000 Z dnoio
¥9Z'T18'9 ¥92'T8'9 0 9%587080°0 9%587080°0 000000000 T dnoio ¥20-9002 L TVMO "0€g
8GT'TE0'ET 8ST'TE0'ST 0 ¥1/0€EGT0 ¥1/0€EGT0 000000000 Z dnoio
¥20'802'0T ¥20'802°0T 0 0¥¥6002T°0 0¥¥6002T°0 000000000 T dnoio £€00-900Z LTVMD "62€
£8/'2G5'61 £8/'2G5'6T 0 ¥12800€2°0 ¥12800€2°0 00000000°0 Z dnoio
9/5'¢89'8 9/5'€89'8 0 T/6GTZ0T0 T/6GT20T0 000000000 T dnoio Z00-900Z LTVMD "8z¢
¥SE'676'8E ¥GE'616'8S 0 69/22857°0 69/228G7°0 000000000 Z dnoio
962'20V'TT 962'207'TT 0 99rYTYET 0 99rYTYET 0 000000000 Tdnoio  TTD0-900Z LTVMD XA
86.'6%79'62 86.'6%79'62 0 GTTZ88YE0 GTTZ88YE0 00000000°0 Z dnoio
/86'88T'8 /86'88T'8 0 Z0TYE960°0 Z0TYE960°0 000000000 Tdnoio  0TD0-900Z LTVMD '9z¢
(9)xu0111g 583 = (G)xuoIg 5°'8% = (7)xuol1g 58 =
(6) (8) ) (9) () () (€ @ (1)
S91eIIRD SEIR] AN El) S91eIlINIRD S91eIly1NI8D S91eIlNIRD S91eI1NIRD dnoio 1SNJ| paJanod 'ON
v 1B8Y10 Ajuo v B3Y10 Ajuo ueo
1\% [eduud v [ediound

sadeys 8|qedo| |y

abe1uadtad sso 18N

SISNI] Padano)d OgS 404
dnoJo ueo] pue Isna] patsno) Aq sedeys a|gqedo||y pue sebeiusdlad sso 18N



69 J0 €7 98ed

TLE16T'T TLE16T'T 0 2.980¥T0°0 2.980¥T0°0 000000000 T dnoio ¥AH-2002 LTVMD "v9g
GE0'T8L'C GE0'T8L'C 0 908T.2€0°0 908T.2€0°0 000000000 ¢ dnoio
925'808'€T 925'808'€T 0 GZEGHZ9T0 GZEGHZ9T0 000000000 Z dnoio
96L'GLL'E 96.'GLL'E 0 eTIZYYY00 STIZYYY00 000000000 T dnoio €AH-200Z LTYMD "€9¢
092'8.8'S 092'8.8'€ 0 65929510°0 659295100 00000000°0 Z dnoio
¥T6'8T8'CT ¥T6'8T8'CT 0 9%6/629T°0 9%6/G29T°0 000000000 T dnoio ZAH-L00Z LTYMD "29¢
962'9.6'7T 962'9.6'7T 0 TLT6T9LT0 TLT6T9LT0 000000000 [e101 TIV-2002 LIVMD ‘19
069'90% T.£'90¥ 6TE 85¥8/¥00°0 ¥808/¥00°0 G/£00000°0 ¢ dnoio
T2£/€9'8 85¥'109'8 ¥98'GE GGSTOTOT 0 29¢6TT0T 0 261270000 Z dnoio
¥68'v29'0T T/1'81G'0T AN 14 9/866%2T°0 €T9SYYZT 0 292750000 1 dnoio T16-/002 LTIVMD "09¢
G08'9T8'TT 662'208'TT L0S'VT ¥2T206ET0 /G0G88ET0 19070000 [e101 g908-2002 LIVYMD "6GE
022'626'8 76£'826'8 878 G961050T°0 166£050T°0 /6000000 [e101 21/-100Z LIVMD "85¢
021'186'8 eTT'GY6's 100'9¢ £209950T°0 299€250T°0 19£27#000°0 [e101 9-2002 LIVMD "1GE
9GT'G9T'E 698'79T'E 182 €TLE2/E0°0 G/EETLED0 8€££00000°0 Z dnoio
2L9'6TLTE GEB'GTL'TE 1EL'S T92LTELEO G98ZTELE0 96£0000°0 T dnoio g905-2002 LIVMD "9G¢
985'069'C 985'069'C 0 G6£G9TE00 G6£G9TE00 000000000 Z dnoio
921'00.'L 0G6'799'2 9/T'GE 126850600 88570600 £8€T7000°0 T dnoio g0%-2002 LIVMD "GGE
87T1°90¢ 186'70€ T9T'T ¥/T09£00°0 80885£00°0 99£T0000°0 Z dnoio
£6£'260'ST T2/'990'ST 229'se 891682120 ¥2065212°0 ¥#T0£000°0 T dnoio T1£-2002 LIVMD "vGe
ZTE'€02'8 /88'TST'8 GZY'1S G5605960°0 G5706560°0 005090000 Z dnoio
T/5'0€0°0T 1/9'/6'6 668'9G T/9008TT°0 TE€LEELTTO 076990000 T dnoio g902-,002 LIVYMD "£GE
L6E'TTC 192602 9eT'Z 20.8%200°0 06T9%200°0 £1520000°0 Z dnoio
0,1'9G9'€T TG9'€GS'ET 02T'€0T 682990970 T.¥SY6GT0 8TETZT00°0 T dnoio G2-1002 LTVMD A
200'589'ST £00'%729'8T G66'09 95£28612°0 L6S0T6TC0 6S.T.000°0 [e101 ¥2-,002 LIVMD ‘1G€
¥6T'2TL'8T 9£0'v5S'8T 8GT'8GT 9EYT0Z2 0 8/282812°0 690987000 [@I0l  g2£2-2002 LIVMD "0G€
0£Z'8Y1'CT 822'8r'CT 1 9/6¥Y9YT0 v16v79YT0 100000000 Z dnoio
9€2'29v'y 068'0S'y 9WE'TE 6896%7250°0 218212500 1189€000°0 T dnoio 22-1002 LIVMD ‘67
279'180'7 T6T'CLO'Y TSY'vT 166808700 686T6.10°0 T00.T000°0 Z dnoio
G89'GZ6'Y GZ8'eG8'y 098'T. £26v6.50°0 £8£0T.LS0°0 T#S¥8000°0 Tdnoi  g212-/002 LIVMD ‘87
¥0.'6L€'9 £21'012'9 185'69T ¥£G505.0°0 12090070 L0S66T00°0 [e101 02-,002 LIVMD LYE
160'2ar's GGLThY'S €007 ¥219010°0 £2T67010°0 121210000 Z dnoio
G/9'78.'8 0TL'€EL'S G96'8T 692262070 €567.20T°0 Z1£22000°0 1 dnoio T1T-/00Z LTIVMD ‘Ove
896'8T6'Y 800'298't 096'9G 120.8.50°0 60002.50°0 210290000 Z dnoio
25.'02€'12 896'082'T2 ¥8/'6€ 8€7€80G2°0 £E¥9£0G2°0 ¥089%000°0 T dnoio 6T-,002 LTVMD ‘GYE
(9)xu0111g 583 = (G)xuoIg 5°'8% = (7)xuol1g 58 =
(6) (8) ) (9) () () (€ @ (1)
S91eIIRD SEIR] AN El) S91eIlINIRD S91eIly1NI8D S91eIlNIRD S91eI1NIRD dnoio 1SNJ| paJanod 'ON
v 1B8Y10 Ajuo v B3Y10 Ajuo ueo
1\% [eduud v [ediound

sadeys 8|qedo| |y

abe1uadtad sso 18N

S1SnJ] P=dan0D QS 104

dnoJo ueo] pue Isna] patsno) Aq sedeys a|gqedo||y pue sebeiusdlad sso 18N



69 J0 7 93ed

828'GEY'C 828'GEY'C 0 089598200 089598200 000000000 9 dnoio
VL L67'T VL' L67'T 0 67029.70°0 67029.70°0 000000000 g dnoio
¥98'9.G ¥98'9.5 0 99829000 99829000 000000000  dnoio
TS8'6EY 158'6EY 0 ZL¥LTS00°0 ZL¥LTS00°0 000000000 ¢ dnoio
G68'222'T 668'222'T 0 00/8€¥T0°0 00/8E¥T0°0 00000000°0 Z dnoio
9vG'Z6G'T 9%5'26G'T 0 £85€/870°0 £85€/870°0 000000000 T dnoio ZT-¥00Z THMO €8¢
29T'LL6'ET 29T'LL6'EC 0 G2¥80282°0 §2¥80282°0 000000000 [e101 €HO-200Z LTVMD 'Z8¢
218'02Y'6¢ 2.8'02Y'6€ 0 L6V21E97°0 L6V21E97°0 000000000 [e101 ZHO-200Z LTVMD ‘I8¢
£55'96/'1¢ £55'9G6/'T¢ 0 G76G65G2°0 G76G65G2°0 000000000 [e101 THO-200Z LTVMD 08¢
88.'%710'9T 88.'%710'9T 0 GTSTT68T0 GTSTTI68T 0 000000000 [e101 6V0-200Z LTVMD '61€
T9¥'G9T'ST T9¥'G9T'ST 0 0ETTLETCO 0ETTLETCO 00000000°0 Z dnoio
628'269'0T 628'269'0T 0 66.6/52T°0 66.6/52T°0 000000000 T dnoio 8v0-200Z LTVMD '8/€
G8Z'085'2¢ G82'085'2¢ 0 L¥162£8€°0 L¥7/62£8€°0 000000000 [e101 LVO-200Z LTVMD LLE
¥09'G50'€Z ¥09'GG0°'€Z 0 0vZreTLZ 0 0vZreTLZ 0 000000000 [e101 9v0-200Z LTVMD ‘9/€
626'600'62 626'600'62 0 82E62TYE0 82E62TYE0 000000000 [e101 ¥V0-L002 LTIVMD ‘GLE
TTT'v05'9T TTT'705'9T 0 2099T¥6T°0 2099T¥6T°0 000000000 Z dnoio
2T6'€9£'82 216'€9£'82 0 80£69£EE°0 80£69£EE°0 000000000 T dnoio £VO-200Z2 LIVMD v.E
£29'880°CT £29'880'CT 0 606T2ZYT0 606T2ZYT0 000000000 Z dnoio
869'£08'ST 869'208'ST 0 ¥0292122°0 ¥0,92122°0 00000000°0 T dnoio Zv0-200Z2 LIVMD '€LE
82/'592'6T 82/'592'6T 0 295699220 295699220 000000000 101  TTVO-200Z LTYMD 2LE
8€£'990'TT 8€£'990'TT 0 1226TOET0 1226TOET0 000000000 Z dnoio
6T.'982'L 67,9822 0 1192.580°0 1192.580°0 000000000 Tdnoi  0TVO-2002 LTVMD ‘T1€
12¥'8ee's L90'TEE'S 09€'L 195.26€0°0 2068T6€0°0 659800000 Z dnoio
1/9'6£8'Y G/6'VE8'Y 969y 0£.£6950°0 602889500 625500000 T dnoio 20-2002 LIVMD ‘028
G9/'v6E'L G9/'V6E'L 0 ¥2/66980°0 21669800 000000000 ¢ dnoio
1EY'862'9 LT1'862'9 T 6T6607.0°0 206607070 /T000000°0 Z dnoio
€8Y'/0T'S 90%'L0T'S 8. £98G59€0°0 T./G59€0°0 260000000 T dnoio T0-2002 LTVMD "69€
GZS'6TL'LT GZG'6TL LT 0 005978020 005978020 000000000 [e101 6AH-200Z LTVMD "89¢
T9.'VET'ET T9L'VET'ET 0 099257510 09925510 00000000°0 @10l  O8AH-200Z LTVMD "19¢
0SE'T9L'VE 0SE‘T9L'VE 0 90/56807°0 90/56807°0 000000000 (101  OLAH-200Z LTVYMD "99¢
0v8'6T¥'82 0v8'6T¥'82 0 90TGEYEE 0 90TGEYEE 0 000000000 [e101 9AH-200Z LTVMD "G9¢
121'926'02 121'926'02 0 996819120 996819120 000000000 ¥ dnoio
y12'067'S ¥12'06%'S 0 90657900 90657900 00000000°0 ¢ dnoio
XA A TANA! 22r'9zT'eT 0 6.£99ZT°0 6.£99ZT°0 000000000 Z dnoio
(9)xu0111g 583 = (G)xuoIg 5°'8% = (7)xuol1g 58 =
(6) (8) ) (9) () () (€ @ (1)
S91eIIRD SEIR] AN El) S91eIlINIRD S91eIly1NI8D S91eIlNIRD S91eI1NIRD dnoio 1SNJ| paJanod 'ON
v 1B8Y10 Ajuo v B3Y10 Ajuo ueo
1\% [eduud v [ediound

sadeys 8|qedo| |y abe1usdlad Sso 18N

SISNI] Padano)d OgS 404
dnoJo ueo] pue Isna] patsno) Aq sedeys a|gqedo||y pue sebeiusdlad sso 18N



69 30 6T 98eg

£26'069 £26'069 0 168218000 168218000 000000000 Z dnoio
£0€'v92'T £0€'%92'T 0 9Tv/8710°0 9Tv/8710°0 000000000 1 dnoio TIAH-S00Z THMD "v6E
8%9'78¢ 879'v8¢ 0 125257000 125257000 000000000 Z dnoio
160'G6L'ST 160'G6.'ST 0 L9¥Z8S8T 0 19¥Z8S88T°0 000000000 T dnoio 6-G00Z THMD "€6¢
YET'¥08'C YET'v08'C 0 186862500 186862500 00000000°0 ¢ dnoio
0.T'915'E 0.1'9TG'E 0 T/99ETH0°0 T/99ETH0°0 000000000 Z dnoio
STY'T96 GTY'196 0 9/0TETTO0 9/0TETTO0 000000000 T dnoio /-G00Z THMD "26€
68¢2'G96 682'G96 0 YE9GETTO0 YE9GETTO0 000000000 Z dnoio
STT'YTL'ET GTT'YTL'ET 0 £GZYETIT 0 £GZYETIT0 000000000 T dnoio £-G00Z THMD "16€
G/S'STY'L G/G'GTY'L 0 90212.80°0 90212.80°0 000000000 Z dnoio
115'680'Y L15'6E0'Y 0 YiveSLy00 YiveSLy00 00000000°0 T dnoio 2-G00Z THMD "06€
G8z'L18'S G8z'.18'S 0 G98€%890°0 G98€%890°0 000000000 Z dnoio
8TT'968'C 8T1'968'S 0 699€8510°0 699€8510°0 000000000 T dnoio 1-G00Z THMD "68€
925'T¥9'T 928'TY9'T 0 L0ZTEBTO0 L0ZTEBTO0 000000000 Z dnoio
8Py TT9'T 8y TT9'T 0 128G68T0°0 128G68T0°0 000000000 T dnoio 69 AH-700Z THMD "88¢
G92'026'C G92'026'C 0 9095£7£0°0 9095£7£0°0 000000000 [e101 99 AH-700Z THMD 188
860'€6€ 860'S6E 0 69¥29¥00°0 69¥29¥00°0 000000000 ¢ dnoio
86G'TCT'6 86G'T2T'6 0 T62TEL0T0 T62TEL0T0 000000000 Z dnoio
£90'929'9 £90'929'9 0 69£G6.L0°0 69£G6.L0°0 00000000°0 T dnoio G2-7002 THMD ‘98¢
909'c66 909'€66 0 876891100 87689TT0°0 000000000 ¢ dnoio
255'€90'T 255'€90'T 0 LE2T52T0°0 LE2T52T0°0 000000000 Z dnoio
£T€'90€'T £T€'90€'T 0 6E€89ESTO0 6E£89ESTO0 000000000 T dnoio 0Z-700Z THMD "G8¢
677€'6LY 67E'6LY 0 076£9500°0 076£9500°0 000000000 Z dnoio
GST'/28'T GST'/2E'C 0 6282£120°0 6282£.20°0 000000000 T dnoio 9T-¥00Z THMO "v8¢
162685 162685 0 T£588900°0 T£588900°0 000000000 9T dnoio
LEE'VE LEEVE 0 L6£07000°0 L6£07000°0 000000000 g1 dnoio
126'LET T26'LET 0 092291000 092291000 000000000 T dnoio
298'v.T 298'v.T 0 02.50200°0 02.50200°0 000000000 €1 dnoio
0S0'€2T'T 0G0'€2T'T 0 GECTZETO0 GECTZETO0 00000000°0 21 dnoio
629'7SG 629'7SS 0 §0525900°0 §0525900°0 000000000 7T dnoio
80v' LGP 80%'LGY 0 12T8ES00°0 12T8ES00°0 000000000 0T dnoio
L6v'T2T'T L6V'T2T'C 0 6.8G6¥20°0 6.8G6¥20°0 000000000 6 dnoio
098'6V€ 0986V 0 009TT#00°0 009TT#00°0 00000000°0 g dnoio
8T£'629 8T£'G29 0 699G€.00°0 699G€.00°0 000000000 / dnoio
(9)xu0111g 583 = (G)xuoIg 5°'8% = (7)xuol1g 58 =
(6) (8) ) (9) () () (€ @ (1)
S91eIIRD SEIR] AN El) S91eIlINIRD S91eIly1NI8D S91eIlNIRD S91eI1NIRD dnoio 1SNJ| paJanod 'ON
v 1B8Y10 Ajuo v B3Y10 Ajuo ueo
1\% [eduud v [ediound

sadeys 8|qedo| |y

abe1uadtad sso 18N

SISNI] Padano)d OgS 404
dnoJo ueo] pue Isna] patsno) Aq sedeys a|gqedo||y pue sebeiusdlad sso 18N



69 J0 97 d8ed

600'90. 'Y 600'90. 'Y 0 T879£550°0 T879£550°0 000000000  dnoio
92Z'v9¢'L 92Z'v9¢'L 0 96/£9980°0 96/£9980°0 000000000 ¢ dnoio
88£'800'9 88£'800'9 0 269890.0°0 269890.0°0 000000000 Z dnoio
161'20L'T 161'20L'T 0 Z.160020°0 Z.160020°0 000000000 T dnoio €9AH-900Z THMD 207
0Z€'s8E'y 02€'e8E'y 0 8778951500 8%7895TG0°0 00000000°0 ¢ dnoio
299'985'6 299'985'6 0 9Z¥8.21T°0 9Z¥8.21T°0 000000000 Z dnoio
€G2'9Ve'ET €52'9rC'sT 0 128€8SGT0 128€8SGT0 000000000 T dnoio TAAH-900Z THMD ‘oY
1¥8'622'L 1¥8'622'L 0 20.50580°0 20/50580°0 000000000 ¢ dnoio
256'8GT'8 256'85T'8 0 99/86560°0 99/86560°0 000000000 Z dnoio
€EG'TLEET £EG'TLE'ET 0 GTZTELSTO GTZTELSTO 000000000 T dnoio £-9002 THMD "00¥
0£L'€GT'E 0€L'€ST'E 0 T.20TLE00 T220TLE0°0 00000000°0 G dnoio
0Z£'9TH'C 0Ze'9T¥'C 0 0£.2¥820°0 0€.2¥820°0 000000000 ¥ dnoio
962'221'9 962'221'9 0 204202L0°0 20/202L0°0 000000000 ¢ dnoio
GY£'696'E GPE'696'C 0 LT869910°0 LT869910°0 000000000 Z dnoio
268'670'C 268'6T0'C 0 ¥77€92£20°0 ¥77€92£20°0 000000000 T dnoio 69 AH-G00Z THMD "66€
/ST'SET'9 LST'SET'9 0 6.YSEEL0°0 6.¥GEELO0 000000000  dnoio
£G5'c8Y £55'c8Y 0 988895000 988895000 000000000 ¢ dnoio
2€9'v6€'T Z€9'6E'T 0 ¥7.0%7910°0 ¥7.0%7910°0 000000000 Z dnoio
1.0'S0Y T,0'S0 0 ¥559/¥00°0 ¥559/700°0 00000000°0 T dnoio 89 AH-G00Z THMD "86€
052'€Z8 062'cZ8 0 625896000 625896000 000000000 g dnoio
8G9'T/S'C 859'T/5'C 0 08¥G20€0°0 08¥G20€0°0 000000000  dnoio
GST'ZTIV'T GST'ZTY'T 0 85£T99T0°0 8G£T99T0°0 000000000 ¢ dnoio
Zr1'0€8'9 Zr1'0£8'9 0 29¥G£080°0 29¥G£080°0 000000000 Z dnoio
G0Y'00L'T GOv'00L'T 0 /1000200 /1000200 000000000 T dnoio 99 AH-G00Z THMD "16€
166'89%'T 166'897'T 0 2€282.10°0 2€282.T0°0 000000000  dnoio
988'68%'C 988'68Y'C 0 11262620°0 11262620°0 000000000 ¢ dnoio
180's¥2'C T80'€¥72'C 0 6T68£920°0 6T68£920°0 000000000 Z dnoio
8/8'8/S'C 8/8'8/5'C 0 ¥/6E£0£0°0 ¥/6E£0£0°0 000000000 1 dnoio GIAH-S00Z THMD "96¢
0%0'657'6 0v0'657'6 0 282821110 282821110 00000000°0 Z dnoio
259'LvY 2S9' L1y 0 059925000 059925000 000000000 T dnoio 9 AH-500Z THMO "G6E
1€2'28T LE22ET 0 €/5G5T00°0 €/5GST00°0 000000000 9 dnoio
Zr0'sve Zr0'8ve 0 ¥T816200°0 ¥T816200°0 000000000 g dnoio
0T8'SE6'T 0T8'€E6'T 0 0.062220°0 0.062220°0 00000000°0  dnoio
0£8'65 0€8'65 0 88£0/000°0 88£0/000°0 000000000 ¢ dnoio
(9)xu0111g 583 = (G)xuoIg 5°'8% = (7)xuol1g 58 =
(6) (8) ) (9) () () (€ @ (1)
S91eIIRD SEIR] AN El) S91eIlINIRD S91eIly1NI8D S91eIlNIRD S91eI1NIRD dnoio 1SNJ| paJanod 'ON
v 1B8Y10 Ajuo v B3Y10 Ajuo ueo
1\% [eduud v [ediound
saJeys a|qedo||v abejuadiad sso 19N

SISNI] Padano)d OgS 404
dnoJo ueo] pue Isna] patsno) Aq sedeys a|gqedo||y pue sebeiusdlad sso 18N



69 30 LT 98ed

eT6'TES eT6'1ES 0 08/62900°0 081629000 000000000 [e101 6T-7002 THMD ‘ST
G8T'TEY G8T'TEY 0 912205000 912205000 000000000 [e101 8T-¥002 THMD YTy
816'662 816'66¢ 0 G7825£00°0 G7825£00°0 000000000 G dnoio
TE6'€8Y TE6'C8Y 0 T€£69500°0 T€£69500°0 000000000 ¥ dnoio
291982 291'9€2 0 ¥%7582200°0 ¥%7582200°0 00000000°0 ¢ dnoio
8/€'70T 8/€%0T 0 86.22100°0 86.22100°0 000000000 Z dnoio
A NA) rAdNA 0 ¥18£2000°0 ¥18£2000°0 000000000 T dnoio GT-7002 THMD ST
LYE'8L LYE'8L 0 €.126000°0 €.126000°0 000000000 ¥ dnoio
261922 251922 0 190992000 190992000 000000000 ¢ dnoio
88T ¥88'vTE 0 2570.£00°0 2S70.£00°0 000000000 Z dnoio
LTE'SL LTESL 0 6562980000 §G298000°0 00000000°0 T dnoio ¥T-7002 THMD T
795661 795661 0 221185000 221185000 000000000 Z dnoio
870'0T¢ 870'0T¢ 0 STT.¥200°0 STT.¥200°0 000000000 T dnoio £T-¥002 THMD 1T
199'€Z 199'€Z 0 9€8.2000°0 9€8/2000°0 000000000 ¢ dnoio
GGY'V6E GSY'v6E 0 S90¥9¥00°0 S90¥9¥00°0 000000000 Z dnoio
6822 682'2¢ 0 886.£000°0 886.£000°0 000000000 T dnoio TT-¥002 THMD 0Ty
G6S'TLT G6S'TLT 0 9/810200°0 9/810200°0 000000000 [e101 0T-7002 THMD "60Y
159'029'Y 159°029'7 0 T909E¥S0°0 T909E¥S0°0 000000000  dnoio
£25'618'6 £25'6T8'6 0 08£2SSTT0 08£2SSTT0 00000000°0 ¢ dnoio
££6'72h'S €€6'72'S 0 1266.£90°0 1266.£90°0 000000000 Z dnoio
YOv'v6 YOv'v6 0 €90TTT00°0 £90TTT00°0 000000000 T dnoio Z9AH-L00Z THMD "80%
955'88%'S 955'881'S 0 GZT.5790°0 GZT.LS¥90°0 000000000  dnoio
TET'8G6'L TET'856'L 0 105295600 105295600 000000000 ¢ dnoio
GT.'86T'C GTL'86T'C 0 £2/98520°0 £2/98520°0 000000000 Z dnoio
885'99¢2'L 885'992'L 0 1268%580°0 126875800 000000000 T dnoio 9AH-200Z THMD L0V
675'G6. 0T 67G'G6.'0T 0 9%90022T°0 9%900./2T°0 000000000 [e101 TINL-9002 THMD "90¥
2€9'svL'8 2€9'evL'8 0 929982070 929982070 000000000 ¢ dnoio
809'699'0T 809'699'9T 0 €0ETTI6T0 €0ETTI6T0 000000000 Z dnoio
0£9'GGH'8T 0£9'GGH'8T 0 90S2T.LT20 90S2T.LTC0 00000000°0 T dnoio GV0-900Z THMD "SOp
172'815'G2 T¥Z'815'Se 0 09¥T200€°0 09¥T200£°0 000000000 [e101 ¥v0-900Z THMD Yo
086'681'C 086'68%'C 0 88£62620°0 88£62620°0 000000000  dnoio
118'TS0'S 118'TS0'S 0 ¥8EEY650°0 ¥8EEY650°0 000000000 ¢ dnoio
965'260'C 965'260'C 0 L18T9¥20°0 L18T9¥20°0 00000000°0 Z dnoio
886'GT.'C 886'ST.'Z 0 082S6TE0°0 082S6TE0°0 000000000 T dnoio 9AH-900Z THMO g0
(9)xu0111g 583 = (G)xuoIg 5°'8% = (7)xuol1g 58 =
(6) (8) ) (9) () () (€ @ (1)
S91eIIRD SEIR] AN El) S91eIlINIRD S91eIly1NI8D S91eIlNIRD S91eI1NIRD dnoio 1SNJ| paJanod 'ON
v 1B8Y10 Ajuo v B3Y10 Ajuo ueo
1\% [eduud v [ediound

sadeys 8|qedo| |y

abe1uadtad sso 18N

SISNI] Padano)d OgS 404
dnoJo ueo] pue Isna] patsno) Aq sedeys a|gqedo||y pue sebeiusdlad sso 18N



69 Jo 87 d8ed

£95'70T £95'v0T 0 9T0£2T00°0 9T0£2T00°0 000000000 T dnoio €dAH-700Z THMD ey
ove've ove've 0 282070000 282070000 000000000 9 dnoio
8ES'T 8€G'T 0 608700000 608700000 000000000 G dnoio
0 0 0 000000000 000000000 000000000 ¥ dnoio
12E'STT LTEETT 0 92£E££T00°0 92£E££T00°0 00000000°0 ¢ dnoio
709, ¥70'92 0 ¥9¥68000°0 ¥9¥68000°0 000000000 Z dnoio
06.'0 06.'0% 0 886.7000°0 886.7000°0 000000000 T dnoio Z9AH-Y00Z THMD {1157
218'762 218'v62 0 8069%£00°0 8069%£00°0 000000000 Z dnoio
8€.'6 8€L'6 0 LS¥TT000°0 LS¥TT000°0 000000000 T dnoio TAAH-700Z THMD "62Y
¥8¢2'89¢ ¥82'89¢ 0 629GTE00°0 629GTE00°0 000000000 [e101 6-700Z THMD R4/
020'€T 020°€T 0 LTEST000°0 LTESTO00°0 00000000°0 Z dnoio
G/E'789 G/E'%89 0 /¥TG0800°0 /¥TS0800°0 000000000 T dnoio 8-7002 THMD 12y
2ET'00€ ZET'00€ 0 L60€5£00°0 L60€5£00°0 000000000 9 dnoio
£22'vze €ez'vze 0 8E¥T8E00°0 8E¥T8E00°0 000000000 g dnoio
8/8'61T 8/8'67T 0 12£9.700°0 12£9.700°0 000000000  dnoio
8€/'0T¢ 8€.'0T€ 0 ¥/5G9£00°0 ¥/5G9£00°0 000000000 ¢ dnoio
9/£'S/2 9/£'G/2 0 T.6£2£00°0 T.6€2£00°0 000000000 Z dnoio
€18'SZ €18'SZ 0 6E£70£000°0 6E£70£000°0 000000000 T dnoio /-%002 THMD ‘9Z¥
9%0'GTT 9%0'GTT 0 87€GET00°0 87€GET00°0 00000000°0 Z dnoio
8ze'/e2 82g'/EC 0 072612000 072612000 000000000 T dnoio 9-700Z THMD "GZY
¥99'29¢2 ¥99'192 0 668YTE00°0 668YTE00°0 000000000 Z dnoio
G8/'0T€ G8/'0TE 0 629G9£00°0 629G9£00°0 000000000 T dnoio G-7002 THMD 8747
2182 AR KANZ 0 80£G8700°0 80£G8700°0 000000000 [e101 ¥-#002 THMD R¥A7
vET'80C YE1°802 0 ¥987¥200°0 ¥987¥200°0 000000000 [e101 €-#00Z THMD K447
9€0'056'C 9£0'056'C 0 0£90.¥£0°0 0£90.¥£0°0 000000000 ¢ dnoio
626'€2S'C 626'€25'C 0 82£69620°0 82£69620°0 000000000 Z dnoio
828'120'T 828'120'T 0 1GT202T0°0 1GT202T0°0 000000000 T dnoio 62-7002 THMD 12
21€'98. T1€'98. 1 £10G62600°0 2.0G2600°0 100000000 [e101 ¥2-¥00Z THMD (1147
800'£96'T 800'296'T 0 L2TYTE20°0 L2TYTE20°0 00000000°0 [e101 £2-7002 THMD 6TV
980'€92'C 980'€92'C 0 ¥S¥29920°0 ¥S¥29920°0 000000000 [e101 22-v002 THMD ‘8TY
265'€6S 265°€6S 0 £7£86900°0 £7£86900°0 000000000 [e101 T2-7002 THMO LT
860'ST 860'8T 0 162120000 162120000 000000000 ¢ dnoio
£TC'oY eT2'oy 0 89£¥5000°0 89£¥5000°0 00000000°0 Z dnoio
¥60'G8 ¥60'G8 0 TTT00T00°0 TTT00T000 000000000 T dnoio Z-7002 THMD 9Ty
(9)xu0111g 583 = (G)xuoIg 5°'8% = (7)xuol1g 58 =
(6) (8) ) (9) () () (€ @ (1)
S91eIIRD SEIR] AN El) S91eIlINIRD S91eIly1NI8D S91eIlNIRD S91eI1NIRD dnoio 1SNJ | patsno)d "ON
v 1B8Y10 Ajuo v B3Y10 Ajuo ueo
1\% [eduud v [ediound

sadeys 8|qedo| |y

abeluanuad sso 18N

SISNI] Padano)d OgS 404
dnoJo ueo] pue Isna] patsno) Aq sedeys a|gqedo||y pue sebeiusdlad sso 18N



69 J0 67 93ed

¥09'9 ¥09'9 0 69..0000°0 69..0000°0 000000000 T dnoio 90-7002 THMD {0147
66L'V.T 66LV.LT 0 9%950200°0 9%950200°0 000000000 [e101 GC-¥002 THMOD "BEY
0 0 0 000000000 000000000 000000000 ¢ dnoio
0 0 0 000000000 000000000 000000000 Z dnoio
18 18 0 $6000000°0 $6000000°0 00000000°0 T dnoio ¥0-7002 THMD 8¢y
£82'ceC €82'¢€C 0 0S¥v.200°0 0S¥v.200°0 000000000 [e101 £0-¥002 THMOD L€V
002'202 002202 0 §9/€%200°0 §9/€%200°0 000000000 [e101 20-7002 THMD K57
0TS'ErT 0TS'EPT 0 GE889T00°0 GE889T00°0 000000000 6 dnoio
18118/ 18118/ 0 677.61600°0 677616000 000000000 g dnoio
82/ L6V 82.'L6V 0 £95G68500°0 £95G68500°0 000000000 / dnoio
650'86T 650'86T 0 TT0EE200°0 TT0EE200°0 00000000°0 9 dnoio
vTL'6L ¥TL'6L 0 18.£6000°0 18.£6000°0 000000000 g dnoio
128161 T28'L6T 0 1£12£200°0 1€£12£200°0 000000000  dnoio
0 0 0 000000000 000000000 000000000 ¢ dnoio
088't7y 088'tt 0 008250000 008250000 000000000 Z dnoio
¥9/'69 ¥9/'69 0 9/028000°0 9/028000°0 000000000 T dnoio 89AH-¥00Z THMD "GEY
806'TTC 806'TTC 0 ¥0£6%7200°0 ¥0£6%7200°0 000000000 G dnoio
v.5'88 1588 0 S0Z¥0T00°0 S0Z¥0T00°0 000000000  dnoio
09.'€¢ 09.'€¢ 0 8T/6£000°0 8T/6£000°0 00000000°0 ¢ dnoio
v12'0L v12'0L 0 G/928000°0 619280000 000000000 Z dnoio
v76'9ey'T ¥16'98Y'T 0 225069100 225069100 000000000 T dnoio LAAH-Y00Z THMD vey
18.'GTT T8L'GTT 0 ZTZ9ET00°0 ZTZ9ET00°0 000000000 g dnoio
£26'16¢ £26'162 0 BEYEYE00°0 BEYEYE00°0 000000000 L dnoio
L£2'8Y2'T LE2'8Y2'C 0 G8617920°0 G861%920°0 000000000 9 dnoio
0T8'09 078'09 0 T#ST2000°0 T#ST2000°0 000000000 G dnoio
TEY' G TEY'TSY 0 T.22€500°0 T.22€500°0 000000000 ¥ dnoio
TET'86Y TET'86Y 0 /£098500°0 /£098500°0 000000000 ¢ dnoio
£92'0€€ €92'0€€ 0 G7588£00°0 G7588£00°0 000000000 Z dnoio
£80'9G¢ £80'95¢ 0 ¥/2T0£00°0 ¥/.2T0£00°0 00000000°0 T dnoio GIAH-700Z THMD "eey
9€6'65 9€6'65G 0 £7502000°0 £7502000°0 000000000 ¢ dnoio
8ET'9VS 8ET'9VS 0 GTSZ#900°0 GTSZ7900°0 000000000 Z dnoio
0EY'8T 0Ey'8T 0 289120000 289120000 000000000 T dnoio Y9 AH-¥00Z THMO ey
SYE'YT eYEYT 0 ¥289T000°0 ¥289T000°0 00000000°0 ¢ dnoio
260'6.€ 260'6.€ 0 16657700°0 166S7700°0 000000000 Z dnoio
(9)xu0111g 583 = (G)xuoIg 5°'8% = (7)xuol1g 58 =
(6) (8) ) (9) () () (€ @ (1)
S91eIIRD SEIR] AN El) S91eIlINIRD S91eIly1NI8D S91eIlNIRD S91eI1NIRD dnoio 1SNJ | patsno)d "ON
v 1B8Y10 Ajuo v B3Y10 Ajuo ueo
1\% [eduud v [ediound
saJeys a|qedo||v abejuadiad sso 19N

SISNI] Padano)d OgS 404
dnoJo ueo] pue Isna] patsno) Aq sedeys a|gqedo||y pue sebeiusdlad sso 18N



69 J0 0¢ d3ed

88/°€62'T 88/°€62'T 0 ¥0T22ST0°0 ¥0T22ST0°0 000000000 ¢ dnoio
¥20'198'T ¥20'198'T 0 0v¥68120°0 0v¥68120°0 000000000 Z dnoio
196'502'S 196'502'S 0 92.TLLE0°0 92.TLLE0°0 000000000 T dnoio 22-5002 THMD "GGY
GTL'6T8 /8G'6T8 8Z1 TLEY9600°0 02296000 TST00000°0 Z dnoio
¥09'2€0'S 85.'v20'S 98'L 1T.026G0°0 08¥TT650°0 1£260000°0 T dnoio 12-5002 THMD "YGY
062202 ¥9T'/0€'C 9ZT 6SY7T220°0 0TEVTLZ00 677000000 [e101 02-S00Z THMD "€SY
00L2.5'C G90'895'C GE9'y 90,920€0°0 £62120€0°0 £6¥G0000°0 [e101 87-5002 THMD 25
T/G'856'T ¥Z6'vS6'T L¥9'E T0ZY0£20°0 076662200 162¥0000°0 Z dnoio
169°268'T 8€0°268'T 659 §862£220°0 608T£220°0 §//00000°0 T dnoio LT-5002 THMD TG
259'990'2 ¥16'590'C 60. GGETEYZO00 22S0£¥20°0 ¥£800000°0 [e101 97-G00Z THMD ‘05t
G62'8€2'C GT2'8€2'2 6. 882££920°0 ¥6T££920°0 £6000000°0 [e101 GT-G002 THMD {147
v.S'v8T'T 0.2'T8T'T v0g's LT9E6ETO0 62.68£T0°0 888€0000°0 [e101 ¥T-G00Z THMD "8y
¥60'6G9'T 672'859'T Gv8 G/8TS6T0°0 288056700 ¥6600000°0 [e101 £1-5002 THMD Ly
7/8'0€E'T 2/8'0E€'T 0 T€/G95T0°0 T€/G95T0°0 000000000 Z dnoio
22€'0LL'T 22E0LL'T 0 2£128020°0 1£128020°0 000000000 T dnoio 21-5002 THMD K147
G88'7G8'T G88'788'T 0 G986.120°0 G986/120°0 000000000 9 dnoio
20T'LET 20T LET 0 162191000 162191000 000000000 G dnoio
€EL'€T9'E £eL'€19'E 0 TSYTSZY0'0 TSYTSZH0°0 000000000  dnoio
166'9.6'C 166'926'C 0 05£205€0°0 05£205€0°0 00000000°0 ¢ dnoio
6TE'TEE 6TE'TEE 0 /8/68£00°0 /8/68£00°0 000000000 Z dnoio
16£'€98 TG£'€98 0 90/GT0TO00 90/GT0TO00 000000000 T dnoio TT-G002 THMD ‘Ghy
¥0Z'v80'T £28'€80'T 08¢ ¥£56/210°0 9806/2T0°0 8¥¥00000°0 [e101 0T-S00Z THMD R4
0 0 0 000000000 000000000 000000000  dnoio
20£'02 2002 0 G88€2000°0 G88€2000°0 000000000 ¢ dnoio
192'8¢Y 0G2'8EY 1T T09GTS00°0 88GGTS00°0 £7T000000°0 Z dnoio
Z16'0F Z16'0p 0 ZET87000°0 ZET87000°0 000000000 T dnoio 60-700Z THMO §5%47
9TT'2LT 9TT'2LT 0 68202000 68720200°0 000000000 ¢ dnoio
0 0 0 000000000 000000000 000000000 Z dnoio
S g 0 500000000 500000000 00000000°0 T dnoio 80-7002 THMD T
29Ty 29Ty 0 968700000 968700000 000000000 ¢ dnoio
0 0 0 000000000 000000000 000000000 Z dnoio
€16'6L €16'6L 0 98060000 98060000 000000000 T dnoio L0-¥00Z THMO vy
€ 3 0 ¥0000000°0 ¥0000000°0 00000000°0 ¢ dnoio
0 0 0 000000000 000000000 000000000 Z dnoio
(9)xu0111g 583 = (G)xuoIg 5°'8% = (7)xuol1g 58 =
(6) (8) ) (9) () () (€ @ (1)
S91eIIRD SEIR] AN El) S91eIlINIRD S91eIly1NI8D S91eIlNIRD S91eI1NIRD dnoio 1SNJ | patsno)d "ON
v 1B8Y10 Ajuo v B3Y10 Ajuo ueo
1\% [eduud v [ediound

sadeys 8|qedo| |y

abeluanuad sso 18N

SISNI] Padano)d OgS 404
dnoJo ueo] pue Isna] patsno) Aq sedeys a|gqedo||y pue sebeiusdlad sso 18N



69 J0 1¢ d8ed

009'€95'L 009'€95'2 0 £6£86880°0 £6£86880°0 000000000 9 dnoio
£72'9€6 €72'9€6 0 Z9¥T0TTO00 Z9¥T0TTO00 000000000 g dnoio
120'929'T 120'929'T 0 9962T6T0°0 9962T6T0°0 000000000  dnoio
IST'YTL'S TST'YTL'S 0 1€522.90°0 1€522/90°0 000000000 ¢ dnoio
G28'29 G28'29 0 ZT6£2000°0 ZT6£2000°0 00000000°0 Z dnoio
0£6'GL0'T 0€6'GL0'T 0 008592100 008592100 000000000 T dnoio LIAH-G00Z THMD 0Ly
258'186 258'186 0 0ZTGSTTO0 0ZTGSTTO0 000000000 ¢ dnoio
216'169'C 216'169'C 0 ¥80V.TE€0°0 ¥80V.TE€0°0 000000000 Z dnoio
LT6'G29 L16'G29 0 €1£9€/00°0 €£9€/00°0 000000000 T dnoio €9AH-G00Z THMD "69%
6TL'€0T'C 6TL'€0T'C 0 Y96Y.¥20°0 Y96v.¥20°0 000000000 Z dnoio
6.8'0LE'T 6.8°0LE'T 0 66.219T0°0 66.219T0°0 00000000°0 T dnoio Z9AH-G00Z THMD "89%
¥2€'81G'T ¥2£'8/G'T 0 258958100 258958700 000000000 g dnoio
9£8'6€2'S 9£8'6£2'S 0 YTSY9T90°0 YTSY9T90°0 000000000  dnoio
152'298'L 152'298'2 0 685652600 685652600 000000000 ¢ dnoio
v2e'ov8's ¥2e'9v8's 0 820828900 820828900 000000000 Z dnoio
€6Y'EY0'T €6Y'€V0'T 0 8£9/2210°0 8£9/2210°0 000000000 T dnoio 0TAH-S00Z THMD "L9¥
£89'18¢ 289'18¢ T 6£067700°0 80677000 100000000 Z dnoio
908'/80'C €6.'/80'C €T 292957200 12295¥20°0 ST000000°0 T dnoio 9-G00Z THMD "99¥
12¥'606 T2¥'606 0 106690T0°0 L06690T0°0 100000000 [e101 §-G00Z THMD "Gof
1€9'TLS'E L€9'TLG'E 0 926102100 926102100 000000000  dnoio
920'28S'T 920'28S'T 0 L0ZT98T0°0 L0ZT98T0°0 000000000 ¢ dnoio
190'T16'C 190'T1S'C 0 96T¥5620°0 96T5620°0 000000000 Z dnoio
¥99'825 ¥99'825 0 856129000 856129000 000000000 T dnoio T€-G002 THMD Yoy
68Y'6£5'E L¥S'TES'E Zv6'L SOTY9TY0'0 T9.¥STY0°0 ¥¥£60000°0 [e101 0£-G00Z THMD "€9Y
105'920°c 098'/86'C 1%9'8¢ 165095€0°0 0£TGTSE00 L9¥S7000°0 [e101 62-G002 THMD 297
vZ1'8v8'z Ly'vr8'e 119'€ YEL0GEE00 80797£€0°0 9Z£¥0000°0 [e101 82-G00Z THMD ‘T9%
216'720'T ¥95'€20'T 8yE'T 6..G02T0°0 £6TY02T0°0 985700000 Z dnoio
62£'0€0'C 112'120'C 850'c 22988£20°0 G20G8£20°0 865£0000°0 T dnoio 12-500Z THMO "09%
108'T0Y T08'T0 0 10/2.¥00°0 10/2.¥00°0 00000000°0 Z dnoio
€5G6'TSY'T 1S6'871'C 209'C 081188200 6TTT8820°0 T90€0000°0 T dnoio 92-500Z THMO "6SY
299'682'C 068'982'¢ 218'C 02.£6920°0 TT#06920°0 80££0000°0 [e101 G2-5002 THMD "8GY
0£8'9v€'9 G09'VEE'9 YARAN 65899%7.0°0 L1Y2S710°0 Z8EYT000°0 [e101 ¥2-G00Z THMD ‘ISP
180'822's ¥86'602'E €0T'8T 67..6.£0°0 25792L£0°0 162120000 [e101 £2-5002 THMD "9GY
GST'99T'T GST'99T'T 0 LYBTLETO0 L¥6TLET00 000000000 ¥ dnoio
(9)xu0111g 583 = (G)xuoIg 5°'8% = (7)xuol1g 58 =
(6) (8) ) (9) () () (€ @ (1)
S91eIIRD SEIR] AN El) S91eIlINIRD S91eIly1NI8D S91eIlNIRD S91eI1NIRD dnoio 1SNJ | patsno)d "ON
v 1B8Y10 Ajuo v B3Y10 Ajuo ueo
1\% [eduud v [ediound
saJeys a|qedo||v abejuadiad sso 19N

SISNI] Padano)d OgS 404
dnoJo ueo] pue Isna] patsno) Aq sedeys a|gqedo||y pue sebeiusdlad sso 18N



69 J0 7¢ d8ed

9%5'2eE'T 9pGZEE'T 0 T0.L9ST0°0 T0LL9ST0°0 000000000  dnoio
12'18Y'T 12€'18%'T 0 16/6¥.10°0 1616¥.T0°0 000000000 ¢ dnoio
GE/'198'L GEL'T98'L 0 001672600 001672600 000000000 Z dnoio
115'682'C 115'982'2 0 £1888920°0 £1888920°0 000000000 T dnoio Z9AH-900Z THMD "T6¥
ZARITA 788'96T'Y SYe'eT 880£5610°0 80S.£610°0 085GT000°0 [e101 6-9002 THMD "06%
009'¥TS LSY'0TS YTy ZT#S0900°0 8£500900°0 ¥/8¥0000°0 ¢ dnoio
SYT'9L6'T 0TE'296'T 2€8'8 v18¥2£20°0 £8YYTEZ0°0 T6£0T000°0 Z dnoio
9/8'L19'% 969'665'Y 081'8T 96.2E¥S0°0 LOYTTYS00 68£T12000°0 T dnoio 8-900Z THMD "68Y
625'986'C YEV'SL6'E G60'ST ¥£006910°0 829v.910°0 90¥GT000°0 [e101 9-9002 THMD "88Y
628'106'6 T06'288'6 626'7C 0/2959TT°0 Z¥6929TT°0 82£62000°0 [e101 12-9002 THMD 18V
¥66'8T2'0T 6.£'08T'0T GT9'8E 9%£22021°0 9T69.6TT°0 0£¥G7000°0 [e101 02-9002 THMD ‘08Y
926'T88'0T G08'2G8'0T 121'62 992208210 90089.2T°0 09Z£000°0 [e101 6T-9002 THMD ‘G8Y
1719'0€8'C 098'1T28'C 16.'8 0E£TOEEE00 GESBTEE00 §620T000°0 Z dnoio
GET'66S'T Z€0'865'T €0T'T 9€£T88T0°0 8£0088T0°0 862700000 T dnoio 87-900Z THMO "v8Y
1T2'982'S G/T'VET'S 0'e 952091900 £G8/5T90°0 20%20000°0 [e101 LT-9002 THMD €8y
G98'500'E G98'500'E 0 TTE9ESE00 TTE9ESE0°0 000000000 ¢ dnoio
266'8GE'C 0T¥'2GE'C 285'T 682611200 £2Y€L120°0 2981700000 Z dnoio
180'9£8'E or8'ce8's A y70€TSY0°0 LO¥0TSY0°0 9€£920000°0 T dnoio 9T-900Z THMO "Z87
60E'7GS'S 78L'155'S 1252 0vST8TY0'0 195821100 £1620000°0 [e101 GT-9002 THMO “18Y
222'9.9'C 208'899'2 0zvr'L L6Y8YTE00 19/6ETE0°0 62/80000°0 [e101 ¥T-9002 THMD "08Y
8.6'798'Y £12'658'Y ¥9.'s £05£2.50°0 22.9T.S0°0 18/90000°0 [e101 £1-9002 THMD 6Ly
185'922'9 ¥96'/12'9 £29'8 96£G2£L0°0 TSZSTELO0 ST0T000°0 [e101 Z1-9002 THMD ‘8LY
2LE'8TS'9 L¥2'205'9 GZT'9T 219899200 20.6%9.0°0 0.68T000°0 [e101 TT-9002 THMD Ly
676'299 2L1'299 Lyl G066..00°0 9206..00°0 68000000 Z dnoio
692'296'Y Z16'686'7 1622 £96.£850°0 T99TT8S0°0 20£92000°0 T dnoio 0T-9002 THMD 9Ly
6772'S67'Y 0Ly THY'y 61L'€S 825882500 652522500 692€9000°0 [e101 1-900Z THMD ‘GLY
121'80. 996'20. 09T 060££800°0 2062£800°0 687000000 [e101 ¥0-G002 THMD vl
188'925 118'925 6 /986T900°0 958679000 TT000000°0 Z dnoio
£70'802'T ¥16'902'T 690'T 122127100 6966T¥T0°0 852700000 T dnoio £0-5002 THMD el
¥8£'6€0'C 90£'6€0'2 6. 9/266£20°0 £8166£20°0 £6000000°0 ¢ dnoio
89/ '617. 89/'67L 0 080288000 080288000 000000000 Z dnoio
LSt LSY 0 8£500000°0 8£500000°0 000000000 T dnoio 20-5002 THMO Ly
0 0 0 000000000 000000000 00000000°0 Z dnoio
8h'/Z 8vv'/2Z 0 2622£000°0 2622£000°0 000000000 T dnoio T0-G00Z THMO Tl
(9)xu0111g 583 = (G)xuoIg 5°'8% = (7)xuol1g 58 =
(6) (8) ) (9) () () (€ @ (1)
S91eIIRD SEIR] AN El) S91eIlINIRD S91eIly1NI8D S91eIlNIRD S91eI1NIRD dnoio 1SNJ | patsno)d "ON
v 1B8Y10 Ajuo v B3Y10 Ajuo ueo
1\% [eduud v [ediound

sadeys 8|qedo| |y

abeluanuad sso 18N

SISNI] Padano)d OgS 404
dnoJo ueo] pue Isna] patsno) Aq sedeys a|gqedo||y pue sebeiusdlad sso 18N



69 J0 £¢ d8ed

119'€62'L 0.8'182'L 908'S 96.08580°0 G96£2580°0 T£890000°0 [e101 G-/002 THMD €T
€8T'86T'VT 160'86T'V'T €6 G7/€029T°0 9£9£029T°0 60T00000°0 [e101 -200Z THMD AR
/S0'608'TT 2LO'TLLTT G86'L€ 800€68ET°0 0ZE878ET0 889170000 [e101 €-,002 THMD 118
20S'GLT 88G6°CLT G¥6'Z £/¥90200°0 600£0200°0 ¥9¥£0000°0 Z dnoio
90t'08T'L 889'G2T'L 8TL'VS 9€S.7¥80°0 £9T€8£80°0 ¥/£¥9000°0 T dnoio 12-,002 THMD ‘0TS
orY'¥S0'E 081'8T0°E 99z7'9¢ 99¥€65€0°0 008055€0°0 999270000 [e101 02-200Z THMD "60G
152'820'S G90'0T0'S 26T'8T /6SGT650°0 ¥6T¥6850°0 20¥12000°0 [e101 2-,00Z THMD "805
826'ZTT'T ¥68'260'T ¥£0'02 1Z€60ET0°0 86/G82T0°0 0.5€2000°0 Z dnoio
T.¥'905'Y S0Y'68Y'Y 990'LT 0£.T0£S0°0 £G6918250°0 120020000 T dnoio 6T-2,002 THMD 10§
986'280'Z 986'780'C 0 T1.505¥20°0 1.505¥20°0 000000000 Z dnoio
90%'028'T ¥9/'808'T 91T ¥S9T#120°0 856.2120°0 969£T000°0 T dnoio 8T-2002 THMD 905
LET'8E LET'8E 0 19870000 19870000 000000000 ¥ dnoio
0v9'LTL'T 0v9'LTL'T 0 £6/02020°0 £6/02020°0 000000000 ¢ dnoio
GE0'206'C G86'T06'E 18 0£906510°0 0.5065+0°0 090000000 Z dnoio
9T8'2T6'C L0S'T06'C 60S'TT £7892¥£0°0 8EGETYED0 G0EET000°0 T dnoio LT-1002 THMD 'S0
962'€LL'L 0TY'€9L'2 988'6 ¥S0SYT60°0 YZYEET60°0 0€£9TT000°0 [e101 97-,002 THMD "v0G
052'678'9 T96'8T8'9 68¢ 1%922080°0 10£22080°0 6££00000°0 Z dnoio
SV LYT'S 00'9¥T'S 78¢'T 928550900 002750900 929700000 T dnoio GT-200Z THMO €09
8TS'89¢'y I ARTAA T.£€6 £EVBETS00 685620500 878607000 [e101 ¥T-2002 THMD 20§
¥EZ'00T'S 229'960'S Z19'c G/200090°0 920966500 05200000 [e101 £1-2002 THMD "10G
GEG'9ES'C 9%£'925'C 68T°0T 65T¥8620°0 2.121620°0 /86TT000°0 [e101 21-2002 THMD "00S
vS8'vI8'TT €T.'808'TT 19 628668ET°0 £09Z68€T°0 622200000 [e101 T1-2002 THMD "66¥
G86'LLT'8 896'2/T'8 9T 8GTT2960°0 6E£TT2960°0 670000000 [e101 0T-2002 THMD ‘861
GSY'616'L 0£9'788°2 G289 900.TE60°0 789€1260°0 ¥2ee7000°0 [e101 1-200Z THMD "L6Y
TT8'09€'Y 66S'SVE'Y [AXAIA" 99£0£TS0°0 9TTOTTS00 052020000 [e101 ¥0-9002 THMD "96%
677'£9G 671'€95 0 188299000 188299000 000000000 [e101 £0-9002 THMD ‘G6Y
6EC'S9S'T 96T€95'T % GOT6ESTO0 ¥S06£8T0°0 050000000 [e101 20-9002 THMD 8714
291'196 29T'296 0 LE8LETTO0 LE8LETTO0 000000000 ¢ dnoio
210'212 110212 Z 92¥6%7200°0 ¥Zy6%7200°0 200000000 Z dnoio
66T'2€6'T 6E0'ZE6'T 09T 9/1€1220°0 18621220°0 887000000 T dnoio T0-900Z THMO "C6Y
G0L'T2E'T GOL'TZE'T 0 L¥6¥SST0°0 L¥6¥SST0°0 000000000  dnoio
216'609'c 216'609'C 0 9569%210°0 9569%210°0 000000000 ¢ dnoio
GEY'ZhY'9 GEY'ZhY'9 0 9€£6/5.0°0 9€£6/5.0°0 00000000°0 Z dnoio
T.¥'T9L T.'T9. 0 8778568000 8778568000 000000000 T dnoio GIAH-900Z THMD "Z6¥
(9)xu0111g 583 = (G)xuoIg 5°'8% = (7)xuol1g 58 =
(6) (8) ) (9) () () (€ @ (1)
S91eIIRD SEIR] AN El) S91eIlINIRD S91eIly1NI8D S91eIlNIRD S91eI1NIRD dnoio 1SNJ| paJanod 'ON
v 1B8Y10 Ajuo v B3Y10 Ajuo ueo
1\% [eduud v [ediound

sadeys 8|qedo| |y

abe1uadtad sso 18N

S1SnJ] P=dan0D QS 104

dnoJo ueo] pue Isna] patsno) Aq sedeys a|gqedo||y pue sebeiusdlad sso 18N



69 J0 ¢ d3ed

6.7'9.9'7T 6.7'9.9'7T 0 9¥992LT°0 9¥992LT°0 000000000 [e101 9-/00Z TIHMD "0€S
211'125'se 211'125'se 0 £/92€00€°0 £/92€00€°0 000000000 [e101 v-9002 13HMD 625
85/ 'v¢ 85/ 'v¢ 0 1680%7000°0 1680%7000°0 000000000 [e101 1S-¥002 TMD 825
876'c88 678'c88 00T 6£66£0T0°0 2286€0T0°0 /TT00000°0 [e101 1-800Z THMD 125
vze'sye's 112'8EE'S 1%9'S 820v£6£0°0 G8£/26€0°0 £7990000°0 [e101 €0-2002 THMD ‘92§
629'T/8'9 G99'TS8'9 £96'6T 69280800 £8/09080°0 98¥£2000°0 Z dnoio
¥T0'79S'T 875'VSS'T 99%'6 LTO0¥8T0°0 088828100 LETTT000°0 T dnoio 20-2002 THMD 'G2S
7T5'LESY 69G'GES'Y ¥S6'T T9Z8EES0°0 £96GE£S0°0 862200000 Z dnoio
26v'8SY'T 680'2SY'T £0v'9 €/8GT.LT00 07€80.T0°0 ££5.0000°0 T dnoio T0-2L002 THMD 'v2s
¥1G6'85€'C ¥15'85€'C 0 €6.11120°0 €6.1.120°0 000000000 g dnoio
T91'850'C T91850'C 0 G9ETZY200 G9£TZY200 00000000°0  dnoio
6EE'625'C 6EE'62S'E 0 €9TZSTY0°0 €9TZSTY0°0 000000000 ¢ dnoio
£08'871'6 £08'87T'6 0 862£9.0T°0 862£9.0T°0 000000000 Z dnoio
88Y'0SY'Z 88Y'0SY'C 0 126288200 126288200 000000000 T dnoio TAAH-L00Z THMD €28
078269'C 0v8'269'C 0 626ELT€0°0 626ELTE0°0 000000000  dnoio
TOS'8TLE TOS'8TL'E 0 LOLYLEYO0 L0LYLEV0°0 000000000 ¢ dnoio
925'G00'S 925'G00'S 0 758888500 58888500 000000000 Z dnoio
068'L6T'T 068'/6T'T 0 782607100 782607T0°0 000000000 T dnoio LAH-200Z THMD 228
088'G0S'T 088'G0S'T 0 ¥29T.LT0°0 ¥29T.LT0°0 00000000°0 ¢ dnoio
110'2¥9 11029 0 ¥8£65/00°0 ¥8£65/00°0 000000000 Z dnoio
60'82€'S 60'82€'S 0 G//GT6E0°0 G//GT6E0°0 000000000 T dnoio GAH-200Z THMD ‘125
G//'8GE'T G//'8SE'T 0 6SG865T0°0 655865T0°0 000000000 ¢ dnoio
9ET'GET'T 9ET'GET'T 0 GGYGEETO0 GGYGEETO0 000000000 Z dnoio
1¥1'€20'L L¥1'€20'L 0 2€2€9280°0 2£2€9280°0 000000000 T dnoio ¥ AH-L00Z THMD 028
1.8'929'c 1/8'929'S 0 10699210°0 106992100 000000000  dnoio
62T'€2L'C 621'€2L'C 0 189€02€0°0 189€02€0°0 000000000 ¢ dnoio
281'660'T 28.'660'T 0 198€6210°0 198€6210°0 000000000 Z dnoio
165081 16G'081 0 80¥59500°0 80¥59500°0 000000000 1 dnoio €AH-200Z THMD ‘615
¥0L'€0L'T ¥0.'€0L'T 0 LGE¥0020°0 LGE¥0020°0 00000000°0 Z dnoio
2€5'080'7 2€5'080'7 0 G2900810°0 G29008+0°0 000000000 T dnoio TAH-200Z THMD ‘8TG
€16'218'Y £85'66. 'Y 06E'ST 12£29950°0 895979500 £G/GT000°0 [e101 6-2002 THMD AR
8%78'965'0T 8%8'965'0T 0 08899210 08899210 000000000 [e101 8-/00Z THMD ‘91G
¥0S'229'S 022'289'S £8/'vC 9T¥62990°0 652059900 /ST62000°0 [e101 1-100Z THMD ‘GTS
116'20L'8 896'20.'8 6 16/8€20T°0 98/8€20T°0 1T000000°0 [e101 9-/00Z THMD YIS
(9)xu0111g 583 = (G)xuoIg 5°'8% = (7)xuol1g 58 =
(6) (8) ) (9) () () (€ @ (1)
S91eIIRD SEIR] AN El) S91eIlINIRD S91eIly1NI8D S91eIlNIRD S91eI1NIRD dnoio 1SNJ| paJanod 'ON
v 1B8Y10 Ajuo v B3Y10 Ajuo ueo
1\% [eduud v [ediound

sadeys 8|qedo| |y

abe1uadtad sso 18N

S1SnJ] P=dan0D QS 104

dnoJo ueo] pue Isna] patsno) Aq sedeys a|gqedo||y pue sebeiusdlad sso 18N



(9)«uong 8% =

(g)xuonng 58 =

(v)«uong 8% =

69 30 G¢ d8eg

“[8SUN0D) W0J) PaAIsdal S)SnJ | d1eAldd Jo Sa]1j Blep aouewloyiad [8AS]-UBO| WOJY pue
w02 uojjpwAug buniodaiioisanunaby/:sdny :ausgam Buiioday Joisanu] 1sni] a1elodiod INANG aU1 Wol) ale GTOZ Jaquialdas Jo se elep aouewlopad [aAs]-ueo] -
'GT0Z Jequisrdas sem pouiad Bunlodai 1sa1e] 8yl ‘STOZ ‘ST 41900190
UO PaJINd20 JUBWISINAS U 104 [eAosdde [eut) ayl eyl UBAIS) "GTOZ J9quisldas JO pus ay) JO Se d|ge|IeA. elep |aAs]-Ueo| sash SIsA[eue ay | -

:§924N0S pue SalO0N

(6) (8) ) (9) () () (€ @ (1)
S91eIIRD SEIR] AN El) S91eIlINIRD [EICRIITINE ) [EICRIITINE ) [EICRIITINE ) dnoio 1SNJ | patsno)d "ON
v 1B8Y10 Ajuo v B3Y10 Ajuo ueo
1\% [eduud v [ediound

sadeys 8|qedo| |y

abe1uadtad sso 18N

S1SnJ] P=dan0D QS 104

dnoJo ueo] pue Isna] patsno) Aq sedeys a|gqedo||y pue sebeiusdlad sso 18N



69 J0 9¢ d8eq

689E0EY0°0 AR A5 289'919'S Z70'819'22 T dnoi9 L-700Z TMD €T
¥2/98SPT 0 GSG'ZIV'CTT 980'790°CT 0.¥'87€'00T Z dnoig
9%/7068T°0 2€9'686'SYT 258'LYT 9T 08.'T¥8'62T T dnoi9 9-700Z TMD 7T
26855600 206'875'0S £78'G59'E 650'€68'9Z ¥ dnoio
080772700 TOV'vLL'CE Zr1'ees’e 652'TrZ'0S ¢ dnoi9
660252600 GE8'98Y'TL 169'80T'8 vr1'82€'€9 Z dnoig
¥8£9550T°0 601'025'T8 GE9'6LT'6 vLL'0VE'TL T dnoi9 G-700Z TMD TT
201865200 125'€90'02 /80'98G'T ObY'LLY'ST ¢ dnoi9
£2815920°0 12.'%725'02 SOY'SYT'Z GTE'6.LE'8T Z dnaig
25688500 £06'281'SY 0.T'TS6'E vEL'TES'TY T dnoio ¥-7002 TMD ‘0T
805766£0°0 L0T'.¥8'0E 122'986'C 088'098'L2 ¢ dnoi9
9/6%20£0°0 ¥T0'09€'€C 9TE'T86'T 869'8.E'TC Z dnoig
929007500 289'S0L'TY G8Z'0SY'y 86£'5.2'L€ T dnoi9 €-700Z TMD ‘6
0LTOV.LY0°0 16€'509'9€ 650'29Z'S Zre'gee'se ¢ dnoig
£565/820°0 861'602'22 6EY'OV6'T 65.°292'02 z dnoio
6/8€87780°0 9£/'ST5'S9 LyY'vSe's 682'T9T'09 T dnoig Z-700Z TMD '8
95572600 89Z'€LT'T9 £82'12T'9 ¥86'T50'SS ¢ dnoi9
9TT69ETT 0 9£9'96.'28 805'296'8 821'628'8. Z dnoig
T8LEETYO0 0£9'726'TE £81'€82'9 871'6£9'S2 T dnoi9 GT-¥00Z TMD L
0T.LTE080°0 976'€20'29 1811148 0£1°909'€S [eloL ¥T-700Z TMD ‘9
0.G62696T°0 9TT'2IT'2ST T6v'L6T'ST GZ9'VT6'EET Z dnaig
857658500 ZL0'8TC'SY 9LV L¥T'L 965°026'LE T dnoig £T-v00Z 1MD g
€/200060°0 ¥25'€05'69 9££'G8G°, 88T'816'T9 ¢ dnoi9
L0LLETIT0 205'129'v2T ZIT'188' YT 06£07L'60T z dnoig
G/v.82¥0°0 80G'60T'€E €/1'859'9 GEL'051'9Z T dnoi9 ZT-¥002 TMD 2%
Y7S9ET60°0 T98'GGS'0L LL6'SVT'S ¥88'TTY'29 [eloL TT-700Z TMD '€
6.5808.0°0 T78°00€'09 9SY'ETT'S ¥5€‘28T'SG ¢ dnoi9
rAXALTAAR0) GY/'99Z'€T £22'996'7T 225'00€'8TT Z dnoig
£€£189850°0 0S6'GTE'SY 2.0'705'8 8/8'T18'9 T dnoi9 0T-¥00Z MO Z
GTEL9TE00 Z12'651' 7T 872'668'T ¥66'655'2¢ ¢ dnoig
€/GT6TE00 LEG'9Y9'VT 22L'670'C G18'965'22 Z dnaig
%/.709¥560°0 £02'8TL'EL $ 089'9/t'9 $ £25'Trz'L9 $ T dnoio T-7002 TMD T
(9600001 18G6'86.'€2¢2' 1L $  959'09¢'€/T'0T $ GZ6'TEV'050°L9 $ $1SN. | Pa4an09 OES SS0JoY |
uonng z'2.$/(9)= (9)+(p)=
) (9) () () (€ @ (1)
abejusdiad $9SS07] 18N $3SS077 18N GTOZ 1deS 10 SV dnoio 1SNJ] paJanod ‘ON
$S07] awnay ainin4 $9SS077 18N ueo]
18N payoaloud |ea1101sIH

S1SNJ | PsJan0) Q¢S 104
uonejnoje)d abejuadtad sso 18N



6930 L¢ d8eg

988EY6£0°0 88T'951'0 TES'EVL'Y 1S9°2TL'ST T dnoi9 21-6002 1IMD ‘0€
612068710 626'286'7TT 0TS'8ST'TT 6T1'628'€0T ¢ dnoig
LL9EYYET 0 9/6'070'T8T 205'S61'TC v.¥'SYS'65T Z dnaig
¥0.T686T°0 G6Z'TT9'€ST 908'290'82 68Y'EYS'STT T dnoig 11-G00Z 1MD ‘6¢
G96TS6E0°0 £/G'8T5'0E G76'72E'T 129'S61'82 ¢ dnoi9
€G9GZETT0 166'09%'28 99T'T0%'8 928'650'6. Z dnoig
0.600T90°0 TT0VTT LY ¥89'99Z'8 125'178'8 T dnoi9 0T-G00Z MO ‘82
GE/2660T°0 /006878 025'76.'6 ¥55'G60'G.L  dnoio
T.TLISSTO T61'628'6TT 825'€8G'TT £96'S¥2'80T ¢ dnoi9
29£9689T°0 92T'08%'0€T 0EY'€L2'ST 969'90Z'STT Z dnoig
¥2081280°0 90.°29%'€9 ZIT'I8T'TT ¥65'182'2S T dnoi9 1-G00Z TMD ks
LSE6T6T00 0002281 699'€¥8'T TEE'8L6'CT [eloL ¥AS-v00Z 1M ‘92
€/¥08ET0°0 GEG'099'0T £5€'229'T T81'8£0'6 [eloL £ds-¥00Z 1IMD ‘G¢
880£T720°0 08.'v£9'8T 6.0'762'C TOL'0VE'9T [eloL Zdas-v00Z 1IMD e
£%2.0200°0 0T#'009'T 12'95L 686°CY8 z dnoio
12v.TT20°0 825'TGE'9T 02v'950'C 60T'S62' VT T dnoig 2023-v002 1MD €T
¥86.0£00°0 695'8.E'C 699'TC 00.'95€'C Z dnaig
9612.020°0 982'200'9T Z.1'€89'T YTT'6TE YT T dnoig 12237002 TMD 22
G2/99%90°0 60G'8£6'6Y vr10L6'S G9E‘896'EY [eloL §09-700Z TMD 12
18¥690T0°0 9£6'852'8 8TT'0£6 118'82E'L Z dnoig
£2GSG.70°0 ¥56'€2L 9 2SLVEY'Y £02'682'2E T dnoi9 ¥29-700Z IMD ‘0C
¥222.T00°0 186'62E'T 89Y'16 £16'2€2'T Z dnaig
9//TT1810°0 Z2T'T66'ET 628'7.9 L6E'8TE'ET T dnoi9 £09-700Z TMD ‘6T
G5¥280T0°0 9ZT'65E'8 960'219 0£0'LYL'L [eloL 209-700Z TMD ‘81
00992970 78E'9YZ'62T 090'079'TT 22€'909'LTT [eloL Zav-v00Z 1M LT
¥6£50950°0 6.6'98Z'€y £92'0ST'E LTL'9ET O Z dnoig
£08829.0°0 815°216'8S 268'798'E G29'/L¥0'SS T dnoi9 19V-7002 1M ‘9T
62rv2LE00 951'79.'82 958'G9/'E 009'G66't7C ¢ dnoig
09506£90°0 625'05E'6Y 0/8'6.5'Y 65V 0LL' Y Z dnaig
85905200 £6.'95€'6T 695'G9G'Z ¥22'16L'9T T dnoi9 6-7002 TMD ‘6T
¥T2902£0°0 009'65.'7C WE'TEL'T ¥52'820'7¢ Z dnaig
L9T/£280°0 L£9'866'7C 6SE'TIO'E L12'18€'TC T dnoig 8-7002 TMD T
/62EES0T0 6TT'ZrE'T8 G98'e5e’L ¥52'886'€.L ¢ dnoi9
60£55280°0 0Z8'T19'29 112'66€'8 609'212'65 Z dnoig
uonng z'2.$/(9)= (9)+(p)=
) (9) () () (€ @ (1)
abejusdiad $9SS07] 18N $3SS077 18N GTOZ 1deS 10 SV dnoio 1SNJ] paJanod ‘ON
$S07] awnay ainin4 $9SS077 18N ueo]
18N payoaloud |ea1101sIH

uonejnoje)d abejuadtad sso 18N

S1SNJ | PsJan0) Q¢S 104



69 Jo 8¢ d8ed

6.8816¥T°0 252'602'STT 122'698'ET ¥20'07'T0T ¢ dnoi9
GEGEETTT0 908'G69'T.LT 67702661 95€£'G/.'TGT z dnoig
90¥£96ST 0 Z8Y'SL2'ETT T95'LE2'TC 076',£0°20T T dnoi9 £-500Z TMD T
G/£62£22°0 GT6'SEV'CLT 9%9'G88'TC 692'055'0GT z dnoig
6ETZIT6T 0 LTE'L16'LYT £ET'89L'VT ¥81'602'EET T dnoi9 9-500Z TMD oy
T¥876850°0 8£0'661'St 9£5'888'S T0G'0T9'6 Z dnoig
9%5786.0°0 969'659'T9 2€6'8YS'Y ¥9.'0TT'2S T dnoi9 G-500Z TMD ‘6E
289T¥20Z°0 T96'€TE'9GT 8SY'LT0'9T £0G'962'01T ¢ dnoig
LELSEETE0 £91'986'T1C 128'17€'82 GE9'899'ETC Z dnaig
TOVYY8IT 0 ¥96'99%'16 602'0v2'ST G5/'92.'SL T dnoi9 ¥-G00Z IMD ‘8¢
120%608T°0 GES'62L'6ET L9T'OvY' VT 897'682'S2T ¢ dnoi9
0¥S6579T°0 LT8'90T'L2T €T8'Y9T'ET ¥00'ZV6'€TT Z dnoig
/8285070 2.6'72L'T8 60S'T9E'ET £91'€9€'89 T dnoi9 €-500Z TMD L€
677£6.560°0 T/E'G16'EL 8/6'796'9 Z6£'010'29 z dnoig
008587800 £/G'0£5'S9 8€/'T0T'9 GE8'8CH'65 T dnoi9 2-5002 TMD ‘9¢
808065GE°0 OvL'sy8'v.e 1£6'71G'9E £08'0.2'8€2 ¥ dnoio
LEY88E0Z0 95Z' L' 16T 697'799°02 88.°78L'9ET ¢ dnoi9
T0¥75890°0 162'2£6'CS 0TY'€86'9 188'876'Sty Z dnoig
€006TEL2°0 6T.'296'0T¢ €LT'2LY'9E LYS'S67'LT T dnoi9 /T-G00Z TMD ‘GE
00T0TTZZ0 ¥652rL'0LT 886'8.1'€C 909€92'LPT ¥ dnouo
872850120 /SG'619'29T 806'961'€C 679°22T'65T ¢ dnoi9
/8VST8.T0 196'L.G'/ET vIT'09L'€2 L¥8'LT8'ETT Z dnaig
£922760°0 ¥77,'916'2L 9/1'S¥Z'91 896°029'95 T dnoi9 97-G00Z MO v
9/2£5290°0 T.T'062'8Y 609'8€€'S T9G'TS6'CY z dnoig
/65505500 yTE'9TG'CY G0G'9.L1'L 608‘6£0'SE T dnoi9 GT-G00Z TMD ‘eg
9EZ¥8LEE°0 20.'768'09¢2 G6.'8€8'TE L06'550'62¢ ¢ dnoig
T¥2769.T°0 ¥59'T79'9ET 80L'6EL LT S¥6'T06'8TT Z dnaig
922218.T°0 G//'ZSS'LET 9TZ'TEL'9T 095'TZ8'02T T dnoig ¥T-G00Z 1TMD Z€
0792£L0€°0 8TT'62E'LE2 989'761'L2 ZEV'9£8'602 ¢ dnoi9
1€22.T82°0 £19'985'/1¢ 852'G69'0E GT1'T98'981T Z dnoig
09.26180°0 879'6£6'29 62.'90G°0T 6T6°CEV'LS T dnoi9 £1-600Z TMD ‘1€
6TOT8EZ00 ZET'18E'8T £6G'€T8'T 6EG'€LG'OT  dnoio
96999£90°0 G70'99T'6Y L0E'69%'y 8€.'969'vy ¢ dnoi9
87T/G0ST'0 G10'2.2'9TT 8/€'€8L'ST 8£9'€6%'00T Z dnoig
uonng z'2.$/(9)= (9)+(p)=
) (9) () () (€ @ (1)
abejusdiad $9SS07] 18N $3SS077 18N GTOZ 1deS 10 SV dnoio 1SNJ] paJanod ‘ON
$S07] awnay ainin4 $9SS077 18N ueo]
18N payoaloud |ea1101sIH

S1SNJ | PsJan0) Q¢S 104
uonejnoje)d abejuadtad sso 18N



69 J0 6¢ 98ed

095857.0°0 9£8°26G'2G 0£0'68€'S 99/'802'2S Z dnaig
¥9278290°0 G99'06€'2S GST'0V6'6 0TS'0SV'Yy T dnoi9 0T-900Z 1MD ‘19
LLSTLOYTO 990°999'80T ¥/G'€GE'8 Z6V'21E'00T Z dnaig
86£9562T°0 G2Z'%50'00T YIV'ELT VT 718'088'S8 T dnoig 7-900Z TMD ‘09
L€125070°0 T..'962'TE 626'718'E Zr8'18Y'L2 [eloL £dS-5002 MO ‘65
92./6£520°0 T€L'219'6T 9%9'290'C ¥80°0SG'LT [eloL Zds-500Z 1MD ‘85
091865200 186'€90'02 609'966'T 2.£'190'8T [eloL 1AS-5002 MO 1S
L990YT.LE0 TVE'¥T8'98¢C L12'T16'ST ¥90'€78'0.2 [eloL €INI-5002 TMD ‘99
2€G2T8ST0 78E'01T'22T /82'050'8 G60°090'7TT [eloL ZINI-S00Z TMD ‘6§
€8YZZYST 0 0/2'860'6TT ¥S1'852'8 9TT'0¥8'0TT [eloL TINI-G00Z TMD v
68826500 ¥66'GT8'SY 081'626' G18'988'0% ¢ dnoi9
025792600 0££'G0Y'G.L GES'YSY'0T G6.°056'79 Z dnoio
£76TOTS0°0 282'995'29 ¥65'€00'6 888°795'€S T dnoi9 §09-500Z TMD ‘€g
902128200 808'805'62 6T0'ZSP'E 68.'950'9Z z dnoig
¥£009%780°0 009'TEE'S9 ¥28'95¢'L 9/.'%16'LG T dnoi9 ¥289-5002 IMD 25
GS/Y2TE00 LYS'0ET VT vES'T0L'T £10'621'12 Z dnoig
69E972.0°0 20v'028'65 172'568°L T61'526'TS T dnoi9 £09-500Z TMD ‘1§
698TSTE00 Z€6'6£E' 7T 9££'8€G'T G65'708'2Z Z dnoig
€0T9T270°0 L¥E'855'2E ¥80'TOT'E ¥92'LSv'6C T dnoi9 209-500Z TMD ‘0§
G0£990T0°0 eTv'vET's 260'68. 0zE'Sry'L Z dnoig
69ESYSE00 689'8.€'/2 £T2'952'C 9.1'2¥T'se T dnoi9 129-5002 TMD ‘6
G0£2L98T0 TE9'V6T ¥iT 89/'986L1 £98°202'921T Z dnaig
ZEVIBTCT O 8/1'S8T'v6 168'068'6 08576278 T dnoi9 GaVv-5002 TMD ‘8
08€2259€°0 ¥0£'820'282 LL1'TEr'reT 125'6%9'1G¢ z dnaig
12¥8Y902°0 676'757'6GT 60E'9ET'ST 079'8TE WY T dnoi9 ¥9Vv-G00Z TMD Ly
T¥12.8.0°0 £99'T6.'09 921'99T'L L£G'G29'€S Z dnoig
0¥YES0ZT 0 T72'T80'€6 T00'€0%'6 6€2'8L9'c8 T dnoi9 £9Vv-5002 TMD o
TOSE6ETT 0 07678628 r6'vEL'6 166'672'8.L Z dnoig
16GEZTCT 0 216'229'€6 80.'TT9'8 G9Z'T10'S8 T dnoi9 Z9v-5002 1TMD ‘G
6616¥022°0 262'2L2'0LT LTT'SPE LT G/T'126'2ST [eloL 19V-5002 TMD by
T.¥96€9T°0 L11'619'92T 1€6'250'9T 978'995'0TT Z dnaig
TT808E8T 0 Z09'€Y6'THT £65'2T8'VT 600'TET 22T T dnoig 6-G00Z TMD e
696.£780°0 202'T9T'S9 0£.'976'9 €Lv'712'85 Z dnaig
90229800 961'G85'99 6£8'9TE'S 159'892'19 T dnoi9 8-500Z TMD ¥A
uonng z'2.$/(9)= (9)+(p)=
) (9) () () (€ @ (1)
abejusdiad $9SS07] 18N $3SS077 18N GTOZ 1deS 10 SV dnoio 1SNJ] paJanod ‘ON
$S07] awnay ainin4 $9SS077 18N ueo]
18N payoaloud |ea1101sIH

S1SNJ | PsJan0) Q¢S 104
uonejnoje)d abejuadtad sso 18N



69 J0 0t 93ed

2292YTLS0 €€0'LL2'THY 62T'TLE'TS ¥06'G06'65E Z dnaig
288269YE°0 G2z'056'292 G/T'SYE'6Y 050'G09'812 T dnoi9 G2-9002 1MD L
T8T£0905°0 186'9.1'06€ T..'082'€9 LT2'961'12€ Z dnaig
0S0£90TE0 0,9'088'6£2Z 628'STS'EY T¥8'79€'96T T dnoig ¥2-9002 1MD 9/
270228190 Y62 STV LLY £06'952'7L Z6E'95T €0V Z dnaig
Z6SVETIE0 LYT'EEV'Ove 6E9'VL Y'Y 80G'856'€6T T dnoi9 £2-9002 1MD ‘Gl
9T£.2825°0 86G'256'20% Z7E'6.7°09 GSZ'SLL'LYE Z dnaig
662T2rIY 0 G00'T.L8'6TE 8T/'8ST'95 982'2TL'€92 T dnoi9 22-9002 1MD 87
¥1/SSSTY'0 €11'606'02€ T79'T6.°05 T€8°21T'0L2 Z dnaig
06EEY9TZ0 £81'8€T'29T LT6'06.'82 99G'/¥£'8ET T dnoi9 12-9002 1MD €l
02ESS6.E°0 T0v'S0T'€6¢ 6.£'92T'TS 220'6.6'T1C z dnaig
L0SZ9ELT0 ¥/8'60'V€T €11'28L'92 T0V'262'20T T dnoig 02-900Z MO 'zl
972502020 07S'€68'65T 290'70T'8T L1Y'68L'TYT z dnoio
295650270 G/6'92T'€6 LE1'980°CT 8£2'060'T8 T dnoig 2-900Z TMD T2
¥7090£9€E°0 £90'69€'08¢ 000'785'9 £90°28L'€ve z dnoio
61£€920Z°0 T0L'ZYE'09T 899'€89'6T ££0'659'0VT T dnoig 6T-9002 1MD ‘0L
176025590 T6G°L.6'S0S 285'162'TL 602°089' V<Y Z dnaig
v1/82€2€°0 0,0'G59'6%C 101'022'9¢ 29¢'v8E'eTe T dnoig 8T-9002 1MD ‘69
£708G8E7°0 891'889'8E€ L9v'726'8Y T00'79.'68¢C Z dnaig
TTLOLSET O 868'vTT'L0OT G88'885'8T £70'925'88 T dnoig /T-9002 1IMD ‘89
120782970 185°219'62T 887'06T'6T 660°227'0TT Z dnaig
9YTTT960°0 816'022'vL 922'0S1'2T 269'0LL'T9 T dnoig 97-9002 1MD 19
6086068E°0 ¥2£'9/1'00€ 89/'€T0'%9 955°29%'9¢C [eloL GT-9002 MO ‘99
T9¥600ES 0 96T'65E 601 0£0'/5€'8S 921'200'TGE z dnoig
9€GTS062°0 666°97E' 72T 18G'2LE'VE ZTv'7.6'68T T dnoi9 ¥T-9002 TMD ‘69
1696T79€°0 169'9¥2'18¢ 18T'L¥1'6E ¥05'66.'T¥C ¢ dnoio
¥9./%0€52°0 £00°€T¥'S6T 268'€€Z'cE TTT'6.T'29T Z dnaig
GT6E8ZST 0 661'820'8TT 159'70G'0E 8756258 T dnoio £7-9002 TMD 79
GTTZE08E0 T¥1'869'€6¢ 679'L76'CE £6.'05.'65¢C Z dnaig
8218G6YE0 076'656'692 75€'8YE'TE 88G'T19'82 T dnoi9 Z1-9002 1MD ‘€9
¥05996¥E°0 £29'720'0L¢ TSY'EV8'vE ZLT'T8T'SEC ¢ dnoi9
€12802.2°0 919'2TT'012 120'8€0'7E 68G'7.0'9LT z dnoig
€/8.¥T82°0 195'89€'/1¢ SY'696'01 TZT'66E'9LT T dnoi9 11-9002 MO ‘29
0T66651T0 £50'97L'2TT €OV'ET6'CT 679'2£8'66 ¢ dnoig
uonng z'2.$/(9)= (9)+(p)=
) (9) () () (€ @ (1)
abejusdiad $9SS07] 18N $3SS077 18N GTOZ 1deS 10 SV dnoio 1SNJ] paJanod ‘ON
$S07] awnay ainin4 $9SS077 18N ueo]
18N payoaloud |ea1101sIH

S1SNJ | PsJan0) Q¢S 104

uonejnoje)d abejuadtad sso 18N



69 J0 Tt 98ed

8€££92£0°0 G£.'002'Se 16.'896'C 6€6'TEZ 2T Z dnaig
€810.20T°0 95Z'0T€'6. /60'TS9°0T 6ST'659'89 T dnoi9 2ds-900Z 1MD 'G6
90vEYSL0'0 G70°€5Z'8S LT0'L¥0'Y 820°90Z'7S [eloL 7AS-9002 MO 6
629758700 882'681'2€ 87£'908'Z 0162897 [eloL THO-900Z TMD ‘€6
T60EY8EZ°0 £0v'SCT'v8T 0.9'T0V'ZT €EL'€TL'TLT [eloL TINI-900Z TMD ‘26
281211520 Yiv'0£6'€6T €8Y'G59°/T 196'7.2'9LT Z dnoig
£06.0E6T°0 656°20T'6VT 908'€6£'ZT ZST'60L'9ET T dnoi9 §09-900Z TMD ‘16
T08.60LT°0 ¥T.'GE0'CET 90.'76.L'ST 800'T¥Z'9TT Z dnoig
0T¥2880T 0 T0T'8E0'78 08.'956'6 22 TOT'VL T dnoi9 ¥29-9002 IMD ‘06
9€8Y//8T°0 8T1'986'vT T/E'€8G'ET LY0‘€0V'TET Z dnoig
276789800 £21'890'29 /70'686'8 G/£'6.0'85 T dnoi9 £09-900Z TMD ‘68
€TZSY6ET 0 GEZ'069'20T 900'€S0'TT 622'2£9'96 Z dnoig
/S85.0TT0 7.6'T€S'S8 972'€99'8 151'898'9/, T dnoi9 209-900Z TMD ‘88
865722210 166'201' 76 260'820°0T 66872578 z dnoig
10,92250°0 695°29€'0Y 290'LEL'Y 106'529'sE T dnoi9 129-900Z TMD 8
228€886T°0 L2V'085'€ST G8E'96Z' VT Z70'vST'6ET [eloL 109V-9002 1MD ‘98
v.vE6ZYT 0 6€9'6.E'0TT SY6'9YT'6 £69°2£2'10T ¢ dnoi9
19£6.990°0 29G'085'TS €0T'TS6'Y 6S1'629'9 Z dnoig
02.61T.L0°0 08T'T86'%S 8TZ'6vZ'6 296'TEL'SY T dnoi9 6-900Z TMD ‘68
888815/8°0 TOT'¥S8'GL9 208'296'08 662'988'65 Z dnoig
Z8Y916.T°0 8/8°1GE'8ET 66.'€T8'0C 6075 LTT T dnoi9 8-900Z TMD ‘v8
L2IYEEIE0 295'065'08¢2 100'LT2'%E GSG'€LE'91C z dnoig
£7//¥502°0 v.v',19'8ST 921'005°02 87E‘LLT'8ET T dnoi9 £-900Z TMD ‘€8
¥S0S9ELY°0 LE6'0L2'S9E 6EE'GLE'TY 86G'G6€'€ZE z dnoig
TYYEEYSZ 0 9£8'€./5'61¢ T9.'28G'L2 ¥60'T66'T6T T dnoi9 9-900Z TMD 'Z8
YSE66E6T0 Z81'608'6VT 216'9/2'61 0TZ'ZES'0ET Z dnoig
¥S0S.¥2T0 90T‘LEE'96 0T6'7S0°CT 961°282'78 T dnoi9 G-900Z TMD ‘18
96067E6T°0 T,0'T2H'6VT £58'788'ST 812'8€5'€ET Z dnoig
€SY9.7.0°0 L00'9gL'2G G88'89Z'S 2eT'191'2S T dnoi9 #-9002 IMD ‘08
667790700 L09'28€'TE 228'658 98.'125'0€ ¢ dnoig
GTS0.962°0 886'921'62¢ 15.'28v'7C 9€Z'779'70C Z dnaig
682T1T2Z0 2LL'TSL'0LT 29v'28€'81 0TE'69€'2ST T dnoig £€-900Z TMD ‘6.
ZTTLGLLE0 19.'%7.5'16¢ 902'8€£'05 GSG'9£Z'TYE Z dnaig
TZY8Y9TE0 ZET'TOV'vie G//'T0G'Sy 85€'668'86T T dnoi9 92-900Z 1MD '8/
uonng z'2.$/(9)= (9)+(p)=
) (9) () () (€ @ (1)
abejusdiad $9SS07] 18N $3SS077 18N GTOZ 1deS 10 SV dnoio 1SNJ] paJanod ‘ON
$S07] awnay ainin4 $9SS077 18N ueo]
18N payoaloud |ea1101sIH

uonejnoje)d abejuadtad sso 18N

S1SNJ | PsJan0) Q¢S 104



69 J0 Tt 98ed

¥8y.08YT°0 ¥TO'6VEYTT vy.'6L0'LT 1/2'692'26 T dnoi9 £09-,00Z TMD ‘GTT
1965¥822°0 9£Z'S2H'9LT 8£0'768'2C 86T'7ES'€GT Z dnoig
9€/8256T°0 ¥T£'808°05T G20'SYT LT 682'€99'€ET T dnoi9 209-200Z TMD YIT
8568.96T°0 T6£'896'TGT ¥/£'660'9T L70'698'SET z dnoig
218755800 805°€90'99 222'922'9 G8Z'.£8'65 T dnoi9 109-200Z TMD €11
6SG/29.€°0 £0€'7.5'06¢C 802'229'8S G60'2S6'TEC Z dnoig
877.0vEZE0 vrS LY.L 6T LTY'18E'05 L2T'09€'66T T dnoi9 6-,00Z TMD FAN)
677.958T%°0 8T.'€eT'cE 955'2¥8'29 Z9T'T6€'SGC Z dnoig
T#8818TE0 08T'LTL'SPT 1€£'296'TS 678 75T V6T T dnoi9 8-,00Z TMD TTT
9Z.LEY8EY0 0T6'L2G'8EE T¥8'201'29 690'0LT'T.2 Z dnoig
¥808¥58T°0 £6E'SET'EVT LTY'€22'62 9e6'TT0'VTT T dnoi9 /1002 TMD ‘01T
GEZTTLIV0 0£E'L16'62€ 8£2'96.'85 260'T2T'TLC Z dnoig
¥2082702°0 £96'2G.'/GT 629'L2V'7E yee'ses'seT T dnoi9 9-,00Z TMD ‘60T
£26169.%°0 6.1'TYE'89€ 189'259'99 16.'€89'T0€ z dnoig
6655222E°0 /7£'858'8v¢C G09'262'8 ZT.'095'01¢ T dnoi9 G-,00Z TMD ‘80T
95/95%9%°0 992'209'8G€E £5'T8Y'8L £16'027'08¢ [eloL #-,002 TMD "L0T
87S2T7ZE0 £00°20€'05¢ 00L'ZSE'Ey 90£'6¥6'90C Z dnaig
6586779810 G9Z'T20'vYT 969'02L'7C 69G°00€'6TT T dnoig €-/00Z TMD ‘90T
622908950 G7Z'6.9'8E yTL'0EY'08 TEG'8YZ'8GE Z dnaig
¥690608€°0 G08'0ST'v6¢ 0ET'VIv'8Y ¥19'9€.'ST T dnoio 2-100Z TMD ‘G0T
502027620 T00'v6T'222 16%'929'05 G0G‘.TS'9LT Z dnaig
T0ZELSST0 111'292'02T £€5'98/0€ ¥19'525'68 T dnoio £1-2002 TMD Y01
6.¥28TSY'0 892'916'8VE 8/2'69€'€9 066975582 Z dnaig
89025070 TT¥'G96'CTE ¥8T'857'8G 122'10S'7Se T dnoio ZT-2002 TMD "€0T
9YTTIS62°0 £82'968'22¢ Zre'sor'Ly TY0‘TEY'08T Z dnaig
61020610 050'620'GTT vrv'88L've 909‘062'06 T dnoi9 11-2002 1MD 20T
9TYZ.L6YE 0 782'0L0'0L2 8€1'278'05 ¥71'852'612 Z dnaig
86£TSTTC0 LZT'6EE'E9T 606'GTE'8E 812'€20'SeT T dnoig 0T-200Z 1MD ‘10T
/29656580 ¥68'218'€99 €/9'€86°LTT 122'628'SvS Z dnaig
269..T0%°0 €0v'292'01¢ 166'600'65 901'252'16¢ T dnoi9 T-,00Z TMD ‘00T
¥862YETy 0 ¥09'886'92¢ TES'EVL'Y £10'SvZ'zE [eloL 2SdS-9002 IMD ‘66
605986220 6TG0TS'LLT 9TT'GZ9 £01'588'9.LT [eloL 1SdS-900Z IMD ‘86
12/60SST0 856'TLL'6TT 188'751'02 L10'6TE'66 [eloL ¥dS-9002 TMD 16
85£T8Y0T 0 G20'TY6'08 ZEEVILTT 269'9.7'69 [eloL £ds-9002 1MD ‘96
uonng z'2.$/(9)= (9)+(p)=
) (9) () () (€ @ (1)
abejusdiad $9SS07] 18N $3SS077 18N GTOZ 1deS 10 SV dnoio 1SNJ] paJanod ‘ON
$S07] awnay ainin4 $9SS077 18N ueo]
18N payoaloud |ea1101sIH

uonejnoje)d abejuadtad sso 18N

S1SNJ | PsJan0) Q¢S 104



69 J0 ¢t 98ed

1S/¥.ST0°0 0,8'09T'ZT 182'8YL'E 065°ZTH'8 [eloL 1192-¥002 LIVMD ‘TET
126518100 0£2'€20'VT LTG6'216'T ¥T.'Sv0'2T [eloL g92G2-7002 LTVMD ‘0€T
¥09%79000°0 868'861 0 868'861 Z dnaig

1699.990°0 GY6'65G'TS £19'G29'9 2L2'E6' vy T dnoig g2v2-7002 LTVMD ‘62T
0£G£02T0°0 STT'762'6 1SL'1¥8'T y9EorY'L Z dnaig

1¥9887£0°0 199'076'9Z G89'/19'Y 9/6'72€'22 T dnoi9 9222-7002 LTVYMD 821
¥£58.600°0 GT9'955'2 WLELE'T £/8'28T'9 [eloL 1102-¥002 LIVMD 12T
€12V6710°0 OrE'6ES'TT GTE'TLE'T TE0'L9T0T G dnoio

¥/876700°0 809'T28'S 196'07G /¥9'08Z'S  dnolo

YEYS9000°0 G0€'S0S 0 G0€'S0S ¢ dnoig

6SYET8T00 6TZ'700'VT 125'888'T 269'STT'CT z dnaig

L66£5200°0 G91'T96'T 80T'6T¢ LSETY9'T T dnoig g28T-7002 LTVMD ‘92T
9T95£800°0 G¥6°251'9 TR AR Z8Y'8€T'9 ¢ dnoi9

T9ESE970°0 LT0'96.'SE 82.'G6E'T 682'001' 7€ z dnoig

8667796100 8Sv'LT'ST 899'899 06.'G0S'VT T dnoi9 g92/T-7002 LTYMD ‘G2T
€€620ET0°0 G7/'T90'0T 1SLYTIY'T ¥66'979'8 g dnoi9

0£0.2700°0 189'162'S 60v'GSY 8/2'7¥8'C ¥ dnolo

£8929200°0 9£5'820'C 978'861 0T.L'62S'T ¢ dnoig

042927000 80T'S.6 LIE'YT T€.'056 Z dnaig

L0v20900°0 129'069'7 921'8.2 T0SCIV'Y T dnoio g929T-7002 LTYMD RZA
£0676200°0 GYG'8ET'9 675'26€ 966'SL'S Z dnaig

608755000 rr'v8e'y 96Y'GLT 9%6'80T'Y T dnoi9 GT-v002 LIVMD '€Z1
S¥¥99210°0 0.6'6LL'6 /T0'096'T 7566182 [eloL Z1yT-v002 LIVMD KAA)
G8£66500°0 G/9'829'Y AXA A XA SYY VIV [eloL g92€T-7002 LTVYMD ‘121
612877000 LTETOV'E 280'S61 9£2'996'C ¢ dnoi9

8T¥T6000°0 896'50. 190'T 10670 Z dnoig

19/66200°0 2.8'71E'C T.T'2€ 10.'282'C T dnoi9 g922T-7002 LTVYMD ‘02T
29Y9£910°0 08€2£9'2T 620'T2Z 1SE'9TY'CT [eloL g20T-700Z LTVMD ‘61T
9/9%6850°0 926'025'SY 2700091 ¥81'025'6¢ Z dnaig

¥8Y81T80°0 670'769'29 182'09€°CT 8€.'€€€'0G T dnoi9 Zv3S-200Z IMD ‘81T
LLET8790°0 859'T50'0G G80'VLL'ET €16'212'9¢ Z dnaig

G752£990°0 620'612'TS 9/1'600°0T £58'602'TY T dnoio Tv3S-2002 TMD LTI
2028Y0YZ0 £6£'60.'G8T £95'8€G°/2 06.0.T'8ST [eloL 1AS-2002 TMD ‘91T
0Zv9S61Z°0 L18'G55'69T 261'€60'22 G20'79Y' LT Z dnoig

uonng z'2.$/(9)= (9)+(p)=

) (9) () () (€ @ (1)
abejusdiad $9SS07] 18N $3SS077 18N GTOZ 1deS 10 SV dnoio 1SNJ] paJanod ‘ON
$S07] awnay ainin4 $9SS077 18N ueo]
18N payoaloud |ea1101sIH

uonejnoje)d abejuadtad sso 18N

S1SNJ | PsJan0) Q¢S 104



69 J0 ¥ 95ed

£106.220°0 801'665'LT 06.'L9Y 8T9'TET'LT [eloL 909-700Z LIVMD ‘ST
2£575000°0 GTT'TCY 6£0'C 9/0'6T¥ ¢ dnoig

076220000 8yT'LLT 0 8yT'LLT Z dnaig

9€/£¥200°0 ¥22'288'T 826'20€ G6Z'6.G'T T dnoio g0G6-¥002 LIVMD  t¥I
82v.1£00°0 962'T51'C 16292 7eL'e8T'e ¢ dnoi9

15/98£00°0 8£9'986'C 666'00€ 6£9'G89'C Z dnoig

2086.700°0 £T2'S0L'E ¥9€'29T 878°/£5'E T dnoi9 gov-¥00Z LIVMD "SI
8yITI00°0 SV0'SLT'E 0S.'210'T £62'29T'C [eloL T1E-¥002 LIVMD ‘2T
876596100 86.'T8T'ST 9ZT'0vT'Z ZL9'TYO'ET Z dnaig

€0LE0EY00 928'7£Z'cE 6/G'782'S L¥2'056'/2 T dnoio g909€-7002 LIWVMD  'THT
¥Zy69.10°0 89T'799'ET £79'8EY'y G25'S2Z'6 [eloL Z1Ge-v00Z LIVMO  "OvT
GTY8YET00 G/6'ZTH'0T 89Y'G/T'T 10G'2£2'8 [eloL T1vE-v00Z LIVMO  '6ET
0SSTEVTO0 G/6'7S0'TT ¥89'€09 T62'TSY'0T  dnolo

165785200 G20'96'61 6£6'€90'T 980'2.8'8T ¢ dnoig

6027£500°0 £9€'SZT'Y 68.'SYT v15'6.6'S z dnoio

9ETTY600°0 118'292'2 02L'T2 1609202 T dnoig €€-v002 LIVMD  '8ET
/00758000 896'765'9 668'G26 690°699'S Z dnaig

£22€/810°0 ZrL'Sor'vT 255'016'T 06T'G5G'ZT T dnoi9 90ze-v002 LIWVMD  LET
0LE7ST00°0 Z0T'Z6T'T 0 Z0T'Z6T'T ¢ dnoi9

2eLYrLT00 60V'ELY'ET 219'2€T'T LEL'OVE'TT z dnoig

258868200 8£0'98€'2Z 1.6'06E'C 990'566'6T T dnoi9 g920£-7002 LTWVMO  "9ET
671S0T00°0 700'Z18 oLy TES'TIS  dnoio

891708000 ¥60'0TZ'9 viIv'TCY 129'88.'S ¢ dnoi9

L096T0T0°0 06.°€18'2 8y2'0v8 ZrS'ee0'L z dnoig

6.¥8.ET0°0 GET'SY9'0T 09€'02T'T G/.'725'6 T dnoi9 g0z-¥00Z LIVMD  'GET
§2290820°0 ¥£1°029'TC 988'06€'Z 878'6.2'61 [eloL 9062-700C LTVMD  ¥ET
¥¥2€1000°0 2.2'20T 0 2.2'20T L dnaig

/SSTTY00°0 002'8.LT'E 0LL'T2Y 621'95L'C 9 dnoi9

62929€00°0 896'8£8'C €19'TS G62'18L'C g dnoi9

TZI6ET00°0 SYE'VL0'T 0 SYE'VL0'T  dnoio

80606£20°0 005'€97'8T 6/2'TLE'E 122'260'ST ¢ dnoi9

GTE90TTO0 T8E'EYS'8 £65'081'T 686'290"2 z dnoig

¥EZ0LTTO0 ¥66'9£0'6 955'/¥0'T 8€1'686'L T dnoi9 g9082-7002 LTWVMD  €ET
6¥v65£20°0 ¥95'022'8T ¥10'256'T 06%'892'9T [eloL 92/2-¥002 LIVMD  2ET
uonng z'2.$/(9)= (9)+(p)=

) (9) () (€ @ (1)
abejusdiad $9SS07] 18N $3SS077 18N GTOZ 1deS 10 SV dnoio 1SNJ | patsno)d ‘ON
$S07] awnay ainin4 $9SS077 18N ueo]
18N payoaloud |ea1101sIH

S1SNJ | PsJan0) Q¢S 104

uonejnoje)d abejuadtad sso 18N



69 30 6t d98ed

¥2./706T0°0 000'60L'T ZLY'6YY'T 825'652'CT T dnoi9 L0-¥002 LIVMD ‘85T
000000000 0 0 0 ¢ dnoig

6T.TL0000 T78°€GS G78'Z 966055 Z dnaig

1SZ7£000°0 9G'y9Z 0 9%5'v9g T dnoio 90-v002 LIVMD "JST
20L92%720°0 TT6'6EL'8T S71'020'T L9L'6TL LT Z dnaig

G/67.0T0°0 T9¢'T0€'8 8%9'20€'T ¥1.'€66'9 T dnoio S0-v002 LIVMD ‘96T
961752000 T€8'656'T 19T 661°526'T Z dnaig

T/GEEL00°0 ¥16'v99'S ¥88'L€5 0€0°'22T'S T dnoio ¥0-v002 LIVMD ‘66T
8268.000°0 605°609 0 605°609 g dnoi9

GT¥6£000°0 8/€'%0€ 0 8/€'%0€ ¥ dnoio

6.6T0T00°0 7es'.8. 67E'€CT €/T'%799 ¢ dnoi9

¥T.90T00°0 G80'vZ8 £5G'c 2€5'028 Z dnoig

/288.000°0 T€.'809 85T £/5'809 T dnoi9 £0-¥002 LIVMD ST
LT6%2000°0 8TY'Z6T 0 8TY'Z6T L dnoig

201620000 9822 0 98.'v22 9 dnoi9

€8£6T000°0 289'6YT 0 289'6YT G dnoio

0¥y0YT00'0 825'%780'T LTL'6YT 118756 ¥ dnolo

69£9¥T00°0 8TE'0ET'T vov'L9 ¥58'290'T ¢ dnoig

0TE£98£00°0 9£2'€86'C 6TG'LY LT1'S€6'C Z dnaig

0226T00°0 08.€2S'T GY6'Z GE8'0ZS'T T dnoi9 20-v002 LIVMD ‘€61
T¥€LG270°0 908'9.8'2¢ /88'€66'T 026'788'0 Z dnaig

6£888020°0 0T8'0ET'9T 296'2P1'T 878'289'cT T dnoio £I0-700Z LTIVMD 28T
GTOST900°0 £8E'6YL'Y LET909'T orZ'ErT'E [eloL ZI0-700Z LIVMD “IST
90¥65000°0 6S.'851 1/8'€ 68875t ¢ dnoio

2€2T9000°0 GS8°ZLY 0 GS8°ZLY Z dnaig

¥/8T9€00°0 0£S'76L°C 080'862 0SY'961'C T dnoio TI0-7002 LTIVMD ‘05T
1858£000°0 6€6°L62 2£9'89 L0€'622 g dnoi9

¥0,09€00°0 06v'G8L'C 10L'SL ¥8./'60L'C  dnoio

20.50000°0 0£0'vY 0 0€0'vY ¢ dnoi9

TLLELT00°0 €T6'TVE'T 68Y'LT YEY'vee'T Z dnoig

9EY78700°0 966°07.L'S 8/0'€8T'T 876'265'C T dnoi9 0T(-7002 LTVYMD 67T
981627000 6ECVTIE'S ¥80'8T¢ G5Z'966'C [eloL T16-7002 LTVYMD ‘8pT
962.6.70°0 0%5'970°2E 9ST'¥SE'T £8£'769'SE [eloL g908-700Z LTVMD LT
9T.T2.00°0 99€'€.G'S 26T'9.€ vLT'L6T'S [eloL T1/-700Z LIVMD opT
uonng z'2.$/(9)= (9)+(p)=

) (9) () () (€ @ (1)
abejusdiad $9SS07] 18N $3SS077 18N GTOZ 1deS 10 SV dnoio 1SNJ] paJanod ‘ON
$S07] awnay ainin4 $9SS077 18N ueo]
18N payoaloud |ea1101sIH

S1SNJ | PsJan0) Q¢S 104
uonejnoje)d abejuadtad sso 18N



69 J0 9t d5ed

0£9€87£0°0 216'T06'92 y9v'9EE'y 871'595'2Z T dnoi9 9202-5002 LTYMD TLT
£0889800°0 0£2'60L'9 0S€'60T'T 088'66G'S ¢ dnoig

182212000 £55°005'S oL TEY 908‘890'S Z dnaig

909£8£00°0 25€'296'C 0v0'veT 21£'8£8'C T dnoig Z-5002 LIVMD ‘0LT
0SY9£210°0 8€£'8YS'6 ¥£6'788 ¥0v'599'8  dnolo

85£52520°0 €1/'T0S'6T 802'968'Z G9G'509'0T ¢ dnoig

£€£8£9020°0 00.‘LE6'ST TLT9TE'E 825'729'CT Z dnaig

8ETE0620°0 YET'6TY'ZC 6ET'OEY'T G66'286'61 T dnoi9 g907-5002 LTVMD 69T
62857520°0 858'659'6T 065'959'Z 192'€00'LT [eloL g926T-5002 LTVYMD 8971
602617700 608'92T'vE 665'G6L'E 0TY'TEE'0E [eloL 9281-5002 LTVYMD 19T
926925500 £20'789'CY 99.'90%'y 1S2'v12'8E  dnolo

€T8T050°0 0T0'ZSL'8E £18'29L'c L6T'686'7€ ¢ dnoig

€8.T¥2E0°0 L12'%£0'Se 26L'8TT'T 981'ST6'EC z dnoio

1526501070 ZCTLYE'TE 9S6'TLY'S 991'G/8'GZ T dnoio /T-6002 LIVMD ‘9971
982752600 80T'S9Y'T. 9%£'051'9 29.'%10'S9 [eloL 97-6002 LIVMD ‘GoT
29GS.TE00 968'225'7C 0Sv'9zz's Ly1'962'12 ¥ dnoio

£08TSSE0°0 T.£'821'12 129'905°C 0S.'126'7¢C ¢ dnoi9

L¥€75860°0 600'660'9. 6T9'978'6 06£252'99 Z dnoig

9TETZ800°0 LTGZPE'9 652'0vE 852'200'9 T dnoi9 ¥1-6002 LIVMD “v9T
88870700 196'€92'TE YT'ETL'Y 678'055'9Z [eloL g92€T-5002 LTYMD ‘€91
/£660220°0 6ST°226'02 19¢'708°Z 66.'S2T'8T ¢ dnoi9

9T896.£0°0 ¥S¥'0Z€'62 89Y'TGL'E 186'89G'SZ Z dnaig

612586000 999‘809'2 86v'002'T 897°80%'9 T dnoi9 g92TT-5002 LTVYMD 291
261080000 G/Z'619 22092 £52'€65 z dnoig

€8£75T90°0 18V'925 LY 969'8E1'9 T6.°280'TY T dnoi9 g920T-5002 LTYMD ‘19T
99681%20°0 9/7'089'8T 195'/¥0'T 609'2£9'/T ¢ dnoig

626%79210°0 192'89.'6 658'08Y T0v'282'6 Z dnaig

98Y.0%10°0 ¥11'698'0T LOV'TVT'C 8c/'/2.'8 T dnoio 60-7002 LTVMD ‘09T
800000000 8g 0 8g ¥ dnolo

/ZY0ET00'0 902'200'T 0 902'200'T ¢ dnoig

/8675000 WETYL'C 8TG'Z6G 128'8Y1'C Z dnaig

822257000 082'Z61'S 299'7.2 819'022'S T dnoig 80-7002 LTVMD "6ST
066TS0T0°0 GEG'SGE'S A4 0£2'€€0'8 ¢ dnoi9

YEG89ET00 8££'89G'0T 159'962 089'T/2'0T Z dnoig

uonng z'2.$/(9)= (9)+(p)=

) (9) () () (€ @ (1)
abejusdiad $9SS07] 18N $3SS077 18N GTOZ 1deS 10 SV dnoio 1SNJ] paJanod ‘ON
$S07] awnay ainin4 $9SS077 18N ueo]
18N payoaloud |ea1101sIH

S1SNJ | PsJan0) Q¢S 104
uonejnoje)d abejuadtad sso 18N



69 30 L 93ed

99vELTY00 £60'622'CE 90€'€T9'8 181'ST9'ET [eloL T1/€-G002 LIVMD ‘88T
L1ZEYTZ00 002'TSS'9T GZY'S6S'T 9//'S56'VT  dnoio

299692700 676'TL6'CE /T.'628'T TEZ'TYT'TE ¢ dnoi9

096TOT.L00 Z€0'7Y8'vS L¥7'668'9 G8S VY6 LY z dnoig

GTT6S7E0°0 009'2TL'92 STO'VYT'Z ¥85'89G'7¢ T dnoi9 9€-G002 LIVMD 18T
L6ST60£0°0 68Y'7.8'cZ 126'ST0'Y 295'858'61 Z dnoig

65¥8.650°0 0£6'29T'9Y 906'TEY'S ¥20'9gL'0Y T dnoi9 g925€-5002 LTYMD ‘98T
T89GTSE0°0 eTY'6YT LT £72'820'S 08T'T2T'C [eloL 907€-G002 LTVYMD ‘68T
690.79.0°0 0.5'€50'65 £TE'602'TT LST'r8 LY [eloL g92€£-5002 LTVYMD "v8T
916067700 0950897 AMAAN GEZ'855'ST [eloL T12£-G002 LIVMD €81
999659900 ZLY'8Tr'TS CARLA] 8vE'v2z 9y z dnaig

YEVELZZT O TZT'08L'76 LT LTLTT £16'790'c8 T dnoig 1€-G00Z LTVMD 'Z81
658292000 669'626'S 699'769 0£0'L£2'S z dnoio

6ZYEEBE00 ¥61°09'6C GE8'ZLY'S 6SE'0ET VT T dnoig g20€£-5002 LTVMD ‘181
18v..TE00 ¥TL'LES'VT 265'9.6'E 22T'795'02 [eloL 9262-5002 LTYMD ‘08T
G98T2200°0 9Ze'eTL'T 8/v'7C 678'069'T ¥ dnoio

208267200 £59'€£6'0T 688'72L'T 89.°0TZ'VT ¢ dnoi9

GZ£658T10°0 9TY'8GE VT 9TS'VLT'C 668'€8T'CT Z dnoig

GT0068£0°0 7.1'070'0E 95£'869'y 818'TYE'Se T dnoi9 9282-5002 LTYMD ‘6.1
80¥8.£20°0 696'99€'8T 908'81'z Z9T'816'ST ¢ dnoig

¥868522T°0 ¥£5'899'76 299'969°L £/8'T/6'98 Z dnaig

162.66GT°0 L02'LES'€2T €21'1E6'TT £81'665'TTT T dnoi9 /2-6002 LIVMD ‘8.1
Z6ST8TY00 8€8'T62'E TVL'6ST'Y L60°2ET'8T [eloL 9292-5002 LTYMD LT
102269200 L¥2'061'02 9T.'898'E T€G'T26'0T [eloL T152-5002 LIVMD ‘9.1
95£58980°0 6T9'TL0'29 TET'98L'9 881'582'09  dnolo

YYTLEVY0'0 GT£'59Z'vE G89'T8Z'E 629'€86'0S ¢ dnoig

£96T96£0°0 £8/'565'0€ 115'68Z'E G0Z'90€'/2 Z dnaig

08£T6250°0 9%0'298'0Y 121'902'S 6T6'GS9'GE T dnoi9 ¥2-6002 LIVMD ‘6.1
2v.1282v0°0 296'2L0'€E 1ST'LTL'E G0.'SGE'62 [eloL g92€2-5002 LTYMD LT
0TE62720°0 950'09.'8T €90'SVS'y £66'91Z'VT [eloL 1122-G002 LIVMD ‘€LT
6..5.950°0 T2G'0£8'EYy L19'TET L 77788699 [eloL g927T2-5002 LTYMD ZLT
/92SST000 620'66T'T 987' T SVL'.ST'T  dnoio

€1/0£5€0°0 696'59Z'/2 0£9'6TH'E 6ES'IV8'ET ¢ dnoi9

G9558%720°0 v.Lv'v6T'6T 9/6'700'C L6V'T6T'LT Z dnoig

uonng z'2.$/(9)= (9)+(p)=

) (9) () () (€ @ (1)
abejusdiad $9SS07] 18N $3SS077 18N GTOZ 1deS 10 SV dnoio 1SNJ] paJanod ‘ON
$S07] awnay ainin4 $9SS077 18N ueo]
18N payoaloud |ea1101sIH

S1SNJ | PsJan0) Q¢S 104
uonejnoje)d abejuadtad sso 18N



69 Jo 8t d5ed

0.186050°0 £00°0LE'6E T06'0VE'TT L07'620'82 Z dnaig

902082000 G58'€9T'C 98¢'/6G 691'99G'T T dnoio 21£5-6002 LIVMD ‘502
9T¥59250°0 GEL'TTS' Y 85v'89T'S L12'75E'6E [eloL 9225-5002 LTYMD "v02
L£86Y60T°0 70885578 0ET'65T'8 7196659, ¥ dnoio

2€£5£98T°0 €TT'606'SHT 892'826'91 G78'086'92T ¢ dnoi9

675588210 80T'205'66 680'€86'8 670'725'06 Z dnoig

LEGE0TOT 0 £6£'€20'8.L 876'828'L GEV'Y6T'0L T dnoi9 15-G00Z LIVMD €02
G/LTETTO00 186'c/8 vOT'T 118'2.8 ¥ dnoio

€0LETYTO0 €ST'L16'0T 979'80T'T /£5'808'6 ¢ dnoi9

¥I¥S.600°0 816'2€G'2 0/5'698 876'299'9 Z dnoig

2L190EY0°0 825'852'€E 6ET'TEL'S 06€°225'L2 T dnoi9 9205-5002 LTYMD 202
¥6v96550°0 £52'8TC'EY T.L'T6L'S z8y'9Ty'Le [eloL 9267-5002 LTVMD 102
0.6TE090°0 T9T'T85'9Y 122'LEE'0T YE6'EYT 9 [eloL T187-G002 LIVMD 002
8T82.E.0°0 G0.'SE6'9G 1.2'79L°01 YEY'VLT O [eloL g92/7-5002 LTYMD ‘66T
€T18950T0 086'0T9'T8 AR TAA 9£9°22£'69 [eloL g9297-5002 LTVYMD ‘86T
9%92T8ST 0 LST'TIT'CCT 068'608'L L9E'TOE'YTT ¢ dnoig

60996810 T/2'L£0'STT 259'06T'S 029'9%8'60T Z dnaig

66.59660°0 989'656'9. £80'659'9 209'00€'0L T dnoio G7-6002 LIVMD ‘16T
€1276770°0 £81'90L'7E Z10'8YE'y T/1'8G€'0E Z dnaig

8788T8TT0 ¥£9'692'16 G2/'780'9 606'v8T'G8 T dnoio ¥7-5002 LTVMD ‘96T
6827£500°0 £86'SCT'Y 89¢'GET GT9'066'S G dnoi9

¥¥691020°0 809'G/S'ST 165'221'T LTZ'€ST'VT  dnoio

¥269.500°0 ¥22'aSy'y TTT'VLT eTT'18C'Y ¢ dnoi9

£9626.00°0 ¥95°€2T'9 GT/'S0€E 678'218'S Z dnoio

¥£2T8620°0 £22'220'cT 9€0'/8€'C 181'S£9'02 T dnoi9 £7-600Z LTVMD ‘G6T
1S/79£90°0 €/0'TST'6Y 99¢'691'01 10.'789'8¢ [eloL 92Z7-5002 LTVYMD V61
T.066E60°0 L6T'€85'CL TTL'6.E'9 981'€02'99 Z dnaig

160207900 0v0'8L1'6Y G68'ETH'9 YYT'v90'sy T dnoi9 T$-G00Z LTVMD €61
1SE08770°0 0.6'865'7€ 2€L'996'7 8£2'7£9'62 [eloL g9207-5002 LTVYMD 261
ZE680ET0°0 690'80T'0T /S6'€€0'T TIT'7.0'8 Z dnoio

218507200 9/2'9./5'8T £80'6Y1'E €6T°L2T'ST T dnoi9 #-5002 LTVYMD ‘T6T
¥2608T00°0 GOT'/6€'T 0 GOT'/6€E'T z dnoig

0£¥80690°0 8TG'6YE'ES G90'TY6'L £Sv'801'SY T dnoi9 g90€-5002 LTVMD ‘06T
T¥G6G29€°0 TYT'TL8'€82C 8£9'GEZ'€T £06'5£9'09¢2 [eloL 8£-G00Z LTVMD 68T
uonng z'2.$/(9)= (9)+(p)=

) (9) () () (€ @ (1)
abejusdiad $9SS07] 18N $3SS077 18N GTOZ 1deS 10 SV dnoio 1SNJ] paJanod ‘ON
$S07] awnay ainin4 $9SS077 18N ueo]
18N payoaloud |ea1101sIH

S1SNJ | PsJan0) Q¢S 104
uonejnoje)d abejuadtad sso 18N



69 J0 6t 95ed

820.1TE0°0 118'0L0'7C 955'9T6'T T2E'¥5T'2e [eloL 92/9-5002 LTVYMD ‘612
6E676872°0 9/1'8Y2'26T 986'2.0'6T 06T0LT'ELT Z dnoig

20GE2LL0°0 6T8'€r9'65 G89'99%'y YET'LLT'SG T dnoi9 99-G00Z LIVMD ‘812
6TE2E8S0°0 ¥8€'6£0'SY 985'/£6'9 86.'T0T'8E z dnoig

£9T109650°0 6£9'920'9Y 892'182'9 0L£'SYL'6E T dnoi9 9259-5002 LTVYMD A
9%£T0200°0 €/8'%85'T 812015 G6S V70T ¢ dnoi9

G7/€8520°0 299'256'61 9//'986'T 988'596'/T Z dnaig

876582800 GZy'8r8'/9 675'219'6 9/8'0£Z'8S T dnoi9 92%9-5002 LTVYMD ‘912
2628YEE0°0 98/'958'SZ 252'608'C £€G'L¥0'ET g dnoi9

G£590220°0 ¥0.'6€0'LT 6TE'TIE'T ¥8€'8/9'GT  dnoio

£6.5£550°0 86v'6YL'CYy 028'8TL'E 8/9°0£0'6E ¢ dnoi9

8TETLIT00 055'906'ZT 86.'202'T ZSL'€0L'TT Z dnoig

1.000%790°0 6.L'€Ti'6Y ¥26'200'E G58'02i'9Y T dnoi9 £9-6002 LIVMD ‘6T
€68TISYZ0 ZST'062'681T 9€T'Z8L'61 GT0'805'69T z dnoig

222852810 08Y'Z¥8'0rT 87€'05Y'TT ZET'T6E'62T T dnoi9 29-6002 LIVMD QAN
/82615800 ZL1'68.'G9 89¢'Si's v08'ErE'LS z dnoig

0T0Z£980°0 659'659'99 £/1'869'8 98%'796'2G T dnoi9 19-G00Z LIVMD ‘€12
€T¥21990°0 895°€90'TS £8G5'7€Z'8 986'828'CY [eloL 1109-G002 LTVMD KA
97069550 /82'089'€TY 0.1'291'LE LTT'8T2'9.€ Z dnaig

0v8T9Z6T0 vz LrL'eyT TV2'STY'ST G00‘ZEE'EET T dnoi9 65-G002 LTVMD 112
S70Z¥S8Z°0 T16°2T¥'02¢ ¥T1'659'8C L6E'€GL'T6T [eloL 85-G00Z LTVMD ‘012
¥¥120950°0 ¥88'79Z'cY G8G'€00'8 662'852'SE ¢ dnoig

£095£250°0 yTETEV OF 10.'798'y 809'695'SE Z dnaig

¥2/00TE0°0 996'776'€Z £95'6/G'C Z0v'S9€'TZ T dnoig 99/5-5002 LTYMD 602
TLEVYY0T0 T0v'559'08 T6T'66.°0T 0T2'958'69 g dnoi9

8/8€0£0T°0 6S1'0LG'6. 962'909'9 £9T'%96'2. ¥ dnoio

T89TEY80°0 0%9'ZTT'S9 879'662'9 220'€18'8S ¢ dnoi9

€€/8€52T0 GYZ'06.'96 10£'600'6 ¥76'08L'28 Z dnoig

/SY8T9SE0 £62'650'S.¢C £86'/81'8C 0.2'T.5'92 T dnoi9 95-6002 LIVMD 802
T.V6ETE00 G8T'vYe've L0V'LL2'E 8/1'996'0Z Z dnoig

62252EY0°0 G90'TOV'EE SYT0S6'E 226'0L1'62 T dnoi9 9255-5002 LTYMD 102
G966G250°0 8£9'081' vy 161'95.'L T78'€2L'9 ¢ dnoig

1€2.6620°0 09.'SPT'EC 8ST'V.G'E 209'T.LS'6T Z dnaig

55999900 £99'T81'TS 20£'609'6 19€'2/8'TY T dnoi9 90%5-5002 LTVYMD 902
uonng z'2.$/(9)= (9)+(p)=

) (9) () () (€ @ (1)
abejusdiad $9SS07] 18N $3SS077 18N GTOZ 1deS 10 SV dnoio 1SNJ] paJanod ‘ON
$S07] awnay ainin4 $9SS077 18N ueo]
18N payoaloud |ea1101sIH

uonejnoje)d abejuadtad sso 18N

S1SNJ | PsJan0) Q¢S 104



69 30 0 d3ed

PYETYOTT O 95%'59Z'G8 €81'629'8 €L9'T¥9'9L v dnoig

£9€578£0°0 2G€£'569'6C 6.0'196'T €12'82L'12 € dnoio

18829EYT 0 T/9'ST6'0TT 99'v9r'9 G20'TSK'v0T Z dnoio

T18298€T0°0 162'602°0T TIETLOT 088'/€9'6 T dnoi9 ¥8-G6002 LIVMD  '9€2
9£5¥0080°0 990'vT8'T9 692',08'9 162'900'GS [e10L 90€8-G002 LTVMO  'SEC
166.9%2T°0 295'282'96 908'€0L'TT 95/'8/5'78 [e10L 28-G002 LIVMD €2
£0/5888€°0 19T'062'00€ 0.1'96G'0€ L6€'€69'692 [e10L 18-6002 LIVMD  '€€2
09€07770°0 6Y1'062'vE G80'0S6'€ ¥90°07€'0€ G dnoi9

88298080°0 G8E'SYY' 29 922'¢88'S 6ST'295'95 v dnoig

128161200 810'8€5'GS GGE'/TT'S £99'0T#'0S ¢ dnoi9

16£52.20°0 €6T'9Y0'TC 698'00%'2 £2€'s79'8T Z dnoio

986G8T.0°0 T16'26%'GS 210'206'L 6£8'065' LY T dnoi9 4008-G00Z LTVMO  '2€C
179156200 689'€6.'2C 6£8'9G'S 0S8',22'6T Z dnoio

82T€0620°0 €80'6TH'2C OrP'1SS'E ¥19'198'8T T dnoio 99/-5002 LIVMD  'T€2
20TZ¥690°0 165'609'€S 166'G6S'L 095'€T0'9Y [e10L 906/-5002 LTVMO  "0€Z
GE6YLL0T0 €Y1'802'€8 650'v7L'8T ¥80'79v' 79 Z dnoio

65908260°0 196'625'GL L16'SL6'YT G86'S55'09 T dnoi9 T12/-600Z LIVMO  '622
11€2/880°0 996'€06'62 979'856'C 02€'G76'92 ¢ dnoio

LYS8YT8E0 0.5'/6G'762 199'6€2'9Z 806'€9€'89Z Z dnoio

Z880THYT 0 Z0£'982'TTT Z70'268'0T 092'76€'00T T dnoio 9/-6002 LIVMD 822
11052700 7££'881'9¢ 8£5'G/1'S G6.'2T0'TE [e10L 906/-6002 LIVMD 122
0T065590°0 ¥91'759'05 22T TIS'TT EV6'6ET'6E [e10L T1¥/-G00Z LIVMO  "922
18055620°0 80€£'028'2¢ 69V L¥Z'E 6£8'2.5'6T Z dnoio

G87E08T00 G6T'LZ6'ET 0£5'976'T G99'086'TT T dnoi9 40€/-600Z LTYVMO  'SZZ
88577220 66.'87E'SLT 289'€T2'12C OYT'SET'ZST [e10L 2.-5002 LIVMD 122
¥08T19.¢0°0 95¥'221'9€ orz'88z'y 0TZ'¥8Y'ZE [e10L T/-6002 LIVMD €22
92007850°0 6221987y 06.'28T'L 6EV'¥89'LE [e10L 900/-5002 LTVMD 222
LESBETO0°0 196'2/0'T 0 19G'2L0'T Z dnoug

¥209£090°0 858'2T9'9Y GET'E80'8 £21'625'8€ T dnoi9 909-5002 LIVMD ‘122
6LELEEYT O 689'8T.L'0TT GS8'TTH'0T ¥€8'90€'00T [e10L 69-G002 LIVMD 022
uonng z'2.$/(9)= (9)+(1)=

() (9 (S ) (e (@ m
mmmucwo\_wn_ S8SS07] 19N S9SS07] 19N GT10¢ .uQmw JO SV Q:o\_mu 1SnJ] pPalsn0)d ‘ON
$S07] awnay ainin4 $9SS077 18N ueo]
18N payoaloud |ea1101sIH

S1SNJ | PsJan0) Q¢S 104

uonejnoje)d abejuadtad sso 18N



6930 16 d8eg

8€/T8ET00 £0£°0L9'0T 178'756'T Z9v'8TL'8 T dnoi9 £0-G002 LIVMD 672
1¥256200°0 656'6.2'C GYS'TYT YIV'8ET'e z dnoig

859669500 G9T'0.5'82 891'€08'E 9669972 T dnoi9 20-6002 LIVMD ‘82
€18992/0°0 T7.'816'65 88Y'v05'01 £52'vL1'6Y [eloL ¥T0-5002 LTVYMD 19T
G52£6020°0 L06'79T'9T £8T'SYT'E ¥2.'6T0O'ET Z dnaig

ZEYES900°0 £2L'112'S 298'€€S 198'€y.'y T dnoio £T0-G002 LTVYMD ‘org
GZZZ0EYT 0 ¥T2'LYY'0TT /S5'%56'S 959°26%'70T Z dnaig

162£5E20°0 600'€LT'ST 1/2'€66'C 8€L'6LT'ST T dnoio ZI0-5002 LIVMD ‘Ghg
000000000 0 0 0 L dnoi9

T.¥87000°0 GTE'VLE 0 GTE'VLE 9 dnoi9

108520000 Zr2'66T 0 Zre'66T g dnoi9

9%TTE000°0 ¥25'0vC 0 ¥25'0vC ¥ dnoio

805262000 299'85T'9 119'LTY'T G86'0VL'Y ¢ dnoi9

989£00T0°0 Gv8'0S.L L 625'076'T 97G'018'S z dnoig

82202700 LSE'T61'CE 9T0'v9Y'L T9E°220'S2 T dnoi9 TI0-5002 LTVMOD R4
€TL0£210°0 £€0'70S'6 LTT'8TY'T 976'G80"2 Z dnoig

9TZSSTS00 8£5°0T8'6 962'982'9 AR T dnoi9 0T(-5002 LTVYMD €7
0586.000°0 GE9'9T9 G08'vT 628709 L dnoig

0£220000°0 7€8'sS 0 7€8'sS 9 dnai9

v¥8TTL00°0 SET'L61'S 27£'008 128'969'7 G dnoig

071000000 080'T 0 080'T  dnolo

1€870200°0 €8/T85'T Zre'seT TYY'ory'T ¢ dnoi9

656880000 276989 0 276989 Z dnaig

G86595T0°0 621'€60'CT 252'128'C 118'T12'6 T dnoio 10-5002 LTVMD e
G/660SYT°0 9£G'TS0'CTT 850'SYi'ET 8/1'909'86 [eloL TINI-G00Z LTVMD QA%
0££690T1Z°0 189'G0.'29T 6LL'L2E'TT 206'LLE'TST z dnoig

9T221£90°0 L2E'SyL'8y 960'TE0'E TEZVTL'SY T dnoi9 THV-G002 LTVMD 0re
T¥/%2800°0 ¥96'89€'9 0/8'07L ¥60'829'S ¢ dnoig

028092000 TST'T0'C vEL'TOY LTY'219'T Z dnaig

§687722£0°0 998'€06''Z 788'TrZ'e ¥86'7199'T¢C T dnoi9 g926-500Z LTVMD "6ET
TE6EETST 0 Z0T'LE0'0VT ¥86'086°LT 671°950'22T [eloL 9298-5002 LTYMD ‘8€T
€00.ET00°0 886'250'T £99'7S G2€'S00'T ¢ dnoig

60.900TT°0 986'.66'78 112'80G'TT 60.'687'EL Z dnaig

9E6TYY.0°0 £SY'691'2G 262'T01'L 797°890'05 T dnoi9 9268-5002 LTVYMD L€2
uonng z'2.$/(9)= (9)+(p)=

) (9) () () (€ @ (1)
abejusdiad $9SS07] 18N $3SS077 18N GTOZ 1deS 10 SV dnoio 1SNJ] paJanod ‘ON
$S07] awnay ainin4 $9SS077 18N ueo]
18N payoaloud |ea1101sIH

S1SNJ | PsJan0) Q¢S 104
uonejnoje)d abejuadtad sso 18N



69 30 7§ 98eg

9ETEZ6Y00 92£'810'8E Try'vE8'y G88‘c8T'ce [eloL 92/2-9002 LTYMD 1.2
85Z6TE0T 0 0£2'689'6. ove's/i'e G88'ETZ'TL [eloL 9292-9002 LTVYMD ‘042
978057800 80109259 180'675'8 82€'TTL'9G [eloL 9252-9002 LTYMD 692
118252970 08£07G'GeT 8£2'702'8T Zr1'60€'20T [eloL 90%2-9002 LTYMD "89¢2
/S06.8YT°0 L2L'TO6'YTT T06'LSL'VT 928'€¥T'00T Z dnaig

TOETTZO0T 0 ¥15'558'8. 868'700'TT 9%9'058'29 T dnoi9 92€£2-9002 LTVYMD 192
2.0T6860°0 ¥79'285'9. 11G'920°ET L€0'9GE'E9 [eloL g9272-9002 LTVYMD 992
ZrTYeSLT 0 ¥80'82€'GET 680'229'CT 966'G59'TZT [eloL 9202-9002 LTYMD "G9¢
028206.2°0 8/T'9.%'ST¢ £19'098°22 GEG'STY'/8T [eloL g926T-9002 LTVYMD "¥9g
210242220 62T'758'SLT 1STTVE'ST 2/8'215'2GT [eloL 9281-9002 LTVYMD €92
Z6TEEHTIT 0 ¥779'25T'26 8€8'8YE'ST G08‘€08'9. [eloL T1/7-9002 LIVMD 292
vE9Y2ZL00 0LE'T6L'SS SeY'ErL'L v.8'/v0'8Y [eloL 929T1-9002 LTVYMD ‘192
8.VEY6TIT 0 2.0'2€2'26 LST'6CT'ET GT6°20T'6L [eloL g925T-9002 LTVYMD 092
926906070 12v'122'v8 810'26.'0T 6.E'0SY'EL [eloL govT-9002 LTVMD 65T
1S¥6970T°0 ¥.0'678'08 L¥S5'789'ST 125'%9T'S9 [eloL T1ET-9002 LIVMD 852
G//S/9ST0 062'750'TCT 16.'6£9'ST 00S'VTH'S0T [eloL g9221-9002 LTYMD 152
G29€8£90°0 18.'962'6Y 8€0'5.Z'Y £7.'720'Sy ¢ dnoi9

£6695570°0 0£8'06T'SE vre'zLT'y 981'816'0S Z dnoig

882528170 L9E'6TE'T6 v10'2€2'6 262'180'28 T dnoi9 g92TT-9002 LTYMD 952
19927000 L6E'8TY'E 7S8'€T12 GvG'v0Z'E Z dnoig

670ST.T0°0 652 VY2 T 270'905°2 LTZ'8€L'0T T dnoi9 60-G00Z LTVMD G52
88¥5.000°0 9v6'28S 0 9v6'285 Z dnaig

L1876TT0°0 G62'122'6 GST'EET'T TYT'760'L T dnoi9 80-G00Z LTVMD LT
120000000 29T 0 29T z dnoig

9//659T0°0 zey'L18'eT 8T2'185°C ¥02'9€2'0T T dnoi9 /0-G00Z LIVMD €62
£7000000°0 Gee 0 Gee ¢ dnoig

825217000 16G'206 89G'T 0£0'906 Z dnaig

¥9£99200°0 ZST'816'S 8yy'8rz'T ¥0.'699'y T dnoio 90-5002 LTVMD 2S¢
66928T00°0 898°0T#'T £0L'TSC 99T'65T'T Z dnaig

116280200 0%9'€2T'9T G0v'T80'E vEZ'2r0'ET T dnoio §0-G002 LIVMD 162
G5€/G0£0°0 850°0T9'€Z ¥9v'988 ¥65'€2.'2C Z dnaig

9ET9ZEE00 989'G89'GZ GOE'LTT'Y 12€'89G'TC T dnoio ¥0-G002 LIVMD 052
¥9¥62T00°0 89/'666 879'€CT 021'9.8 ¢ dnoi9

T¥¥095T0°0 97€'050'CT v¥6'€9L'C £1£'982'6 Z dnoig

uonng z'2.$/(9)= (9)+(p)=

) (9) () () (€ @ (1)
abejusdiad $9SS07] 18N $3SS077 18N GTOZ 1deS 10 SV dnoio 1SNJ] paJanod ‘ON
$S07] awnay ainin4 $9SS077 18N ueo]
18N payoaloud |ea1101sIH

S1SNJ | PsJan0) Q¢S 104
uonejnoje)d abejuadtad sso 18N



69 30 ¢6 d8eg

vy.7€29T°0 098'0/£'SCT £00'896°CT 1S8°20%'2TT Z dnaig

G6ET80920 9eY'0TY'T0C 1¥S'1S2'vT 688'2ST' LLT T dnoio 929-900Z L1VMD ‘162
£8£210.0°0 G8Z'ZST'VS 966'69T'TT 882'786'CY [eloL 215-900Z LTVMD 062
8£8562£0°0 TTL'TSP'ST 89/'9/6'C eV6'v.L1'CT z dnoig

GZ60TTL00 L9Z'€T6'YS ¥68'€LE'9 £1£'655'8Y T dnoi9 g01-9002 LTVMD 682
£62067780°0 192'595'S9 786'9¥8°CT G8Z'8TL'CS [eloL 9%-9002 LTVMD 882
£ZYTO8YT 0 FANAA AN £90'GST'EC 6vT'LYT'T6 Z dnaig

290062970 G70'86.'SZT 29€'986'€C 289'798'10T T dnoi9 T1Sv-9002 LIVMD 182
202.£250°0 999'€i'0Y 782'69€'E G8E'YL0'LE ¢ dnoi9

89/%5000°0 A RAAY 0 A RAAY Z dnoig

9T67009T°0 Z70'965'€2T 886'685'9T ¥50'902'20T T dnoi9 g92€7-9002 LTVYMD ‘982
€/£T8700°0 8ve'LTL'E 6TL'€S9 629'€90'E Z dnoig

2€9205.0°0 €/1'8€6'2G 16.'808°0T L1E'62T LY T dnoi9 Z7-9002 LIVMD 'G8Z
00€2GSTOT 0 92G'8E'8.L 89Y'/6G'TT 850'T¥8'99 z dnoig

LOEY86ET 0 0€T'266'L0T 87" /81'ST 28.'705'26 T dnoi9 g92T#-9002 LTVYMD "v82
802872800 ¥6.'G69'€9 620'969'TT 99/'666'1G Z dnoig

¥¥287080°0 ¥65'TST'29 £6v'S0G'TT T0T‘9¥9'0G T dnoi9 T10%-9002 LTVMD €82
001560800 9EY'€15'29 206'T8S'8 YES'TE6'ES Z dnoio

G8G9TTYT 0 829'€T0'60T 686'062'ST 6€9'72L'€6 T dnoi9 g926£-9002 LTVYMD 282
T¥¥8¥080°0 GTT'EST'29 oPY'6EE'ST 699'€T8'9Y Z dnoig

¥226960T°0 975'80L'7'8 850'72h'TC 851'982'€9 T dnoi9 219€-9002 LIVMD ‘182
ZT06SYET 0 T09'GE6'€0T GEB'TL6'ET 999'€96'68 [eloL 92G£-9002 LTVYMD 082
£82T£850°0 ¥8'T€0'SY v70'8YT'8 T7E'€88'9E [eloL ¥£-9002 LTVMD 6.2
08£5¥580°0 0,9066'G9 T.L'78T'8 668'508'/G z dnoig

0595.%50°0 /¥0'S8Z'¢y ¥70'885'S 7€0°269'9 T dnoi9 g92€£-9002 LTVYMD ‘8.2
6.S0E¥0T 0 068'875°08 181'856°01 80.'065'69 [eloL 922£-9002 LTVYMD 112
0.0%7969T°0 266°200'TET £69'9/6'9T 00£'920'%TT [eloL g92T£-9002 LTYMD ‘9.2
698702900 9/€'%51'1S /08'00€'8 69G'€SP'EY Z dnoig

88959600 826'9vE'8E £09'STT'6 GZE'TET'6C T dnoi9 T10£-9002 LTVMD ‘612
/68560520 670'008'€6T 605'820'92 YrSTLL' 9T [eloL 922-900Z L1VMD 12
89722600 160°2L0'SL 852'G/9'TT 6€8°96€'€9 ¢ dnoi9

¥£0T8580°0 £00'992'99 GEE'GE9'TT 219'0£9'€S z dnoig

G0SYEEZ00 9£6°220'8T £25'1¥9'C €T'08E'ST T dnoi9 1162-9002 LTVMD ‘€12
/SE0EZIT0 G80'G2.'98 887'869°01 165'920'9. [eloL 9282-9002 LTVYMD KX
uonng z'2.$/(9)= (9)+(p)=

) (9) () () (€ @ (1)
abejusdiad $9SS07] 18N $3SS077 18N GTOZ 1deS 10 SV dnoio 1SNJ] paJanod ‘ON
$S07] awnay ainin4 $9SS077 18N ueo]
18N payoaloud |ea1101sIH

S1SNJ | PsJan0) Q¢S 104

uonejnoje)d abejuadtad sso 18N



69 30 t§ d8ed

6.7.2€0°0 150'969'SZ 0ST'8£9'Y L06°250'TZ T dnoi9 /£-9002 LIVMD ‘90€
298895£0°0 GOT'095'/Z G6.'780'E 0TE'SLY' VT [eloL 90-9002 LTVMD ‘G0E
0902£T00°0 12v'850'T 0 12v'850'T ¥ dnolo

169622000 G08'€LL'T 0 G08'€LL'T ¢ dnoig

LEVZLTYO0 WT'T2Z'CE 95.°299'% 06£'€55'L2 Z dnaig

6EYTZ990°0 G9Z'EET'TS 09.'822'CT G0S'706'8E T dnoi9 G0-9002 LIVMD "v0g
80£€6EL0°0 TE6'€60'LG 82£'881'01 £09'509'9Y Z dnaig

¥8682120°0 128'071'9T 86Y'EYS'E 625'168'CT T dnoi9 ¥0-9002 LTVMD "€0E
9%169200°0 SY1'8.0'C 265'28 ¥58'G66'T  dnolo

¥2££9000°0 170'68% 0 170'68% ¢ dnoig

¥£082000°0 £61'912 0 £61'912 z dnaig

¥££0.620°0 G70'8£6'2Z T08'TIT'E £v2'928'61 T dnoig €0-9002 LTVMD 208
066659500 7€8'€92'82 785'785'E 6YY'TTL'VT [eloL 20-9002 LIVMD ‘T0E
209€0210°0 £98'GST'ET 605'226'T GGE'E8T'TT Z dnoio

£168202T°0 £7.'888'26 LLE9LY'ET L9E°TTY'6L T dnoi9 10-9002 LIVMD "00€
6S0T2800°0 1¥9'92L'9 ySy'ves £61'268'S ¢ dnoig

GEISYZED0 620'%790'SZ G80'v26'T EV6'6ET'EL Z dnaig

1S0¥T920°0 869'98T'0Z v19'9€8 ¥22'05€'6T T dnoig €AH-900Z LTVMD 662
1%.9.990°0 TEE'095'TS 698°ZrS'S 29v'L10'9Y  dnolo

192587£0°0 905'%16'9Z 0LV'6EE'E 9£0'G.G'€Z ¢ dnoig

¥T.92810°0 18G°90T'¥'T 800'256 €/G'6YT'ET Z dnaig

ZL¥¥S990°0 65E'88€' TS 982’ VS'ET €L0'TV8'LE T dnoio €TAH-9002 LTVMD ‘862
¥¥807902°0 9E1'96€'6GT 9/0'G59'8T T9E'TYL'OVT [eloL ZTAH-900Z LTVMD 162
TOE9T8ST 0 ¥8Y'6ET'2CT 996'€£0'6 81G'SOT'ETT [eloL TTAH-9002 LTVMD 96
GY6E85T0°0 G28'TEZ'eT eSy'EyL 7.E'881'TT  dnolo

GEZBEEE00 T¥8'98.'SZ 189'26T'S 091'685'0C ¢ dnoig

06920%7£0°0 ¥98'9/2'9¢ FARAVRSX 259'616'22 Z dnaig

G88TTEI0°0 vLL'Tvl'8y 122'769'S £55'870'Ey T dnoig 0TAH-900Z LTVMD "G6C
299229070 622'2£0'28 9%0'L0E' YT ¥81'G2L'L9 [eloL 716-900Z LTVMD "v62
TTT.¥0T0°0 681°980'8 9SY'0TH'T £€1'G19'9 Z dnoig

2L08.TL00 G6L'TEV'SS 26T'126'L ¥09'20G'LY T dnoi9 718-900Z LTVMD €62
0EYSSTO0'0 882'00Z'T €96 GZL'66T'T ¢ dnoig

L€189220°0 LTY'STS LT FAXAI XA G0Z'88€E'ST Z dnaig

9EYeYLIT 0 675'6.9'06 689'72T'CT 098°955'8/ T dnoi9 92/-900Z LTVMD 262
uonng z'2.$/(9)= (9)+(p)=

) (9) () () (€ @ (1)
abejusdiad $9SS07] 18N $3SS077 18N GTOZ 1deS 10 SV dnoio 1SNJ] paJanod ‘ON
$S07] awnay ainin4 $9SS077 18N ueo]
18N payoaloud |ea1101sIH

S1SNJ | PsJan0) Q¢S 104
uonejnoje)d abejuadtad sso 18N



69 30 66 d8eg

9€/€92.T°0 GTE'8LT'LET G6T'60T'6 6T7'690'82T T dnoi9 120-9002 LTVMD ‘G2E
G622£89E°0 G/6'TEY' V8T 89G'7£6'7€ L0V'861'16¢C Z dnoig

9%56£2.0°0 TT.'291'65 7S TER'Y 0.T'9E6'%S T dnoi9 6V0-900Z LTVMD 8745
19/98€TT0 6£6'2£6'28 0TT'0£2'CT 0£8'20L'GL z dnoig

9S/¥¥0ST°0 6TETST'OTT 6S6'GLT'ET 65E°S00'€0T T dnoi9 8V0-900Z LTVMD ‘€28
682592£0°0 066'920'6C 86v'220'C Z6V'%50'L2 ¢ dnoig

97£680.T°0 6TV'0L6'TET €S2'6LY'TT L9T'T67'02T Z dnaig

T/T980TE°0 812'650'0v¢C G8Y'016'8C €eL'8YT'TIC T dnoi9 LV0-900Z LTVMD '72e
06£S0TT00 072958 G05'892 GE.'192'8 Z dnaig

ZVT90S6€°0 GEY'T80'S0E LYT'TI6'TY 882'0LT'€92 T dnoi9 9v0-900Z LTVMD ‘128
YYTE99TT 0 0£2'290'06 0vS'281'0T 069'625'6. z dnaig

¥92956.T°0 260'599'8€T 25.'258'7T TYE'2I8'eCT T dnoig £V0-900Z LTVMD ‘028
0696.29T°0 6ET'6.5'62T 892'T61'LT 0.8'280°2TT [eloL 22¥0-9002 LTVMD ‘6TE
TVEE6SLG0 GS9'/G. Vi 226'882'59 £€.'891'6.€ [eloL 12V0-9002 LTVMD ‘8TE
8TZ9Y8Y.°0 £26'066'L.S /91'862°09 1S.'269'L1S [eloL Zv0-900Z LTVMD LTE
958€1209°0 L92'766'79 879'670'95 879'v/6'80Y [eloL 6TV0-9002 LTVMD ‘9TE
¥099990Z°0 89€'565'6GT L10'€EE'TT 062'292'8€T [eloL 8TV0-9002 LTVMD ‘GTE
0ETSTOY00 29€'900'TE L7T'9GS'E ¥12'0G'L2 z dnoig

9/802STL0 G/E'TTE 2SS 955'€01'29 028',06'68% T dnoi9 LTV0-9002 LTVMD YTE
9T80STT90 928'622'CLY 2£9'620'2S G6T'002'02Y [eloL 9TV0-9002 LTVMD ‘€TE
020££90T 0 022'7TT'28 TV2'SYZ'6 6.6'998'C. g7 dnoug

169819500 6S0'€S8'EY 0TE'8E0'Y 67.'v18'6S vT dnoio

S09vYPYT 0 L2L'9YS'TTT ZEL'6Y8'ET 66696926 ¢ dnoi9

L66E66YT0 6EE'68L'STT 196'88€'ST T/£00%'00T z dnoig yTV0-9002 LTVMD AR
8/0TSEEY 0 T6Y'SLL'VEE 697'629°9E 220'71'86¢ [eloL ZTV0-9002 LIVMD ‘TTE
08958T.G0 T75'609' T 108'28Z'sy ¥E.'T2E'96€ [eloL TTV0-9002 LTVMD ‘0TE
0025£859°0 ¥Zr'v0v'80G 125'6T1'LS £06'786'05Y  dnolo

LET6T68T 0 G9.'00T'9VT 86.'266'02 196'20T'SZT ¢ dnoig

626E2952°0 £56°2E7'28T 0TT'S0E'22 £78°22T'09T Z dnaig

G/G2170Z°0 GG9'€£9'/GT ¥S¢'1G8'02 TOV'9LL'9ET T dnoi9 0TV0-9002 LTVMD "60E
S706020E°0 zel'ssz'ese 9v£'Z6T'6C G/£'€60'70C Z dnaig

¥029£080°0 ¥29'850'29 80v'2L1'9 972'985'SS T dnoig TV0-900Z LTVMD "80€
TLYET8ET 0 218'2,9'90T 1T7'060'TC T91'285'S8 [eloL 80-9002 LIVMD "L0E
/806SZTT0 GY6'976'98 ¥81'6T9°0T 19.'22€'9L Z dnoig

uonng z'2.$/(9)= (9)+(p)=

) (9) () () (€ @ (1)
abejusdiad $9SS07] 18N $3SS077 18N GTOZ 1deS 10 SV dnoio 1SNJ] paJanod ‘ON
$S07] awnay ainin4 $9SS077 18N ueo]
18N payoaloud |ea1101sIH

S1SNJ | PsJan0) Q¢S 104

uonejnoje)d abejuadtad sso 18N



69 30 96 d3eg

¥2800£90°0 £5€°259'8Y 92.'€ST'L 129'€0S'TY T dnoi9 g928T-,002 LTYMD “Yre
£22026£0°0 0SY'€22'0E 0L¥'6GS'S 086'STL'VT z dnoig

GZY7€S80°0 0,0'906'59 000°€L7'6 0.0‘€EY'95 T dnoi9 g92/T-2002 LTYMD "eYE
89698££0°0 GSY'SST'9T 8££'780'E 8TT'€L0'ET G dnoi9

L0ESY660°0 6EY'T08'9L 8/2'851'6 T9T'€9€'29  dnolo

670900500 6.£'859'8E 09Y'¥ST'Y 616'€0G' 7€ ¢ dnoig

¥0G2.5.0°0 ¥9£'975'85 179'2T2'L £2.'€0E'TS Z dnaig

879602800 116'852'19 96£'8€L'L 285'025'65 T dnoi9 9291-2002 LTVYMD ve
0906291T°0 970'708'68 80G'8TT'ET 805'589'9. [eloL g92ST-2002 LTYMD “TYE
€T60YS2T 0 969'578'96 0T9'L6V'22 980'8YE' VL [eloL 21yT-,002 LIVMD ‘0ve
8/62ETS0°0 G08‘8£9'6E 065'.76'9 GTZ'T69'CE [eloL £1-,002 LIVMD "6EE
80T.L0SC0 ¥56'v59'€6T 6T0'LT6'GE GE6'LEL'LGT [eloL T12T-2002 LIVMD "8ge
S6TOTYYT 0 000'T8Z'TTT 980'79T'62 ¥16'8TT'28 [eloL T1TT-,002 LIVMD ‘LEE
TTCTIESST O 806'LE6'6TT 658'L9€'ST 670°0.5'70T [eloL g920T-2002 LTVYMD ‘9gg
8TEVISYZ 0 9/8'80€'68T 88/'866'7T 880°0TE' VLT [eloL 620-9002 LTVMD ‘GEE
205500890 0ZE'v91'G2S 90€'6TT'CH ¥T0'Sv0'c8Y z dnoig

£YZIVSET0 T€2'609'70T GE9'E6E'S /6G'STZ'96 T dnoi9 820-9002 LTVMD "yEE
9%0£.00Z°0 /89'TT0'SST ¥T2'996'TT €LY'GP0'EVT z dnoig

95200000 GE9'850'7'S /86'€LS'Y 879'v81'6Y T dnoi9 £20-9002 LTVMD "€ge
0£S8Y792°0 86G'S¥Z'70C G65'728'TT £00'€2¥'26T Z dnoig

GE0.6E50°0 ¥56'2.9'TY £19'262'C Z7E'08E'6E T dnoi9 920-9002 LTVMD ‘Z€€
808£8.22°0 6T2'GY6'GLT ISY'TLETT 19.2.5'€9T Z dnaig

6.G.¥81T°0 80G'T61'T6 99/'€99'y Zr.'128'98 T dnoi9 620-9002 LTVMD ‘T€E
92£.069T°0 T6.'795'0ET ¥9€'2T0°0T L2V 1%S'02T z dnaig

975870800 0£6'€ST'29 290'2LT'9 898'786'SS T dnoi9 ¥20-9002 LIVMD ‘0€E
¥//0SEST'0 /S0'06€'8TT €9T'0TL'L ¥68'629'0TT Z dnoig

0¥¥6002T°0 65V TrL 26 2€9'59.'S 128'516'98 T dnoi9 £20-9002 LTVMD "62E
¥/2€00£2°0 020'0¥9'2LT ¥80'G5Z'6 9£6'78£'89T Z dnoig

1.65120T°0 T19'T68'8. T/9'TL0'E 076'6T8'G. T dnoi9 Z00-9002 LTIVMD ‘82¢
69228570 0£8098'€S¢E £75'€09'82 182'152'szE Z dnoig

99YYTIVET 0 T09'T65'€0T 078'629'L 06.'T96'S6 T dnoi9 1T00-9002 LTVYMD 128
GTTZ88YE0 Zv6'7L£'69C ££2'2€6'TC 60L'07Y' LT z dnoig

20T7£960°0 ¥6T'86E 1. 621°076'S G90'85'89 T dnoi9 0TD20-900Z LTVYMD ‘928
62809252°0 ¥06'v£6'86T 82G'T€8'01 9/£'€0T'281T Z dnoig

uonng z'2.$/(9)= (9)+(p)=

) (9) () () (€ @ (1)
abejusdiad $9SS07] 18N $3SS077 18N GTOZ 1deS 10 SV dnoio 1SNJ] paJanod ‘ON
$S07] awnay ainin4 $9SS077 18N ueo]
18N payoaloud |ea1101sIH

S1SNJ | PsJan0) Q¢S 104

uonejnoje)d abejuadtad sso 18N



6930 LG d8eg

908T.2£0°0 0£1'992'G¢ G58'96€'S G/Z'698'61 ¢ dnoi9

GZESHZIT 0 69G'25'SCT 666',09°9T 0.5'v¥8'80T Z dnoig

STICYYY00 G89‘€0E'VE 8ET'769'E 875°609'0E T dnoi9 EAH-200Z LTVMD "€9¢
659295700 G8G'vET'SE 901'759'C 6.1'€8G'CE z dnoig

9%62629T°0 Zr6'9YS'SeT ¥8Y'vS0°L 851'Z67'8TT T dnoi9 ZAH-200Z LTVMD ‘29¢
TLT6TILTO ¥£6'T90'9ET 6£8'05G VT G60'TIS'TZT [eloL TIV-2002 LTYMD "19¢
85v8.700°0 8€8'769'E ySY'6€9 ¥8£'G50'E ¢ dnoi9

GGGTITOT'0 ¥8E'T.1'8. §69'7S1'ST 069'8T0'€9 Z dnoig

9/866%2T°0 18.'825'96 926'95.'8T T98'TLL'LL T dnoi9 T16-2002 LTVMD "09¢
¥ZT206ET0 Z81'1G6€'10T Gr8'TES'ET L£9'G25'€6 [eloL g08-2002 LTYMD "6SE
G967050T°0 0£E'€CT'T8 ¥10'0LL'6T 952'€GE'T9 [eloL 21/-100Z LIVMD "85¢
£209950T°0 £78'765'T8 0T6'989°LT 2€6'206'€9 [eloL 9-,002 LIVMD ‘1SE
€TLETLED0 ¥26'G5.'8¢ 6TV'EYE'S G0S°ZTP'Se z dnoio

T9ZLTIELEO 990'8.1'88¢ G/Z'E8Y'vE T6.'769'€SC T dnoig g05-2002 LTYMD "9G¢
G6ES9TE00 Y8 vy ve 266'€09'T £65'078'22 z dnoio

1.685060°0 L78'956'69 875" /¥G0T 69260765 T dnoi9 gov-,002 LIVMD ‘GGe
¥/109€00°0 TOV'T8L'C £22'95T 8/1'529'C Z dnaig

891582120 GST'ZLE'YOT 9T0'LIG'EE 6ET'SG8'0ST T dnoi9 T1€-/002 LIVMD "v5e
656059600 £VE'825' VL vEZ'8TO'TT 60T°0T6'29 Z dnaig

1/90081T°0 892'62T'T6 950'S¥8°CT Z12'v82'8L T dnoio g902-,002 LIVMD ‘€68
20.8¥200°0 ¥15'026'T G£9'9/ 6E6'CY8'T Z dnaig

68.9909T°0 r8'€L0'vCT 0vS'€8L'vC 90£'062'66 T dnoig G2-/002 LIVMD "Z5¢
95£28612°0 00T‘95.'69T L¥2'L6L'TE £68'856'/ET [eloL ¥2-,002 LIVMD ‘IS¢
YEYTOZZ 0 9rT‘€00'0LT ¥0£'108'02 T78'T02 67T [eloL g2€2-,002 LTVMD ‘0S¢
9.6%79¥T0 L90'760'ETT 66198692 898°20T'98 Z dnaig

689672500 G60'07S‘0F STT'VET'S 786'G0Y'ZE T dnoio 22-,002 LIVMD "67E
166808700 7S8'95T'LE ¥89°909'S 89T‘0£S'TE Z dnaig

€2676250°0 009‘0SL 'Y 00.'258'9 006'268°2€ T dnoio g2712-2002 LTVMD ‘87
¥£G505.0°0 ¥85°096'2G £0E'6EE'TT 182'T29'9Y [eloL 02-,002 LIVMD LYE
y¥2T9070°0 691'29€'TE 678'T2T'L 129'0v2'vC Z dnoig

692262070 065'6TG'6. GYL'TLG'ET G79‘.¥6'S9 T dnoi9 T1T-200Z LTIVMD ‘oye
12081500 G/5'689 'ty L€6'LET 0T 8£9'TSG'VE z dnoig

8£2£8052°0 682'20L'€6T 198'216'SE 8¢v'vel' ST T dnoi9 6T-,002 LIVMD ‘GYE
/8£98080°0 €ST'9rY'29 £EE'Er8'6 028'209'2S Z dnoig

uonng z'2.$/(9)= (9)+(p)=

) (9) () () (€ @ (1)
abejusdiad $9SS07] 18N $3SS077 18N GTOZ 1deS 10 SV dnoio 1SNJ] paJanod ‘ON
$S07] awnay ainin4 $9SS077 18N ueo]
18N payoaloud |ea1101sIH

S1SNJ | PsJan0) Q¢S 104

uonejnoje)d abejuadtad sso 18N



69 30 86 d3ed

67029210°0 602°L09'ET 0Zy'vTL 68.'268'CT G dnoi9

¥998/900°0 206'0v2'S 115'6.2 GZE'T96'Y  dnoio

2Ly.1500°0 9TT'966'S /8'S0V Zr2'065'E ¢ dnoi9

00.8€¥T0°0 G8T'OTT'TT A R44% £56'G99'0T z dnoig

£8G£/810°0 £25'89%' VT 991'299 1SE'908'ET T dnoi9 ZT-v002 THMD ‘€8¢
GZ¥8028Z°0 9/1'9£8'/1¢ G86'T0G'0E T6T'VEE 28T [eloL €HO-200Z LTVMD 'Z8¢
L6VLLE97°0 G79'v¥T'8GE 21£'59Z' Y 2.2'6.8'ETE [eloL ZHO-200Z LTVMD ‘18€
G76G6552°0 Z19'799'/6T Z1€'720'se 00£°2£9'2.T [eloL THO-200Z LTVYMD ‘08¢
GTSTI6ST 0 206'TY0'9YT 06.'0£Z'6T ZIT'T18'92T [eloL 6V0-200Z LTVMD ‘6LE
0ETTLETZ O G86'G£0'S9T 865'891'0S 18€'19G'VET Z dnoig

66.6.52T°0 186'SYT'L6 T0£'9T0°0T 989'621'28 T dnoi9 8V0-200Z LTVMD ‘8/€
L¥162E8E0 198'966'S6¢ 88Z'LTT'CY 6.G'6.8'€SC [eloL LV0O-L00Z LTVYMD "L1E
0vZreTLZ 0 289'€9%'602 GT8'€€0'L2 198'627'28T [eloL 9V0-200Z LTVMD ‘9/€
82E62TYE0 L£9'655'€92 06G'€Y8'LE L¥0'9T.'S22 [eloL ¥Vv0-2002 LTVMD ‘GLE
209917670 €1E°TY6'6YT 1TV Y VT 296'005'SET z dnoio

80£69EEE0 0.'069'252 6E8'GYE 9 2€9'vvE' 122 T dnoio £V0-200Z LTVMD v1€
606T2ZPT0 786'928'60T 0T.'62T'9T 212'169'€6 Z dnaig

¥0,92T22°0 T18'0/8'0LT 909'98.'22 G0Z'780'8YT T dnoio Zv0-200Z LTVYMD ‘€18
295599220 080'Z€0'S.T £99'TEY'ZE LT'009'2yT [eloL TTVO-2002 LIVMD '2LE
T2Z6TOET 0 €/£'6£5'00T ¥TT'896'7T 652'T.S5'G8 z dnoig

1192.580°0 656°002'99 Z.1'285'L /8.'819'85 T dnoi9 0TVO-2002 LTVMD ‘TLE
19G6/26£0°0 0ZT'0£€'0E 652'T61'S 198'8£8'7Z Z dnaig

0£.£6950°0 87T'696'CY ZT0'26T'9 9ET'LLL'LE T dnoi9 20-2002 LIVMD ‘0LE
¥2/66980°0 0/528T'L9 22€'092'TT 8Y2'226'SS ¢ dnoig

6T6607.0°0 802'72Z'LS 882'98¢'6 126'SE8'LY Z dnaig

£98559£0°0 296'T€2'8C 926'6TT'9 9£0'21T'2C T dnoi9 10-2002 LIVMD "69€
005978020 T6G'%786'09T 8/Y'L1T'€T €TT°208'LET [eloL 6AH-200Z LTVMD "89¢
0992Z5¥ST 0 LOE'TEE'6TT L11'286'01 0ET'67E'80T [el0L J8AH-200Z LTVMD 198
90568070 €/1°218'STE e vr6'se 7€6°.98'68¢ [eloL JLAH-200Z LTVYMD ‘99¢
90TSEVEE 0 685'86T'85¢C 187'66G'0S 80T'665'22¢ [eloL 9AH-200Z LTVMD "G9¢
996819¥Z°0 L00°2TT'06T £80'GT9'62 ¥26'T05°09T ¥ dnolo

910657900 LEV'6.8'6Y 198'2€6'9 T.G'9Y6'CY ¢ dnoig

6.£99Z¥T°0 86S°0LT'0TT G86'78T VT £T1'586'S6 Z dnaig

219807100 00£'828'0T 1T0'769'T 062'78T'6 T dnoio ¥AH-L00Z LTVMD "v9g
uonng z'2.$/(9)= (9)+(p)=

) (9) () () (€ @ (1)
abejusdiad $9SS07] 18N $3SS077 18N GTOZ 1deS 10 SV dnoio 1SNJ] paJanod ‘ON
$S07] awnay ainin4 $9SS077 18N ueo]
18N payoaloud |ea1101sIH

S1SNJ | PsJan0) Q¢S 104

uonejnoje)d abejuadtad sso 18N



69 30 66 d3ed

9Tv.8710°0 06£'987'TT GTT'002'T G/Z'98Z'0T T dnoi9 TIAH-500Z THMD "v6E
125257000 £8G'v61'E 180'125 961'296'C Z dnoig

19v28S8T 0 2/8'00S'EVT T/0'LT9'ST 108'€88'22T T dnoi9 6-500Z THMD "€6E
186862£0°0 886'S.1'ST 0vS'0EL'T 8vi'syL'ee ¢ dnoio

T/99€TY0°0 SY6'7Y6'TE TTL'L¥8'T GEZ'160'62 Z dnaig

9/0TETTO0 86G'7€L'8 GTE'G68 £82'6£8'L T dnoi9 /-500Z THMD "Z6€
YE9SETTO0 96.'69.'8 90%'908 06£°€96"2 Z dnaig

€GZYETIT0 L28'V6S'vZT 09G'T¥9'CT 192'€S6'TTT T dnoi9 €-500Z THMD "16E
902722800 TE9'TLE L9 1267919 £0.'902'19 Z dnaig

vYveSLr0'0 ¥.1'00L'9€ 00L'T6T'Y v/¥'80G'CE T dnoi9 2-500Z THMD "06€
G98€¥890°0 126'058'2S £06'798'9 ¥20'986'SY z dnaig

699£8570°0 628'96€'SE 109'29T'E FAAA A XAAS T dnoig 1-500Z THMD "68E
L0ZTEBTO0 9TG'ET6'VT 166'7€0'T 025'8/8'€T z dnoio

128568100 £52°0¥9'YT 6LL'LV0'T G/¥'Z6S'ET T dnoio 69 AH-700Z THMD "88¢
909S£7£0°0 850'TES'9Z 822'8TT'C 0£8'ZTY'vC [eloL 99 AH-700Z THMD "18€
69¥29%00°0 09€'TLG'E 16£'€29 696'L76'C ¢ dnoig

162TEL0T0 80T'T.8'28 02£'50G°L 88.'59€'S. Z dnaig

69£562.0°0 16.'86T'09 229'7ST L GLT'7P0'ES T dnoio GZ-700Z THMD 98¢
87689TT0°0 090°220'6 208'v8¢ 1S2'Tr9'8 ¢ dnoi9

LE2TS2T0°0 1€6'299'6 66T'v¥S'T ZEC'8IT'8 Z dnoig

6E£89EST0°0 950'898'TT 608'60. LYZ'8ST'TT T dnoi9 02-700Z THMD ‘G8E
076£9500°0 1S6'VSE'Y 8/6'19T 6.6'98T'Y Z dnaig

62825200 LSSTYT'TC GT8'508'T TP 9EE'6T T dnoi9 9T-¥002 THMD "¥8e
1£588900°0 160°LTE'S TT'899 989'8Y9'Y 9T dnou

/6507000°0 T96'TTE 282'16 619022 GT dnouo

092297000 0£0'€52'T 850'6Y 2L6'€02'T T dnouo

02.50200°0 879'885'T 956'/2¢ 260'T9Z'T €T dnouo

GEZTZETO0 8/0'€0Z'0T ££8'0.9 v12'2€5'6 ZT dnou

G0525900°0 768'8£0'S 2€5'10€ 6SEVEL'Y 17 dnouo

/2T8£500°0 6T9'SST'Y €12'88 ove‘290'y 0T dnou

6.856%720°0 vZT'v.2'6T 109'0.8 £25'€0P'8T 6 dnoi9

009TT¥00°0 62G'8LT'E G/l eSY'8LT'E g dnoig

6995£200°0 ZTT'189'S 185'2C Z€G'8EY'S L dnoi9

089598200 898'621'2C 9%0'6.0'T 228'050'1Z 9 dnoi9

uonng z'2.$/(9)= (9)+(p)=

) (9) () () (€ @ (1)
abejusdiad $9SS07] 18N $3SS077 18N GTOZ 1deS 10 SV dnoio 1SNJ] paJanod ‘ON
$S07] awnay ainin4 $9SS077 18N ueo]
18N payoaloud |ea1101sIH

S1SNJ | PsJan0) Q¢S 104
uonejnoje)d abejuadtad sso 18N



69 J0 09 d5ed

96.£9980°0 021'G06'99 681'816'S 1€6°986'09 ¢ dnoi9

26989000 GZT'18G'VS ¥SE'E0C'y T/.'€8€'0G z dnoig

2.160020°0 Z6G'STS'ST ZEL'€9E'T 098'TST'VT T dnoi9 £9AH-900Z THMD ‘207
877895TS0°0 9£T'€78'65 5Y'8Y6'C 7897189 ¢ dnoig

92812110 982'960'28 95T'€.L5'8 0ET'€25'8. Z dnaig

/Z8€E8SST 0 YEZ'vre0CT /£5'020'L L69°€LT'ETT T dnoio TGAH-900Z THMD “T0v
20.50580°0 292'%789'S9 292'998°L 000'818'2G ¢ dnoi9

99/86560°0 128'SCT'vL 062'601'TT T€0'9TL'29 Z dnoig

GTZTELSTO LT'Z8Y' 12T LSY'05E'9T T96'TET'SOT T dnoi9 €-900Z THMD "00%
T/20TL£0°0 121'259'82 981'766'T G£6'099'9Z G dnoig

0£.2¥820°0 6€9'256'TC TTT'€8L°C 125'69T'61  dnolo

20.202.0°0 866'T29'SS 8£0'09T'9 096'T9V'6Y ¢ dnoig

/18699700 20T°290'9¢ €1€'TEL'T 62L'0SE'EE z dnoio

¥¥€9/£20°0 620'TSE'8T €52'9TT'T 9/1'v€2 1T T dnoig 69 AH-G00Z THMD "66€
6.¥SEEL0°0 85¢'/¥9'95 6TE'885'9 6€0'650'05  dnolo

988895000 LST'S6E'Y 0v.'Se0'T 8IV'/GE'e ¢ dnoi9

y¥.0v9T0°0 Ly'0L9'CT 11€'S¥8'T 0,0'G28'0T Z dnaig

¥559/%00°0 821'089'€ 20T'2SL G20'826'C T dnoig 89 AH-500Z THMD "86€
625896000 8vE'6LY' L £66'T.8 G5E°209'9 G dnoi9

08¥520£0°0 £06'€9€'€Z G6.'909'E LOT'2GL'6T  dnoio

85£T99T0°0 079'628'ZT 676'v0L'T 169'72T'TT ¢ dnoi9

Z9¥5£080°0 888'250'29 G89'200'9 £02'S70'95 Z dnaig

//¥00020°0 ObY'8rY'ST 020'08E'T 0Z'890'T T dnoi9 99 AH-500Z THMD "L6E
2€282L10°0 L90'9YE'ET L72'0E8'T 0Z8'STS'TT  dnoio

112626200 166'029'22 226'208'C 690'818'6T ¢ dnoi9

6168£920°0 LE1'81€'02 vOT'v86'T ¥£9'v6E'ST Z dnoio

¥/6EE0£0°0 £0G'621'€2 L9Y'V1G'T 9£0'558'02 T dnoi9 GIAH-500Z THMD ‘96E
28282TIT0 678'9£6'S8 1£1'560'9 680'T¥8'6. Z dnoig

059925000 886°990' 699'c8 6TE'E86'E T dnoi9 9 AH-500Z THMD ‘G6E
£/5G5T00°0 G6E'T0Z'T 2LL'E0T £29'260'T 9 dnoi9

¥1876200°0 205'€52'C 925'STY 9/6'2£8'T g dnoi9

02052200 956'89G'/T £9€'/€0'T Z6G'TES'OT ¥ dnouo

88£0.000°0 99G°EYS 8ev's 82T'0vS ¢ dnoi9

158218000 evT'212'9 190719 9/0'€99'S Z dnoig

uonng z'2.$/(9)= (9)+(p)=

) (9) () () (€ @ (1)
abejusdiad $9SS07] 18N $3SS077 18N GTOZ 1deS 10 SV dnoio 1SNJ] paJanod ‘ON
$S07] awnay ainin4 $9SS077 18N ueo]
18N payoaloud |ea1101sIH

S1SNJ | PsJan0) Q¢S 104
uonejnoje)d abejuadtad sso 18N



69 30 19 d8eqd

9/2.0500°0 8/€'LT6'E ovY'zLy 8€6'7i'S [eloL 8T-7002 THMO YIv
G7825£00°0 ¥08'v2L'C v0L'2TT 001°219'C G dnoi9

TE€£69500°0 T6G°96E'Y 922'052 GOE'OYT'Y ¥ dnolo

7758220070 T20'TST'C YAN11Z 968'0TT'C ¢ dnoig

86.22T00°0 ¥62'876 160'Z L6T'9Y6 Z dnaig

¥T8EL000°0 LT0'0.S 0 LT0'0LS T dnoio ST-v002 THMD EAR%
€/126000°0 Z6L'TTL 880'9F ¥0.G99 ¥ dnolo

190992000 129'%50'C 296'€L G99'086'T ¢ dnoig

Z5v0LE00°0 £11'098'C LT2'EE G55°228'C Z dnaig

652980000 160999 0 160999 T dnoi9 ¥T-7002 THMD AR
22185000 219'8S'y £70'€60'T 69G'Sri'S z dnaig

GTT.¥200°0 LTE'806'T 78861V GEY'88Y'T T dnoio £T-v002 THMD TP
9€£8/2000°0 ¥96'v12 080°0TT £88'%0T ¢ dnoi9

G90%9%700°0 189'€8G'E TET'0E 95G'6.2'S z dnoig

886/£000°0 75662 655'9 G6.'982 T dnoi9 TT-7002 THMOD 0Ty
9/8T0200°0 296'855'T 618'€6 ¥80'591'T [eloL 0T-7002 THMD ‘601
T909£750°0 GZE'6L6'TY 8/1'820°L WT'TS6'E ¥ dnolo

08£ZSSTT0 998'TTC'68 £8€'€L0'8 £8Y'8ET'T8 ¢ dnoig

1266.£90°0 v.1'89Z'6Y 085'T09'E £65°999'SYy Z dnaig

€90TTT00°0 ¥19'/58 1SSV LTT'EY9 T dnoi9 Z9AH-200Z THMD ‘801
GZT1.5%790°0 2.£'798'6Y G8/'7€5'L 98G'TEE Y  dnolo

L0S29€60°0 ££8'00€'2L T71'808'9 169'26%'S9 ¢ dnoig

£2/98520°0 659'S.6'6T 25.1'129'C L06'LYE'LT Z dnaig

126875800 ¥90'870'99 0S.'28T'L £7£'5£8'85 T dnoio 9AH-200Z THMD ‘LOY
9%90022T°0 602'6.0'86 6.6'V0V'TE 0£2'729'99 [eloL TINL-9002 THMD ‘90Y
929982070 YET LEV'6L 095'GET'8 ¥19'T0E'TL ¢ dnoi9

€0ETT96T 0 ZE6'SYY'TGT 6ET'9T8'6T £6.'629'TET Z dnaig

90G2T.12°0 612'2L9'29T 108'G90'TC 8T1'909'0vT T dnoig GV0-900Z THMD ‘G0Y
09¥TZ00E0 02T'LE8'TET 68Y'EYZ'9C 0£9'€65'502 [eloL ¥V0-900Z THMD Yoy
88£62620°0 878'729'2Z 126'70T'C 126'915'02 ¥ dnouo

¥8EEYBS0°0 T/0',68'Sy L€8'6YZ'E veT' LYoy ¢ dnoi9

1/8T9%20°0 ZSS'TT0'6T 8TE'TCL'T GEZ'062'LT z dnoig

082S6TE00 19T'S19'7C 862'829'T 698°970'€Z T dnoi9 9 AH-900Z THMD E014
T8Y9£550°0 L08'¥SL'CY Z12'6€€'9 G6G'STH'9E ¥ dnoio

uonng z'2.$/(9)= (9)+(p)=

) (9) () () (€ @ (1)
abejusdiad $9SS07] 18N $3SS077 18N GTOZ 1deS 10 SV dnoio 1SNJ] paJanod ‘ON
$S07] awnay ainin4 $9SS077 18N ueo]
18N payoaloud |ea1101sIH

S1SNJ | PsJan0) Q¢S 104
uonejnoje)d abejuadtad sso 18N



69 J0 79 d8ed

282070000 9/0'TTE 0 9/0'TTE 9 dnai9

608T0000°0 €16'CT 0 €16'CT g dnoi9

000000000 0 0 0 ¥ dnolo

9Z£€ETO00 16G6'620'T 6EE'S 252'720'T ¢ dnoig

¥9¥68000°0 G/8'069 0 G/8'069 Z dnaig

886/¥000°0 18G'0L€ 0 18G'0L€ T dnoi9 Z9AH-700Z THMD "0gY
80697000 856'8.9'C L€ 126'8.9'C Z dnaig

/SYTT000°0 G/t'88 0 G/t'88 T dnoio TIAH-700Z THMD "62¥
629STE00°0 SOv'LEV'T £0v'6YT 700'88T'C [eloL 6-700Z THMD ‘82¥
LTEST000°0 182'81T 0 182'81T Z dnoig

/¥150800°0 879°212'9 0EY'88. 812'62H'S T dnoi9 8-700Z THMD ka4
L60EGE00°0 87.'92L'C 08Y'€0V 89z'c2e'C 9 dnoi9

8EYT8E00°0 119'SY6'C 125'ST ¥80°00L'C g dnoi9

12€9/T00°0 999'T9€'T 2LLT £68'65E'T ¥ dnoio

¥/G59€00°0 ¥01'€28'C 622'10T G/8'T2L'C ¢ dnoi9

T.6£2€00°0 0£8'T0G'C 268'2¢ 8£6'891'C Z dnoig

6EY0E000°0 090'GET 0 090'GET T dnoi9 /-700Z THMD L Y24
87ESET00'0 0T2'SK0'T 25¢'T 8S6'€Y0'T Z dnoig

07262000 G9T'95T'C 906'95 092'660°C T dnoi9 9-¥00Z THMD G2y
66871000 89/'TEV'C 9/G'6. Z6T'28E'C Z dnoig

62959€00°0 125'€28'C £72'60T v82'vTL'C T dnoi9 G-700Z THMD 8744
80£G8700°0 veLLYL'E 115961 LST'TSZ'E [eloL ¥-#00Z THMD E¥4%
¥98%7200°0 £€6'068'T 002'%TT €€L'9/L'T [eloL €-#00Z THMD 72y
0£90.7£0°0 G2G'708'9Z 191'269'T 85€'60T'SZ ¢ dnoig

82£69620°0 8/2'0£6'22 198'962'T LTY'€E9'TT Z dnaig

151202100 £91'€82'6 68L'L.T G/9'50T'6 T dnoi9 6¢-7002 THMD ‘12
£1052600°0 L9L'EYT L 2€5'798 GEZ'6.2'9 [eloL ¥2-v00Z THMD ‘0Zy
LZTYTEZ00 T/5'0/8'L1 0S0'T8T'T 125'689'0T [eloL £2-¥002 THMD ‘6TY
¥S¥29920°0 781'095'02 069'6.6 T6.'085'6T [eloL 22-v002 THMD ‘8TY
£7£86900°0 T/8'26€'S 101'8.8 0LL'VIS'Y [eloL T2-v002 THMD LTY
162720000 0ZY'v9T 0 0Z¥'v9T ¢ dnoi9

897750000 678'6T 0 678'6T z dnoig

TTT00T000 £60°€LL 969'cy 96£'62. T dnoi9 Z-700Z THMD ‘9TY
08529000 £15°2e8'y 8rY'EET'T G90'669'E [eloL 6T-¥002 THMD ‘GTY
uonng z'2.$/(9)= (9)+(p)=

) (9) () () (€ @ (1)
abejusdiad $9SS07] 18N $3SS077 18N GTOZ 1deS 10 SV dnoio 1SNJ] paJanod ‘ON
$S07] awnay ainin4 $9SS077 18N ueo]
18N payoaloud |ea1101sIH

S1SNJ | PsJan0) Q¢S 104
uonejnoje)d abejuadtad sso 18N



69 J0 €9 d3eqd

9%950200°0 £/0'88S'T 192'8§ 108'625'T [eloL SC-¥002 THMOD ‘BEY
000000000 0 0 0 ¢ dnoig

000000000 0 0 0 Z dnaig

S6000000°0 Gel 0 GelL T dnoio ¥0-7002 THMD ‘8eY
0S¥7.200°0 60v'6TT'C 161'9.9 8TZ'SYi'T [eloL £0-7002 THMD L€V
G9/€¥200°0 Ly1'288'T 812'622 622'€59'T [eloL Z0-700Z THMD ‘9gy
GE889T00°0 L08'€0E'T 6.G'€82 822'020'T 6 dnoi9

677.61600°0 259'20T'2 z1e'eee 0v€'628'9 g dnoi9

£9558500°0 986'T2S'Y 958'961 080'G20'y L dnoi9

TTOEEZ000 965'66.'T 0 96£'66.'T 9 dnoi9

18/£6000°0 eTZ'veL IST'LE2 1S0°.8Y g dnoi9

1£/2£200°0 vET'L6L'T 981 870'L6L'T  dnoio

000000000 0 0 0 ¢ dnoi9

008250000 ovL'L0Y 0 ovL'L0Y Z dnoio

9/028000°0 6T8°€E9 967'S 22€'059 T dnoi9 89 AH-700Z THMD ‘GEY
¥0£6¥200°0 612'G26'T €TE'L6T 906'L2.'T g dnoi9

S0270T00°0 ZTL'%08 £22'€ST 687'T59 ¥ dnolo

8T/6£000°0 GT.'90€ 0 GT.'90€ ¢ dnoig

619280000 671'8£9 20€'€6 LYT'SYS Z dnaig

225069100 LS8'%S0'ET G1T'8LL 785'9/2'CT T dnoi9 LGAH-700Z THMD ‘vEY
ZT29ET00°0 G88'TS0'T ££6'08 256'0.6 g dnoi9

BEYEYEN0'0 G97'259'C ¥60'8E 2,0'v19'C L dnoio

G8677920°0 115'S2v'02 ¥€0'€8T A RALAA 9 dnoi9

T¥STL000'0 G91'2SS 0 G91'2SS G dnoio

1.22£500°0 S0V'0TT'Y £9/'002 0%9'606'S  dnolo

/£098500°0 86G'G2S'Y 866'8¢T T09'96€'Y ¢ dnoig

G7G88£00°0 687°000'E ¥86'GT ¥05'786'C Z dnaig

¥/2T0£00°0 055'92€'C 8£9'eYT 216'28T'C T dnoio SaAH-700Z THMD ‘eEY
£150.000°0 825'7¥S 99z 292'7vS ¢ dnoi9

GTSZ7900°0 vi.'T96'V 00£'902 Yiy'SGL'Y Z dnoio

289720000 6EY'L9T 0 6EY'L9T T dnoi9 9 AH-700Z THMD § A4
/8910000 60€‘0ET 0 60€‘0ET ¢ dnoig

16657700°0 STT'vri's ¥20'08 680'79€'S Z dnaig

9T0£ZTO00 v.6'676 0 16676 T dnoio €aAH-700Z THMD “IEY
uonng z'2.$/(9)= (9)+(p)=

) (9) () () (€ @ (1)
abejusdiad $9SS07] 18N $3SS077 18N GTOZ 1deS 10 SV dnoio 1SNJ] paJanod ‘ON
$S07] awnay ainin4 $9SS077 18N ueo]
18N payoaloud |ea1101sIH

S1SNJ | PsJan0) Q¢S 104

uonejnoje)d abejuadtad sso 18N



69 J0 9 d3ed

0v¥68T20°0 689°206'9T 6.6'2T2'T 0T.'v69'ST Z dnaig

92.LTLLE00 20.'921'62 £85'8Y2'C 611'8.8'9Z T dnoi9 22-5002 THMOD "SSP
T.£79600°0 8ez' L', 29L'921'T 9/%'020'9 Z dnaig

1T.02650°0 086'TCL'SY GT0'v€8'9 G96'288'8E T dnoio 12-G002 THMOD  '¥Sb
6SY7T1220°0 ¥80'296'0¢C 665'560'Z 881'998'8T [eloL 02-500Z THMD  "€S¥
9092000 zLE'eLE'ET 905'209'c 998'0LL'6T [eloL 81-G002 THMOD  'ZSb
T0270£20°0 9T6'€6.L'LT ¥66'98L'T 226'900'9T Z dnaig

G852£220°0 998'0vZ'LT GT8'9TH'Z 150'728'v1 T dnoio /1-G002 THMOD ‘TSP
GSETEVZ00 058'G/.'8T €6'VST'T 118'029'LT [eloL 97-G002 THMO  "0G¥
882££920°0 8¥2'S€€'02 6VY'€18'T 66.'T2S'8T [eloL GI-G00Z THMD  '6Y
LT9E6ETO0 8£0°29.'0T G68'970'C SYT'SPL'8 [eloL ¥T-G00Z THMD ‘87t
G/8TS6T0°0 ¥Z1'€.0'ST T0¥'00G'T €CL'TLS'ET [eloL £1-G002 THMD  “Ltb
T€/595T0°0 T.T'T60'CT vr1'18T'C /20'016'6 z dnoio

2€128020°0 ¥79'€80'9T £75'99.'T TOT'LIE'YT T dnoi9 Z1-6002 THMD  "9vb
G986.T20°0 LyL'€€8'9T 159'G6T'T /60'8£9'ST 9 dnoi9

/62T9T00°0 ¥65'SY2'T GET'T0Z'T 65V vy g dnoi9

TSYTSZr00 9TE'TE8'CE /ST'S62'C 09T'9£5°0E ¥ dnolo

0S£20S£0°0 v.¥'9v0'LC 2v9'210'C 2£8'820'Se ¢ dnoig

/8/68£00°0 /80°0T0'E 9Y6'ZrE T91°299'C Z dnaig

90.ST0T0°0 T/9'€Y8'L 0,008 T09'€9.'L T dnoi9 T1-G00Z THMOD 'St
¥£G5/2T0°0 /ST'058'6 829'v28'T 625'520'8 [eloL 0T-G00Z THMD ‘¥
000000000 0 0 0 ¥ dnoio

G88£2000°0 Lyv'v8T 0 Lyv'v8T ¢ dnoi9

T09STS00°0 899'T86'E 181'7€0'T 181'056'C z dnoig

ZET8Y000°0 269'T.E cYY'6 6v2'29¢ T dnoi9 60-700C THMO St
68202000 669'€9G'T 892'GT2 0SY'8rE'T ¢ dnoi9

000000000 0 0 0 Z dnaig

500000000 A 0 A% T dnoig 8r-v002 THMD  "Zi
968700000 T18'LE 0 T18'LE ¢ dnoi9

000000000 0 0 0 Z dnoig

980760000 1.6'92. 868 ¥19'G2L T dnoi9 L0-¥002 THMOD  ‘Thb
¥0000000°0 ¢ 0 ¢ ¢ dnoig

000000000 0 0 0 Z dnaig

69200000 G66'65 0 G66'65 T dnoi9 or-y002 THMD  "Ofb
uonng z'2.$/(9)= (9)+(p)=

) (9) () (€ @ (1)
abejusdiad $9SS07] 18N $3SS077 18N GTOZ 1deS 10 SV dnoio 1SNJ | patsno)d ‘ON
$S07] awnay ainin4 $9SS077 18N ueo]
18N payoaloud |ea1101sIH

S1SNJ | PsJan0) Q¢S 104
uonejnoje)d abejuadtad sso 18N



69 30 69 d3eg

Z9vTOTT00 806'505'8 69€'60G 0759662 G dnoi9

996216100 L¥9'TLLYT €6.'71S £68'222'v1  dnoio

1€522290°0 9€6'€T6'TS 0T0'SYE'E 926'895'8Y ¢ dnoi9

Z16£L000°0 9/1'0.5 0 9/1'0LS Z dnoio

008592100 986'7.L'6 1¥1'108 8£7'196'8 T dnoi9 L9AH-500Z THMD 0Ly
0ZTSSTTO0 8/2'026'8 T/1'G19 L0T'SYZ'8 ¢ dnoig

¥807.TE00 98Y'TIS'7C 125'092'T G96'05Z'€Z Z dnaig

€/£9£200°0 055°989'S 0LT'v.€ 08€°ZIE'S T dnoi9 €9 AH-G00Z THMD 697
¥967.%20°0 €T9°ZTT'6T 2.£'250'T T¥2'090'8T Z dnaig

66.219T0°0 £V9'vSH'CT 926'€9 LTL'06E'CT T dnoi9 Z9AH-500Z THMD "89%
258958100 GTE'6EE' VT 650°2€Z'E 95Z'L0T'TT g dnoi9

¥TG79T90°0 GTL'V09' LY £51'662'C 296'70€'Sy ¥ dnoio

685552600 8.T'SLY'TL TSE'8YS'E 128'926'29 ¢ dnoi9

82088900 orLYTT'ES ¥89'78G 290'€€5'2S z dnoig

8£9/2210°0 062'081'6 60T'2hY 181'8£0'6 T dnoi9 0TAH-G00Z THMD ‘L9Y
6£067700°0 059'29%'€ 89€'1€G 182'€€6'C Z dnoig

272957200 GE0'896'8T 081'0£8'Z ¥S8°LET'9T T dnoi9 9-500Z THMD ‘99Y
£06690T0°0 7€2'792'8 979'cEL 979'825'2 [eloL G-G00Z THMD ‘Gop
926T0Z¥0°0 998'8ti'cE T/E'GLE'E G61'€L0'62  dnolo

L0ZT9810°0 0S6'22E'VT 626'852'T T20VTIT'ET ¢ dnoig

961756200 L2Y'€18'2e 00L'2LT'T L2L'0v9'TZ Z dnaig

856729000 G66°208'Y ¥88'9.¢ 0TT'9ZH'y T dnoio T€-G002 THMD R 14
S0T¥9TY0'0 66.'95T'CE L2T'0v6'E 219'912'82 [eloL 0£-G00Z THMD E14
/6S095£0°0 6.2'961'12 TEY'L6E'Y 878'860'€Z [eloL 62-G00Z THMD ‘297
¥EL0GEE00 G79'5/8'Se ¥TE'995'E TEE'60E'22 [eloL 82-G002 THMD ‘T9%
6..50210°0 v8Y'TIE'6 €T1'620'T 1/£'982'8 Z dnoig

22988£20°0 0S8'Grv'8T 9/6'LSV'T 718'/86'9T T dnoi9 /2-S002 THMD ‘097
10/2.%00°0 921'059'E 6£0'298 18€'€8.'C Z dnoig

081788200 zeL'zLT'ee /T.'689'7 GT0'E8S'LT T dnoi9 92-5002 THMD ‘6SY
02.£6920°0 926'708'02 896'686'C 856'T18'LT [eloL G2-500Z THMD ‘851
658997.0°0 026'T99'2G v0zZ'LLT'8 ST.'v81'6Y [eloL ¥2-G00Z THMD ‘ISP
67.261£0°0 £99'22£'62 892'69%'y 96£'858'7'Z [eloL £2-G002 THMD ‘oGY
LY6TLETO0 G69'765'0T Z16'GE0'T £8/'855'6 ¥ dnolo

¥0TZ2ST00 99Z'%S.'TT €£9'/ST'T ££9'965'0T ¢ dnoig

uonng z'2.$/(9)= (9)+(p)=

) (9) () () (€ @ (1)
abejusdiad $9SS07] 18N $3SS077 18N GTOZ 1deS 10 SV dnoio 1SNJ] paJanod ‘ON
$S07] awnay ainin4 $9SS077 18N ueo]
18N payoaloud |ea1101sIH

S1SNJ | PsJan0) Q¢S 104
uonejnoje)d abejuadtad sso 18N



69 J0 99 d5eq

16.6¥.10°0 L6G'ZIS'ET €8L'LTT'T ¥18'v6E'2T ¢ dnoi9

00162600 G90'SZh'TL 000'78S'y G90'T¥8'99 Z dnoig

£77888920°0 192'%92'02 69€'8L 668'6.6'6T T dnoi9 Z9AH-900Z THMD ‘T6Y
880£S670°0 £29'672'8 vry'Lvr's 081'208'CE [eloL 6-900Z THMD ‘061
ZT¥S0900°0 22T'SL9'Y G62'8YE 126'92E'Y ¢ dnoi9

v18%2£20°0 6SG'€S6'LT 158'216'C L0L'0¥0'ST Z dnoig

96257500 ZIT'¥56'TY vEL'TSY'9 6.£'205'SE T dnoi9 8-900Z THMD ‘681
¥£006970°0 122'812'9¢ 10L'8.G'y 025'6£9'TE [eloL 9-900Z THMD ‘881
0429591T°0 vrT'vT0'06 YST'656°CT 066'750'9. [eloL 12-9002 THMOD 18V
9%£2202T°0 vZI'Tv8'26 858'85T'91 992'289'0. [eloL 02-900Z THMD 98y
992208270 796'€98'86 £/6'G9E'6T 166°L67'6L [eloL 6T-9002 THMO ‘G8Y
0ETOSEE00 TEG'9TL'ST L¥2'T0S'Y ¥82'ST2'TC Z dnoio

9€£T88T0°0 06£'825'1T 8TY'T8E'T ZL6'9PT'ET T dnoi9 87-9002 THMD ‘v8Y
952097900 vE8'TLG LY 92/'579'9 80T'956'0Y [eloL LT-9002 THMD €8y
TTE9ESE0°0 0%.'80€'L2 8€8'/G5'y 206'05.'22 ¢ dnoi9

G826/.20°0 G08'TEY'TT £9G6'02T'E evZ'TIE'8T Z dnoig

y¥0ETSY0'0 8€v'T58'7E S08'7YS'y £€9'90€'0E T dnoi9 97-9002 THMD ‘Z87
0VST8TYO'0 Oy 162'CE LTT'6€8'Y £28'251'12 [eloL GT-9002 THMD “I8Y
L6V8YTE00 888'€TE' 1T G58°220'E £€0'982'12 [eloL ¥T-9002 THMD ‘087
€0GE2250°0 G90'66T ¥ 178'01E'L ¥22'888'9¢ [eloL £7-9002 THMD ‘6.1
96£52€.0°0 ¥6v'695°95 660'760'8 G6E'SLY'8Y [eloL 21-9002 THMD ‘8L1
21989900 T0v'022'65 265'9.1'8 608‘€Y.'0G [eloL TT-9002 THMD LY
G066.200°0 G2.'220'9 29¢'8¢8 £9¢'%8T'S Z dnaig

£96/£850°0 0.6'280'Sy 98Y'98'9 ¥8Y'812'8 T dnoig 0T-900Z THMD 9Ly
825882500 G20'0r8‘oy 1659218 8Zy'STi'cE [eloL 1-900Z THMD ‘GlY
060££800°0 ovy'EEr'9 8y7'088 £66'755'S [eloL ¥0-G00Z THMD vy
/98619000 Gv8'98.'y G£9'928 0TZ'096'E Z dnaig

122127100 £52'G16'0T 06.'v8Y'T £97'067'6 T dnoio £0-5002 THMD ‘€LY
9/266£20°0 6T7'825'8T 0TT'0TG'C 800°8T0'9T ¢ dnoi9

080288000 85/'718'9 0.1'G26 886'G88'S Z dnoig

8£500000°0 TST'Y 0 TST'Y T dnoi9 Z0-G002 THMD Ly
000000000 0 0 0 z dnoig

262250000 69E'6YZ 859'96 TTL'2ST T dnoi9 T0-G002 THMD Ty
£5£86880°0 £91'9T7.2'89 £05'700'8 096'TT.'09 9 dnoi9

uonng z'2.$/(9)= (9)+(p)=

) (9) () () (€ @ (1)
abejusdiad $9SS07] 18N $3SS077 18N GTOZ 1deS 10 SV dnoio 1SNJ] paJanod ‘ON
$S07] awnay ainin4 $9SS077 18N ueo]
18N payoaloud |ea1101sIH

uonejnoje)d abejuadtad sso 18N

S1SNJ | PsJan0) Q¢S 104



6930 L9 d8eg

G7/€029T°0 £99'766'82T 899'729°0C G66°0LE'80T [eloL -200Z THMD ‘215
800£68T°0 880°282'20T v.¥'8T6'8T £79'89€'88 [eloL €-/00Z THMD ‘115
€/¥90200°0 Y9v'v65'T z8 Z8E'V6S'T Z dnaig

9€G/7780°0 G80'S£Z'S9 09T'GEE'6 G26'668'SS T dnoig 12-,002 THMD ‘0TS
99¥£65£0°0 0TT'0S.'L2 92L'v81'y ¥8£'69z'€C [eloL 02-,00Z THMD "60G
L6SST650°0 ¥8Y'289'St 991'/55'S 810'S2T 0 [eloL 2-100Z THMD "80G
/ZE60ET00 ZeT'TIT'0T 15.'89T°C 99£'Z¥6', Z dnaig

0£.TOES00 G/6'TY6 0 2€1'562'9 £VZ'9r9've T dnoi9 6T-,002 THMD 10§
1.505%720°0 vv2'v26'8T G06'962'E 6€E‘L29'ST Z dnaig

¥S9TYTZ00 699'8£G'0T 25.'120'C LT6'0TS'VT T dnoio 8T-2,002 THMD ‘905
/98770000 Z8Y'9vE 0 Z8Y'9vE  dnolo

£5/02020°0 020'G09'ST 670'625'C 0.6'GL0'ET ¢ dnoig

0£906570°0 885'05'SE vEZVLT'S G5£'9.2'0 z dnoio

£78927£0°0 £8€'€91'9Z 951'298'S 922'709'02 T dnoig LT-2002 THMD ‘G0G
¥S0SYT60°0 085'T29'0L 188'008'TT 669°028'85 [eloL 97-,002 THMD "¥0S
/¥922080°0 ¥26'€56'T9 029'9T6'TT ¥0E2£0'0S Z dnoig

928550900 T6E'59L'9Y 6EG'€9Z°0T 758'705'9 T dnoi9 GT-2002 THMD €05
€EY6ETS00 ¥59'889'6E 00T'0LY'L GGG'81Z'2E [eloL ¥T-,00Z THMD 205
G/200090°0 GOv'9EE'9Y 07.'995'S G99'69.'0Y [eloL €1-2002 THMD ‘T0G
651786200 808'70'cZ 158'861'E 0S6'GPS'6T [eloL ZT-,002 THMD "00G
6286685T°0 8G.'6£€'20T 076'96E'8T /18°276'88 [eloL TT-2002 THMD ‘661
851129600 0v2'862'17L 207'9TT 0T LE8'T8T'V9 [eloL 0T-2002 THMD ‘861
900.1£60°0 09Y'676'T.L 1¥6'220°0T £15'926'T9 [eloL 1-200Z THMD L6V
99£0£TS0°0 ¥£9'8T9'6 256'T66'Y 289'929'v [eloL ¥£-9002 THMD ‘961
188299000 020'6TT'S 2LTYSY LvL'799'y [eloL £0-9002 THMOD ‘G6Y
G0T6E8T00 G9z'20Z'vT 160891 89T'VEL'ET [eloL Z0-9002 THMD Yoy
LE8/ETTO0 0T8'98.'8 ¥62'050'T 9TG'98L'L ¢ dnoi9

92v6¥200°0 ¥91'926'T 258'89¢2 £1€'289'T Z dnoig

9/1€1220°0 L2EYSS LT 67£'98T°C 8/6'19€'ST T dnoi9 T0-9002 THMOD £
L¥67SST00 888'200'CT 782'€6G'T 909'7T+'0T ¥ dnoio

956972700 70996, £€G6'20€'C T.0'687'0S ¢ dnoi9

9€£6.5.0°0 60G‘0£5'8S 082'0£9'E 0£2'006'7S z dnoig

8778568000 9/0'816'9 809'06 69v'228'9 T dnoi9 GaAH-900Z THMD ‘Z6v
T0L29ST0°0 £8€'90T'2T 286'60T'C T01'966'6 ¥ dnoio

uonng z'2.$/(9)= (9)+(p)=

) (9) () () (€ @ (1)
abejusdiad $9SS07] 18N $3SS077 18N GTOZ 1deS 10 SV dnoio 1SNJ] paJanod ‘ON
$S07] awnay ainin4 $9SS077 18N ueo]
18N payoaloud |ea1101sIH

uonejnoje)d abejuadtad sso 18N

S1SNJ | PsJan0) Q¢S 104



69 J0 89 d5eq

£/92£00€°0 0T.L'€26'TET 172'186'TC 891'26'60C [eloL V-900Z TIHMD ‘625
168070000 LL1'STE ¥60'€TE £89'C [eloL 1S-700Z IMD 825
6E£66S0T0°0 £08°0£0'8 G6Y'v6E'T 2T£'929'9 [eloL 1-800Z THMD 125
8207£6£0°0 090°08€‘0E 925'0£6'T GES'6YY'8T [eloL £0-2002 THMD ‘925
6927780800 16.'621'29 v¥2'209'S £65'228'95 Z dnaig

LTO0Y8T0°0 80€'60Z' VT €T6'T1G'T G6E'269'CT T dnoio 2-2002 THMD ‘62§
1928£€50°0 180722 TV 60S'7L0'E €11'67T'8E Z dnaig

€/8ST.T0°0 229'0SZ'€T 276'620'C 089'v22'TT T dnoio T0-2002 THMD "v2s
€6.7..20°0 600'827'T2 808°290'S T02'09€'9T g dnoi9

G9ETZY200 ¥0.'869'8T ¥60'822'T 0T9'0LY'LT  dnoio

€9T12STY0°0 18G5'790'CE G8Y'061'T 960'%7.5'0E ¢ dnoi9

862£920T°0 9/Z'8TT'€8 G8Y'EET'y T6E'786'8. Z dnoig

126288200 190'€92'22 06L'SYT'T T.2'6TT'TC T dnoi9 TIAH-200Z THMD ‘€25
626ELTE00 882'015'v°C 9£8'/8G'T 751'226'22 ¥ dnoio

LOLYLEYO0 0ST'€8L'€E 6.5'L¥0'E T/.'SEL'0E ¢ dnoi9

58888500 L96'GLY'SY £96'L18'Y 70085901 Z dnoig

282607100 170°€88'0T 9/0'92€'Z GE6°955'8 T dnoi9 LAH-200Z THMD ‘225
¥29T.LT0°0 €ST'T89'ET £95'989'T 065'766'TT ¢ dnoig

¥8£5G200°0 ¥9£'€€8'S 122' TS LET'T62'S Z dnaig

G//ST6E0°0 £0T'6£2'0S 029'S0S'T £8Y'€£.'8T T dnoio GAH-200Z THMD ‘125
65SG865T0°0 089'v¥E'ZT GE8'86E'T G78'SY6'6 ¢ dnoi9

GSYSEETO0 /88'CTE'0T 0£6'289 1S6'729'6 Z dnaig

2£2€9280°0 ¥T8'TT8'€9 2£6'209'E 788'802'09 T dnoi9 ¥ AH-200Z THMD ‘025
106992700 G/9'056'CE YIE'8LE'Y 19£'2.5'82 ¥ dnouo

189€02£0°0 0v0'0vL've 896'T18'T 2.0'826'22 ¢ dnoi9

198€6210°0 689'766'6 820'220'T 199'796'8 Z dnoig

80¥59500°0 G62'99E'Y 1€8'L€ Y9v'82E'y T dnoi9 €AH-200Z THMD ‘6TG
LSEY0020°0 80v'8.Y'ST 1€1'200'T 9/2'9.¥'VT Z dnoig

629008700 ¥52'220'2E G0Z'6£0'C 870‘€£0'SE T dnoi9 TAH-200Z THMD ‘816
12£29950°0 G6G'9ZL'EY G/G'062'S 6T0'9SH'8E [eloL 6-2002 THMD ‘LTS
08899%2T°0 186'€.2'96 866'€9G'ET £86'60.'28 [eloL 8-/00Z THMD ‘9TG
9T¥6.990°0 /86'085'TS T.L'STL'L 972'598'Y [eloL /-100Z THMD ‘GTG
16/8£20T°0 628'290'6. 9/2'€Y6'6 £09'727'69 [eloL 9-/00Z THMD Rk
96.08580°0 G9T'%92'99 8r1'00v'L LT0'v98'85 [eloL G-/00Z THMD ‘€16
uonng z'2.$/(9)= (9)+(p)=

) (9) () () (€ @ (1)
abejusdiad $9SS07] 18N $3SS077 18N GTOZ 1deS 10 SV dnoio 1SNJ] paJanod ‘ON
$S07] awnay ainin4 $9SS077 18N ueo]
18N payoaloud |ea1101sIH

uonejnoje)d abejuadtad sso 18N

S1SNJ | PsJan0) Q¢S 104



69 J0 69 98ed

"]asuno WoJj paAIadal s1sniL aleALid Jo sa|1) elep aouewiopad [9A8]-UBO| WOoA) pue Wod*uojjswAug Buiiodaiioissaundby/:sdny

:9JISQaM mc_toqmw_ J101S8AU] Isni] areiodio) INANY 9} wol} e GT0¢ ‘_mcEwaww JO Sse ejep douewJoylad |9A9]-Ueo] -

'GT0Z Jaquisrdas sem pouiad Buniodai 1sa1e] 8yl ‘'STOZ ‘ST 41900100
U0 Palind20 JUBWIINAS 8y} Jo} [encidde [eury sy eyl USAID "GTOZ Jaquialdas JO pus ayl JO Se a|ge|IeAR BIep [9A3]-UeO| Sasn SISAfeue ayl -

:S324N0S pue sal0N

9Yy99Z.T°0 £50'8£€'€ET £9/'816°CT 062'678'0¢T [eloL 9-/002 T3HMD ‘0€S
uonng z'2.$/(9)= (9)+(p)=
) (9) () () (€ @ (1)
abejusdiad $9SS07] 18N $3SS077 18N GTOZ 1deS 10 SV dnoio 1SNJ] paJanod ‘ON
$S07] awnay ainin4 $9SS077 18N ueo]
18N payoaloud |ea1101sIH
S1SnJ] pPa1sn0) 0ggG 104

uonejnoje)d abejuadtad sso 18N



